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• Ï➲✔✮✳✏✌✏✳✲✡✱✳✲✡✱✎✙✣✥✄✍✬✞✳✲✡✂✌☎✎→★✩✳✞✣✿✖☎✁☎✄✍✌☎✎✞✌✏✝✜✌✏✳✲✡✱➱➑✎✙✣✥✤✗✎✞✡✠➒✼✝✠✣❍✤✗✎✙✟☞✔✮✄✍★✩✖☎✘✍✎✙✟✷✖❁Ô✞✝✩✃ ✝✠✟☛✡☞✳✞✁✚➒✧✑✫✣✥✄ ✘ ✝✠✁☎✝✞➒✚✹✚✖✗★✩✄✍✎✙✁✗✎☎➒❀❮✎✙✟☛★✩✝✠✘ ✳✗➒✏❀❮★✩➱✫✄ ✁✲✔✮✳✗➒☎Õ✱✄ ✁☎➣✍★✩✄ ✖✗✡❁✝✸✘➘✖✗✡✕✔☛✎❃✆✞✳✗❐
• Ï✸✳➊✛✓✳✞✁✲✆✹✣✠✁☎✄ ✳➁✛✢✎✙✤✼✝❃✡✸✤✧✝✠✘ ✳✴✎✙✤✧✳✞✄✍✳✸✶✗✁✗✎✙✁✗★✩✝✠✄ ✟✮✳✗❐
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✑✓✡✕✔☛✎✥✌✏✄✍✡✮✡☞✝✠✟☞✔☛✎✞➋✠➌✙✳✶✤☎✟✮✳✞✤ ✴✷✝➘✖✏✣✴✎✿✔✮✯❃★✩✁☎✄✍★✠✎✜➓✲✖☎✝➘✝✠✣✥✤☎✟✮✝✠✬✲✎✿✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✓✬✞✝✩✁☎✯✩✔✮✄✍★✩✳✲✡✢✝✱✔✮✝✠✳✞✟✮✄✍✎✿✌✏✝✒✟✮✝❃✌✏✝❃✡✁☎✝✠✖☎✟☛✎✙✄✍✡✒✄ ✁✲✔✮✝✠✬✞✟☛✎✞✌✏✳✲✡✠➒✺✆✷✄✍✡✮✎✙✁✗✌✏✳➇✳➏✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳❂✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✩✳❮✌✏✝→★✩✳✞✁✞✔✮✟✮✳✞✘➐✎✞✌✷✳✞✟✮✝❃✡✒✌✏✝→✎✙✘ ✔☛✎➇✤✼✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✤✗✎✙✟☛✎✜✡☞✝✠✟✮✆✞✳✞✣✥✝❃★✠✎✙✁☎✄✍✡✕✣✥✳✲✡✓✔✮✄ ✤✧✳✴✝✠✘ ✳✙Ñ ✎✞★✩✄ ✳✞✁✗✎✙✌✏✳✗➒✷✳✞✖➊✣✥✾✏✌✏✖☎✘ ✳✴✌✏✝☎✄ ✖☎✁✲✔☛✎✥✟✮✳✞✻✧✾✙✔✮✄✍★✠✎☎❐Ð✂✝❃✡✕✔☛✎➊✎✙✻✧✳✞✟☛✌☎✎✙✬✞✝✠✣➇➒✼✎✴✔✮✝✠✳✞✟✮✄✍✎→✌✏✝✜✟✮✝❃✌✏✝❃✡✱✁☎✝✠✖☎✟☛✎✙✄✍✡✱✯✜✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎➁✁☎✳➇✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳➊✌✏✝✜✖☎✣◗★✩✳✞✁✏Ñ✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✪✝➁✖☎✣❧✳✞✻✗✡☞✝✠✟✮✆✽✎✞✌✏✳✞✟✶✌✏✝➁✝❃✡✕✔☛✎✞✌✏✳✲✡✪✁✗➌✙✳❮✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✠❐❂✰✱✝✠✆✷✄✍✌✏✳➏➍✞✡✶★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✞✡✪✎✙✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞✌☎✎✞✡✠➒➜✝❃✡✕✔✮✝❃✡★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝❃✡✫✤✧✳✲✡✮✡☞✖☎✝✠✣ ✤✼✳✙✔✮✝✠✁✗★✩✄✍✎✙✘✧✤✗✎✙✟☛✎✶✟✮✝❃✡☞✳✞✘ ✆✞✝✠✟✓✖☎✣✴✎✿✝✠✁✏✳✞✟✮✣✥✝➘✆✽✎✙✟✮✄ ✝❃✌☎✎✞✌✏✝➘✌✏✝➘✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✠➒✲✄ ✁✗★✩✘ ✖✗✡☞✄ ✆✙✝➘✤☎✟✮✳✙Ñ✻☎✘ ✝✠✣✴✎✞✡✸✁☎✳✲✡❁➓✲✖✗✎✙✄✍✡✸✳✲✡✸✣✥✯✩✔✮✳✏✌✏✳✲✡❁★✩✳✞✁✲✆✞✝✠✁✗★✩✄ ✳✞✁✗✎✙✄✍✡✢✁✗➌✙✳✴✡✮➌✙✳✥✎✙✤☎✘ ✄✍★✠❒ ✆✞✝✠✄✍✡✠❐
✯➘✡➘✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡❁✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✱✡✮➌✙✳➁✣✥✯✩✔✮✳✏✌✏✳✲✡➘✌✏✝✿✻☎✖✗✡✮★✠✎➁✄ ✁✗✡☞✤☎✄ ✟☛✎✞✌✏✳✲✡✂✁☎✳→✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✴✝✠✆✞✳✞✘ ✖✏✔✮✄ ✆✞✳➁✁✗✎✽✔✮✖☎✟☛✎✙✘➓✲✖☎✝✿✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✙✣✜Ñ ✡☞✝✪★✩✳✞✣✥✳➁✖☎✣✴✎➁✎✙✘ ✔✮✝✠✟✮✁✗✎✽✔✮✄ ✆✙✎✜✝✫✶✧★✩✄ ✝✠✁✲✔✮✝✿✤✗✎✙✟☛✎✥✳→✎✆✄ ✖✗✡✕✔✮✝✜✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✩✳➁✌✏✝✜★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝❃✡✸✁✗➌✙✳✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✠❐ ✯❬✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳➊✬✞✝✠✁☎✯✩✔✮✄✍★✩✳➇✤☎✟✮✳✞✤✧✳✲✡✕✔✮✳➊✁☎✝❃✡✕✔✮✝✥✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳➊✯✴✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌✏✳➇✤✗✎✙✟☛✎➊✳❂✎✝✄ ✖✗✡✕✔✮✝✥✤✗✎✙✟☛✎✙✣✥✯✩✔✮✟✮✄✍★✩✳➇✌✏✝★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝❃✡✓✁☎✝✠✖☎✟☛✎✙✄✍✡✠❐
✯➘✡✢✟✮✝❃✡☞✖☎✘ ✔☛✎✞✌✏✳✲✡✢✝✩➔✏✤✧✝✠✟✮✄ ✣✥✝✠✁✲✔☛✎✙✄✍✡✢✣✥✳✲✡✕✔✮✟☛✎✙✟☛✎✽✣ ➓✲✖☎✝➘✔☛✎✙✘✧✔✮✯❃★✩✁☎✄✍★✠✎✜✯✒✣✿✖☎✄ ✔✮✳✥✝✫✶✧★✩✄ ✝✠✁✞✔✮✝✪✤✗✎✙✟☛✎✶✳✴★✩✳✞✁✞✔✮✟✮✳✞✘ ✝✌✏✝✞✄ ✖☎✁✲✔☛✎✞✡✓✟✮✳✞✻✼✾✙✔✮✄✍★✠✎✞✡❡✝✱✤✗✎✙✟☛✎✪✖☎✣✴✎✶✻✧✳✲✎✶✤✗✎✙✟☞✔✮✝➘✌✷✝➘✳✞✖✏✔✮✟✮✳✲✡✓✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✓✌✏✝➘✝✩✁☎✬✞✝✠✁☎✭✗✎✙✟✮✄✍✎✶➓✲✖☎✝✱✤✧✳✲✡✮✡☞✖✗✎✙✣❬✌✏✄ ✁✠✟✙✣✥✄✍★✠✎✡☞✝✠✣✥✝✠✘ ✭✗✎✙✁✞✔✮✝✞➒✓✤✧✳☎✌✏✝✠✁✗✌✏✳✙Ñ ✡☞✝→✟✮✝❃✎✙✘ ✄ ❰❃✎✙✟✥✡☞✖✗✎❽✎✙✤☎✘ ✄✍★✠✎✞➋✠➌✙✳➏✤☎✟☛❒✽✔✮✄✍★✠✎❽★✩✳✞✣ ✣✩➔✏✄ ✔✮✳✗➒✢★ ✳✞✁✗✡☞✝✠✬✞✖☎✄ ✁✗✌✏✳✙Ñ ✡☞✝→✖☎✣✴✎❽✝✩➔☎★✩✝✠✘ ✝✠✁✞✔✮✝✟✮✝✠✘✍✎✞➋✠➌✙✳✜✌✏✝✶★✩✖✗✡✕✔✮✳✏Ò ✻✧✝✠✁☎✝✩✃ ➣✍★✩✄ ✳✗❐
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Ø✸✭☎✄✍✡✓✔✮✭☎✝❃✡☞✄✍✡✢✤☎✟✮✳✞✤✧✳✲✡☞✝❃✡✓✎✶✔✮✝❃★✮✭☎✁☎✄✍➓✲✖☎✝➘✔✮✭✗✎✽✔✸✄ ✁✲✔✮✝✠✬✞✟☛✎✽✔✮✝❃✌✴✬✞✝✠✁☎✝✩✔✮✄✍★✱✎✙✘ ✬✞✳✞✟✮✄ ✔✮✭☎✣✴✡✓✎✙✁✗✌➁✁☎✝✠✖☎✟☛✎✙✘✧✁☎✝✩✔✂✁✓✳✞✟☎✄✏✡✔✮✭☎✝✠✳✞✟☎✆✞➒✲✡☞✝✠✝✝✄✷✄ ✁☎✬✒✃ ✳✞✟✫✔✮✭☎✝➘✎✙✖✏✔✮✳✞✣✴✎✽✔✮✄✍★❁✌✏✝✠✆✞✝✠✘ ✳✞✤☎✣✥✝✠✁✞✔✢✳✙✃➧✭☎✄ ✬✞✭✴✤✧✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✂★✩✳✞✁✲✔✮✟✮✳✞✘ ✘ ✝✠✟➑✃ ✳✞✟✢✡☞✝✠✟✮✆✞✳✞✣✥✝✠★☛✭✗✎✙✁☎✄✍✡☞✣✴✡✘ ✄ ✄✞✝✪✌✏✟✮✄ ✆✞✝✠✁✏Ñ ✘ ✄ ✁✞✄✏✡✠➒✷✳✞✟❁✟✮✳✞✻✧✳✙✔✮✄✍★ ✄ ✳✞✄ ✁✞✔☛✡❁✣✥✳☎✌✏✖✏✘✍✝✠✡✠❐Ø✸✭☎✝✱✁☎✝✠✖☎✟☛✎✙✘✧✁☎✝✩✔✂✁✓✳✞✟☎✄✏✡✫✔✮✭☎✝✠✳✞✟☎✆✜✄✍✡✓✖✗✡☞✝❃✌✴✔✮✳✜✌✏✝✠✆✙✝✠✘ ✳✞✤➁✁☎✳✞✁☎✘ ✄ ✁☎✝❃✎✙✟✸★✩✳✞✁✞✔✮✟✮✳✞✘ ✘ ✝✠✟☛✡✠❐➜✰✱✖☎✝✱✔✮✳✶✔☛✭✏✝➘✤☎✟✮✝❃✡☞✝✠✁✲✔☞Ñ✝❃✌➎★✮✭✗✎✙✟☛✎✞★ ✔✮✝✠✟✮✄✍✡✕✔✮✄✍★✠✡✠➒➜✔✮✭☎✝❃✡☞✝➇★✩✳✞✁✞✔✮✟✮✳✞✘ ✘ ✝✠✟☛✡✶✤✧✳✲✡✮✡☞✝❃✡✮✡✿✤✧✳✙✔✮✝✠✁✞✔✮✄➐✎✙✘✓✔✮✳❻✡☞✳✞✘ ✆✙✝➊✎✙✁➃✝✠✁☎✳✞✟✮✣✥✳✞✖✗✡✿✆✽✎✙✟✮✄ ✝✩✔✂✆❽✳✙✃✱✤☎✟✮✳✞✻☎✘ ✝✠✣✴✡✠➒✄ ✁✗★✩✘ ✖✗✌✏✄ ✁☎✬✜✔✮✭☎✳✲✡☞✝✟✁❁✭☎✄✍★✮✭➊✔✮✭☎✝✶★✩✳✞✁✷✆✙✝✠✁✲✔✮✄ ✳✞✁✗✎✙✘➧✣✥✝✩✔✮✭☎✳✏✌☎✡❁✎✙✟✮✝✒✁☎✳✙✔✂✡☞✖☎✄ ✔ ✎✙✻✏✘✍✝✙❐
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✢☎❐ Û ❄❁✝❃✌✏✝✶Ð✂✝✠✖☎✟☛✎✙✘✚✦➑✹✺Ð✱Ð✄✂ ★✣★✌✡✯✺✩✛✜✟✷✕☎✡✯✁✩✪✯✰ ✟☛✡ ✫✆☎❃✎✩★✌✄✆✁✩✪✝☎❃✎✩✛✟✞✾✕☎✄✿✫✠✂ ❐◗❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✳✢✑✢
✢☎❐ Ù❪✰✱✄✍✎✙✬✞✟☛✎✙✣✴✎✜✌✏✝✳✱✢✘ ✳✏★✩✳✲✡✸✌✏✳→✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✸Ð✂✝✠✖☎✟☛✎✙✘ ●✂✔✮✄ ✣✥✳✗❐✒❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✳✢✁�
✢☎❐ ✢✉❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✶✌✏✳✿✵✷✄✍✡✕✔✮✝✠✣✴✎✜✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳➘Ñ❡✵✷✄ ✣✿✖☎✘✍✎✞➋✠➌✙✳✜✛✢✎✞✡☞✳✴Û❁Ñ ✤➡✎ ✭ ✤ − ✭✕Ø✺✟☛✎✝✄ ✝✩✔✮✾✞✟✮✄✍✎✪✌✏✝✱❄❁✝✩✃ ✝✠✟✢✣✠✁✏Ñ★✩✄✍✎☎➒ ✤ − ✭✕Ø✺✟☛✎✝✄ ✝✩✔✮✾✞✟✮✄✍✎✜✌✏✳➁✵✷✄✍✡✕✔✮✝✠✣✴✎☎❐ ✤ ✻ ✭✢✑✫✟✮✟✮✳✴✌✏✝✒➱➑✳✲✡☞✄✍➋✠➌✙✳✗❐✢❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐ ✣✷Ù
✢☎❐ ✣ ❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎❻✌✏✳➃✵✷✄✍✡✕✔✮✝✠✣✴✎➃✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳❮Ñ✶Ó ✣✥✤☎✘ ✝✠✣✥✝✠✁✲✔☛✎✞➋✠➌✙✳➃✛✢✎✞✡☞✳②Û→Ñ ✤➡✎ ✭ ✤ − ✭✕Ø✺✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎❽✌✏✝❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎➒ ✤ − ✭✕Ø✺✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎✥✌✏✳➁✵✷✄✍✡✕✔✮✝✠✣✴✎☎❐ ✤ ✻ ✭✢✑✫✟✮✟✮✳✴✌✏✝✒➱➑✳✲✡☞✄✍➋✠➌✙✳✗❐⑧❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐ ✣✷Ù
✢☎❐ ✤❪❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✶✌✏✳✿✵✷✄✍✡✕✔✮✝✠✣✴✎✜✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳➘Ñ❡✵✷✄ ✣✿✖☎✘✍✎✞➋✠➌✙✳✜✛✢✎✞✡☞✳✿Ù➘Ñ ✤➡✎ ✭ ✤ − ✭✕Ø✺✟☛✎✝✄ ✝✩✔✮✾✞✟✮✄✍✎✪✌✏✝✱❄❁✝✩✃ ✝✠✟✢✣✠✁✏Ñ★✩✄✍✎☎➒ ✤ − ✭✕Ø✺✟☛✎✝✄ ✝✩✔✮✾✞✟✮✄✍✎✜✌✏✳➁✵✷✄✍✡✕✔✮✝✠✣✴✎☎❐ ✤ ✻ ✭✢✑✫✟✮✟✮✳✴✌✏✝✒➱➑✳✲✡☞✄✍➋✠➌✙✳✗❐✢❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐ ✣✲✢
✢☎❐ ✮✉❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎❻✌✏✳➃✵✷✄✍✡✕✔✮✝✠✣✴✎➃✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳❮Ñ✶Ó ✣✥✤☎✘ ✝✠✣✥✝✠✁✲✔☛✎✞➋✠➌✙✳➃✛✢✎✞✡☞✳➃Ù❂Ñ ✤➡✎ ✭ ✤ − ✭✕Ø✺✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎❽✌✏✝❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎➒ ✤ − ✭✕Ø✺✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎✥✌✏✳➁✵✷✄✍✡✕✔✮✝✠✣✴✎☎❐ ✤ ✻ ✭✢✑✫✟✮✟✮✳✴✌✏✝✒➱➑✳✲✡☞✄✍➋✠➌✙✳✗❐⑧❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐ ✣✲✢
✢☎❐ ✩ ✑✫✆✞✳✞✘ ✖✗➋✠➌✙✳➁✌☎✎➁❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✴✌✏✳→Ð✂✝✠✖☎✟✮✳✏★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✙✌✏✳✞✟✷✖ ✤ − ✭ 1a.

✬✞✝✠✟☛✎✞➋✠➌✙✳✗➒ ✤ − ✭ 5a.
✬✞✝✠✟☛✎✞➋✠➌✙✳☎➒ ✤ − ✭

20a.
✬✞✝✠✟☛✎✞➋✠➌✽✳✜✝ ✤ − ✭ 50a.

✬✞✝✠✟☛✎✞➋✠➌✙✳✗❐❧❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐ ✣✶✤
✢☎❐ ✪✉❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✥✌✏✳✴❀❂✝✠✘ ✭☎✳✞✟✂Ð✂✝✠✖☎✟✮✳✏★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✙✟ ✯✱✻✏✔✮✄➐✌✷✳✴✁☎✳✥➱✫✟✮✳✏★✩✝❃✡✮✡☞✳✥✌✏✝✪✑✫✆✞✳✞✘ ✖✗➋✠➌✙✳✗❐➃❐✒❐✪❐✒❐✪❐✒❐ ✣✲✮
✢☎❐ �❪✑✫✆✞✳✞✘ ✖✗➋✠➌✙✳✿✌✏✳☛✡ ✛✜✡✯✎✒✑❅✑ ✖ ✤ − ✭ ★ ✟☛✛✜✡✯✎✒✑❅✑➘✌✏✳✜❀❂✝✠✘ ✭☎✳✞✟✓Ó ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✗➒ ✤ − ✭ ★ ✟☛✛✜✡✯✎✒✑❅✑➘❀❂✯❃✌✏✄ ✳✜✌☎✎✶➱➜✳✞✤☎✖✏Ñ✘✍✎✞➋✠➌✙✳✗❐◗❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✣✲✮
✢☎❐ Û❃Ú❨Õ✫✎✙✟✮✄✍✎✞➋✠➌✙✳✥✌✏✳✲✡✸➱➜✝❃✡☞✳✲✡❁✌☎✎✴❄❁✝❃✌✏✝✪✌✏✳➁❀❂✝✠✘ ✭☎✳✞✟✱✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✓Ñ ✪✥Ð✂✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✠❐➲❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✣ ✩
✢☎❐ Û✞Û➃✵✷✖☎✤✧✝✠✟☞✃ ➣✍★✩✄ ✝❃✡✂✌✏✝✜✛✓✳✞✁✞✔✮✟✮✳✞✘ ✝✪✌✏✳✴❀❂✝✠✘ ✭☎✳✞✟➘✛✓✳✞✁✞✔✮✟✮✳✞✘➐✎✞✌✷✳✞✟✷✖ ✤➡✎ ✭

0s
➒ ✤ ✻ ✭

10s
➒ ✤➡★✷✭

15s
➒ ✤➡✌✗✭

20s
❐ ❐ ✣✲✪

✢☎❐ Û Ù❨❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎✥Ð✱➌✙✳→✛✓✳✞✁✲✔✮➣ ✁✲✖✗✎✌☞ ✤ − ✭✕❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎➒ ✤ − ✭✕❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✴✌✏✳➁✵✷✝✠✟✮✆✙✳✞✣✥✝❃★✠✎✙✁☎✄✍✡☞✣✥✳✗❐➲❐✒❐✪❐✒❐ ✣✂�
✢☎❐ Û✰✢②❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎✥Ð✱➌✙✳✴✹✚✄ ✁☎✝❃✎✙✟✍☞ ✤ − ✭✕❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎➒ ✤ − ✭✕❄❁✝❃✡☞✤✧✳✲✡✕✔☛✎✴✌✷✳→✵✷✝✠✟✮✆✙✳✞✣✥✝❃★✠✎✙✁☎✄✍✡☞✣✥✳✗❐✂❐✪❐✪❐✒❐✪❐✒❐ ✤✙Ú
✣✗❐ Û ✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✸Ð✂✝✠✖☎✟☛✎✙✘ ●✂✔✮✄ ✣✥✳✥✣✴✎✙✄✍✡ ✯✱✻✗✡☞✝✠✟✮✆✙✎✞✌✏✳✙✟❁✌✏✝✒✑✓✡✕✔☛✎✞✌✏✳✲✡✈❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✤✲✩
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✣✗❐ Ù ➱➑✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✒✌✏✳➊✛✓✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✸✤☎✎✙✟☛✎✥❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎✥✌✏✝✲✱✸✎✙✄ ➔☎✎✜Õ❡✝✠✘ ✳✏★✩✄✍✌☎✎✞✌✏✝✞❐●❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✤ �
✣✗❐ ✢❪➱➑✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✒✌✏✳➊✛✓✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✸✤☎✎✙✟☛✎✥❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎✥✌✏✝✪Ï✂✘ ✔☛✎✥Õ❡✝✠✘ ✳☎★✩✄✍✌☎✎✞✌✏✝✙❐❂❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✤ �
✣✗❐ ✣✉➱➑✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✓✌✏✳✰✯✱✻✗✡☞✝✠✟✮✆✙✎✞✌✏✳✙✟✚✤✗✎✙✟☛✎❁❄❁✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎✂✌✏✝ ✱✸✎✙✄ ➔☎✎❁Õ❡✝✠✘ ✳✏★✩✄✍✌☎✎✞✌✏✝✞❐ ✤➡✎ ✭ ✤ − ✭ Õ❡✝✠✘ ✳☎★✩✄✍✌☎✎✞✌✏✝✑✓✡✕✔✮✄ ✣✴✎✞✌☎✎ ✤ − ✭ Õ❡✝✠✘ ✳☎★✩✄✍✌☎✎✞✌✏✝✪❄❁✝❃✎✙✘✟☞ ✤ ✻ ✭✲✤ − ✭ ✑✫✟✮✟✮✳✴✌✏✝✪✑✓✡✕✔✮✄ ✣✴✎✞➋✠➌✙✳✴✌✏✝✪Õ❡✝✠✘ ✳✏★✩✄✍✌☎✎✞✌✏✝ x̃2(t)

❐✪❐✒❐ ✤ �
✣✗❐ ✤ ✛✓✳✞✣✥✤✗✎✙✟☛✎✞➋✠➌✙✳✿✑✫✁✲✔✮✟✮✝✿✎✜➱➑✝✠✟☞✃ ✳✞✟✮✣✴✎✙✁✗★✩✝✪✌✏✳✲✡✱✛✓✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝✠✡✸Ð✂✝✠✖☎✟☛✎✙✄✍✡✠➒ ✤ − ✭✮✛✓✳✞✣❍❀❂✝✠✌✏✄✍➋✠➌✙✳➁✌☎✎Õ❡✝✠✘ ✳☎★✩✄✍✌☎✎✞✌✏✝✞➒ ✤ − ✭✮✛✓✳✞✣ ✑✓✡✕✔✮✄ ✣✴✎✽✔✮✄ ✆✽✎✴✌☎✎✜Õ❡✝✠✘ ✳☎★✩✄✍✌☎✎✞✌✏✝✙❐❥❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✳✮✞Ú
Ï✶❐ Û❑✰✱✄✍✎✙✬✞✟☛✎✙✣✴✎✜✌✏✳➁✵✷✄✍✡✕✔✮✝✠✣✴✎✥✑❡➔✏✤✧✝✠✟✮✄ ✣✥✝✠✁✲✔☛✎✙✘ ❐▼❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✳✮✲✤Ï✶❐ Ù ✱✸✎✙✁✗★✠✎✞✌☎✎✿✑❡➔✏✤✼✝✠✟✮✄ ✣✥✝✠✁✞✔☛✎✙✘➑✛✓✳✞✣ ✎✥❀❂✳✞✁✲✔☛✎✙✬✞✝✠✣ ✌✏✳✥✑✫✘ ✳➁Ï✸★✩✄ ✳✞✁✗✎✞✌✏✳✗❐▼❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✳✮✑✮Ï✶❐ ✢❴✛✓✄ ✟☛★✩✖☎✄ ✔✮✳✴✌✏✝✪Ó ✁✞✔✮✝✠✟☞✃➡✎✞★✩✝❃✎✙✣✥✝✠✁✲✔✮✳✥✑✫✁✞✔✮✟☛✎✞✌☎✎✷Ò✙✵✏✎✙➣✍✌☎✎☎❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✩✽ÚÏ✶❐ ✣❖✰✱✄✍✎✙✬✞✟☛✎✙✣✴✎✜✌✏✝✳✱✢✘ ✳✏★✩✳✲✡✸✌✏✳→✛✓✄ ✟☛★✩✖☎✄ ✔✮✳→✛✓✳✞✁✲✔☛✎✞✌✏✳✞✟✁� �✄✂✆☎✞✝✠✟ ☎✪❐❑❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✩✷ÛÏ✶❐ ✤⑧✰✱✄✍✎✙✬✞✟☛✎✙✣✴✎✜✌✏✝✳✱✢✘ ✳✏★✩✳✲✡✸✌✏✳→✛✓✄ ✟☛★✩✖☎✄ ✔✮✳✴Ï✂✣✥✤☎✘ ✄ ✶✧★✠✎✞✌✏✳✞✟✂✌✏✝✪➱➑✳✙✔✢✣✠✁✗★✩✄✍✎☎❐✷❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✩✷ÛÏ✶❐ ✮❖✵✷✄ ✁✗✎✙✘✺✌✏✝✪Ø✺✝✠✁✗✡✮➌✙✳✴Ï✂✤☎✘ ✄✍★✠✎✞✌✏✳✴✎✙✳✴❀❂✳✙✔✮✳✞✟❃❐❑❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐✪❐✪❐✒❐✪❐✒❐✪❐✒❐ ✩✙Ù



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌ ✎

✏ ✒ ✏ ☛✒✑ ☎✔✓✖✕ ✒✘✗✚✙ �✜✛ ✞☞✏ ☛✒✑ ✒✕✔ ✞ ✙ ✂ ✁✕☎✄✎ ☛✣✢ ☎✔✓✖✕ ✒

✤✦✥✧✤ ★✪✩✬✫✮✭✰✯✲✱✴✳✴✵✷✶✦✯
Ï❬★ ✟✮✝❃✡✮★✩✝✠✁✲✔✮✝✜✖✏✔✮✄ ✘ ✄ ❰❃✎✞➋✠➌✙✳➇✌☎✎➇✎✙✖✏✔✮✳✞✣✴✎✞➋✠➌✙✳→✄ ✁✗✌✏✖✗✡✕✔✮✟✮✄✍✎✙✘➑✔✮✝✠✣◗✤☎✟✮✳✽✆✞✳✏★✠✎✞✌✏✳→✖☎✣◗✝✠✘ ✝✠✆✙✎✞✌✷✳➊✝✠✣✥✤☎✟✮✝✠✬✞✳➇✌✏✝✟✮✳✞✻ ✜✲✡✺✁✗✎✞✡✺✣✴✎✙✄➐✡➜✌✏✄ ✆✞✝✠✟☛✡✮✎✞✡➜❒✙✟✮✝❃✎✞✡✠❐✺Ô✞✖☎✁✞✔☛✎✙✣✥✝✠✁✲✔✮✝❁★✩✳✞✣▼✝❃✡✕✔☛✎➘✌✏✄ ✃ ✖✗✡✮➌✙✳✗➒✙★✩✟✮✝❃✡✮★✩✝✢✎✱✁☎✝❃★✩✝❃✡✮✡☞✄✍✌☎✎✞✌✏✝✸✌✏✝✸★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✙✟✺✝❃✡✕✔☛✎✞✡✣✴❒✞➓✲✖☎✄ ✁✗✎✞✡✒➓✲✖☎✝✞➒✺✎➊★✠✎✞✌☎✎➊✌✏✄✍✎☎➒✺✡✮➌✙✳→✣✴✎✙✄✍✡✒✝✩➔✏✄ ✬✞✄✍✌☎✎✞✡✱✁☎✳❂✡☞✝✠✖❽✎✙✣✿✻☎✄ ✝✠✁✲✔✮✝✴✌✏✝✜✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳✗❐✙✯➘✡➘✟✮✳✞✻ ✜✲✡✒✎✽✔✮✖✗✎✙✘ ✣✥✝✠✁✞✔✮✝✝✠✣❑✖✗✡☞✳➇✝❃✡✕✔☛➌✙✳➊✣✿✖☎✄ ✔✮✳❂✤☎✟✮✾ ➔✏✄ ✣✥✳✲✡✒✌✏✝✴✖☎✣❑✣✴✎✙✁☎✄ ✤☎✖☎✘✍✎✞✌✏✳✞✟❃➒✚➓✲✖☎✝➁★✩✳✞✁✗✡☞✄✍✡✕✔✮✝✴✌✏✝✴✖☎✣❑✻☎✟☛✎✞➋✩✳➊✣✥✝❃★ ✟✙✁☎✄✍★✩✳❂✎✞★✩✄ ✳✞✁✗✎✞✌✏✳✤✧✳✞✟✂✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✸✝✠✘ ✯✩✔✮✟✮✄✍★✩✳✲✡✠➒✷✭☎✄✍✌✏✟☛❒✙✖☎✘ ✄✍★✩✳✲✡✢✳✞✖➇✤☎✁☎✝✠✖☎✣✴❒✽✔✮✄✍★✩✳✲✡✠➒✏✤✧✳✏✌✏✝✠✁✗✌✏✳✥✤✼✳✲✡✮✡☞✖☎✄ ✟❁✎✽✔✮✯✶✡☞✝✩✄➐✡✸✬✞✟☛✎✙✖✗✡✸✌✏✝✒✘ ✄ ✻✼✝✠✟☛✌☎✎✞✌✏✝✞❐
✯ ★✩✳✞✁✞✔✮✟✮✳✞✘ ✝✸✌✏✝✸✖☎✣➲✣✴✎✙✁☎✄ ✤☎✖☎✘✍✎✞✌✏✳✞✟➑✤✧✳✏✌✏✝❁✡☞✝✠✟➜✃ ✝✠✄ ✔✮✳✪✌✏✝✢✃ ✳✞✟✮✣✴✎➘✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✠✎✱✳✞✖✿✤✼✳✞✟➑✖☎✣q★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✙✟✭✲✖☎✣✴✎✙✁☎✳✗❐✹✸✱✖✗✎✙✁✗✌✏✳➏✝❃✡✕✔✮✝➇★✩✳✞✁✲✔✮✟✮✳✞✘ ✝→✯→✃ ✝✠✄ ✔✮✳❻✌✏✝➊✃➐✳✞✟✮✣✴✎❽✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✠✎☎➒❡✖☎✣✴✎➏✬✲✎✙✣✴✎➏✌✏✝→✔✮✯❃★✩✁☎✄✍★✠✎✞✡✿✤✼✳✏✌✏✝✠✣ ✡☞✝✠✟✎✞✌✏✳✙✔☛✎✞✌☎✎✞✡✒✤✗✎✙✟☛✎➇✡☞✳✞✘ ✖✗➋✠➌✙✳❮✌✏✳❂✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎☎❐➇Ï✱✡✪✔✮✯❃★✩✁☎✄✍★✠✎✞✡✶★✩✳✞✁✷✆✙✝✠✁✗★✩✄ ✳✞✁✗✎✙✄✍✡✪✌✏✝→★✩✳✞✁✲✔✮✟✮✳✞✘ ✝ ✤

PD,PID
✭ ➒➑✝✠✣✿✻✧✳✞✟☛✎✻✗✎✞✡✕✔☛✎✙✁✞✔✮✝✂★✩✳✞✣✶✖☎✁✗✡❡✝✸✘✍✎✙✟✮✬✲✎✙✣✥✝✠✁✲✔✮✝✢✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✞✡➑✁✗✎➘✄ ✁✗✌✛✚✗✡✕✔✮✟✮✄✍✎☎➒✞✁✗➌✙✳✒✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✙✣●✖☎✣♦✌✏✝❃✡☞✝✠✣✥✤✼✝✠✁☎✭☎✳✪✡✮✎✽✔✮✄✍✡✕✃➡✎✽✔✮✾✞✟✮✄ ✳✃ ✟✮✝✠✁✞✔✮✝❮✎❥✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✴★✩✳✞✣✥✤☎✘ ✝✩➔✏✳✲✡✠➒✢✹✚✝✝✁❁✄✍✡✠➒✸Ï✱✻✼✌☎✎✙✘ ✘✍✎✙✭②✝❂✰➘✎ ✁✂✡☞✳✞✁ ✤✕Û✝�✁�✑✢ ✭ ❐✆✯➘✡✥✣✥✯✩✔✮✳✏✌✏✳✲✡✴★✩✳✞✁✷✆✞✝✠✁✗★✩✄ ✳✞✁✗✎✙✄✍✡✥✌✏✝★✩✳✞✁✞✔✮✟✮✳✞✘ ✝❁✌✷✝❁✣✴✎✙✁☎✄ ✤☎✖☎✘✍✎✞✌✏✳✞✟✮✝❃✡✠➒✽✻✗✎✞✡☞✝❃✎✞✌✏✳✲✡✺✝✠✣➲✝❃➓✲✖✗✎✞➋✫✴✏✝❃✡➜✌✏✄ ✁✠✟✙✣✥✄✍★✠✎✞✡❡✌✏✳✒✣✥✳✏✌✏✝✠✘ ✳✗➒✙✟✮✝❃➓✲✖☎✝✠✟✮✝✠✣➲★✠❒✙✘✍★✩✖☎✘ ✳✒✌✏✝✸✃ ✳✞✟☛➋✠✎✞✡✝➘✔✮✳✞✟☛➓✲✖☎✝✒✝✠✣ ✔✮✝✠✣✥✤✧✳✴✟✮✝❃✎✙✘ ❐➑➱➑✎✙✟☛✎✿✔☛✎✙✘ ➒✗✡✮➌✙✳✜✁☎✝❃★✩✝❃✡✮✡✮❒✙✟✮✄ ✳✲✡✓✣✥✳✏✌✏✝✠✘ ✳✲✡✸✤☎✟✮✝❃★✩✄✍✡☞✳✲✡✢✝✶✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✓✝✫✶✧★✩✄ ✝✠✁✲✔✮✝❃✡✠❐
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✑✓✡✕✔☛✎✴✎✙✻✧✳✞✟☛✌☎✎✙✬✞✝✠✣❬✆✞✝✠✣❊✡☞✝✠✁✗✌✏✳✥✣✿✖☎✄ ✔✮✳✴✝✠✣✥✤☎✟✮✝✠✬✲✎✞✌☎✎✿✝✠✣❍✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡❁➓✲✖☎✝✪✟✮✝❃✡☞✳✞✘ ✆✙✝✠✣ ✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✸★✩✳✞✣✳✶✖✗✡☞✳✜✌✏✝✂✔✮✯❃★✩✁☎✄✍★✠✎✞✡✢★✩✳✞✣✥✤☎✖✏✔☛✎✞★✩✄ ✳✞✁✗✎✙✄✍✡✫✌✏✝➘✄ ✁✞✔✮✝✠✘ ✄ ✬✹✣✠✁✗★✩✄✍✎✿✎✙✟☞✔✮✄ ✶✧★✩✄✍✎✙✘ ➒✷✌✏✝✠✆✷✄✍✌✏✳✿✎✙✳✿✻✧✳✞✣❬✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✜✌✏✳✿✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✌✏✝→✻☎✖✗✡✮★✠✎❮✎✞✡✮✡☞✳✏★✩✄✍✎✞✌✏✳❂✝➊✎✙✳❂✃➡✎✽✔✮✳➏✌✏✝→✆✷✄✍✎✙✻☎✄ ✘ ✄ ❰❃✎✙✟✜✎❮✎✙✤☎✘ ✄✍★✠✎✞➋✠➌✙✳❂✝✠✣⑧✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✶✟✮✝❃✎✙✄✍✡✠❐ ✯➘✡✿✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✪✬✞✝✠✁☎✯✩✔✮✄ Ñ★✩✳✲✡✠➒✼✎➁✘ ✾✞✬✞✄✍★✠✎✴✁☎✝✠✻☎✖☎✘ ✳✲✡✮✎✴✝✥✎✞✡✱✟✮✝✠✌✏✝❃✡✱✁☎✝✠✖☎✟☛✎✙✄✍✡✱✡✮➌✙✳→✝✩➔✏✝✠✣✥✤☎✘ ✳✲✡✱✌✏✝✥✎✙✻✧✳✞✟☛✌☎✎✙✬✞✝✠✁✗✡✂➓✲✖☎✝✞➒➧➓✲✖✗✎✙✁✗✌✏✳➊✎✙✤☎✘ ✄✍★✠✎✞✌☎✎✞✡✂★✩✳✞✣✔☛✎✙✄✍✡✶★✩✳✞✁☎✡☞✄➐✌✷✝✠✟☛✎✞➋✫✴✏✝✠✡✠➒✚✤✧✳✏✌✏✝✠✣ ✤✏✟✮✳☎✌✏✖☎❰✠✄ ✟✪✝✩➔☎★✩✝✠✘ ✝✠✁✞✔✮✝❃✡✪✟✮✝❃✡☞✖☎✘ ✔☛✎✞✌✏✳✲✡✠➒✚✤☎✟✮✄ ✁✗★✩✄ ✤✗✎✙✘ ✣✥✝✠✁✲✔✮✝✴✁☎✳❮✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳❂✌✏✝★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝❃✡✓✤✗✎✙✟☛✎✥✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✸✌✏✝✪✝✠✁☎✬✞✝✠✁☎✭✗✎✙✟✮✄✍✎☎➒☎✵✷✳✞✖☎❰❃✎✥✤ Ù✙Ú✞Ú✞Ú ✭ ➒✏Ø✸✭✗✎✙✤✗✎☎➒☎Ô✞✳✞✁☎✝❃✡✢✝✜Ö✧✭✷✖ ✤ Ù✙Ú✞Ú✞Ú ✭ ❐
✑✓✡✕✔☛✎✿✔✮✝❃✡☞✝➘✤☎✟✮✳✞✤ ✴✷✝✱✖☎✣✴✎✿✔✮✯❃★✩✁☎✄✍★✠✎✜➓✲✖☎✝✒✄ ✁✲✔✮✝✠✬✞✟☛✎✿✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✓✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✓✝➘✔✮✝✠✳✞✟✮✄✍✎✿✌✏✝✒✟✮✝❃✌✏✝❃✡✢✁☎✝✠✖☎✟☛✎✙✄✍✡✠➒✆✷✄✍✡✮✎✙✁✗✌✏✳➘✳✪✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳✒✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✩✳✒✌✏✝✂★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✮✝❃✡➜✌✏✝❁✎✙✘ ✔✮✳✪✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✒✤✗✎✙✟☛✎➘✡☞✝✠✟✮✆✞✳✞✣✥✝❃★✠✎✙✁☎✄✍✡☞✣✥✳✞✡✔✮✄ ✤✧✳❽✝✠✘ ✳✙Ñ ✎✞★✩✄ ✳✞✁✗✎✞✌✏✳☎➒❡✳✞✖➎✣✥✾✏✌✏✖☎✘ ✳❽✌✏✝ ✄ ✖☎✁✞✔☛✎❽✟✮✳✞✻✧✾✙✔✮✄✍★✠✎☎❐❥Ð✂✝❃✡✕✔☛✎❽✎✙✻✧✳✞✟☛✌☎✎✙✬✞✝✠✣➇➒❡✎❮✔✮✝✠✳✞✟✮✄✍✎➏✌✏✝➊✟✮✝❃✌✏✝❃✡✿✁☎✝✠✖☎✟☛✎✙✄✍✡✿✯✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✂✁☎✳✒✌✷✝❃✡☞✝✠✁✷✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✞✔☛✳✱✌✏✝✸★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✚✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝✠✡✠❐✺✰✱✝✠✆✷✄✍✌✏✳➘➍✞✡➜★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✞✡✚✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞✌☎✎✞✡✠➒✝❃✡✕✔✮✝❃✡✫★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡➑✤✧✳✲✡✮✡☞✖☎✝✠✣q✤✼✳✙✔✮✝✠✁✗★✩✄✍✎✙✘☎✤✗✎✙✟☛✎✒✟✮✝❃✡☞✳✞✘ ✆✙✝✠✟❡✖☎✣✴✎✪✝✠✁☎✳✞✟✮✣✥✝❁✆✽✎✙✟✮✄ ✝❃✌☎✎✞✌✏✝❁✌✏✝✂✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✠➒✞✄ ✁✗★✩✘ ✖✗✡☞✄ ✆✙✝✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡❁✤✗✎✙✟☛✎✥✳✲✡✱➓✲✖✗✎✙✄✍✡✂✳✲✡✂✣✥✯✩✔✮✳✏✌✏✳✲✡✱★✩✳✞✁✷✆✙✝✠✁✗★✩✄ ✳✞✁✗✎✙✄✍✡❁✁✗➌✙✳→✡✮➌✙✳✴✝✫✶✧★✩✄ ✝✠✁✲✔✮✝❃✡✱✳✞✖❮✎✙✤☎✘ ✄✍★✠❒❃✆✞✝✠✄✍✡✠❐ ✯➲✤☎✟✮✝❃➋✩✳✴✤✗✎✙✬✞✳✤✧✳✞✟✱✔☛✎✙✘➑✤✼✳✙✔✮✝✠✁✗★✩✄✍✎✙✘➜✝❃✡✕✔☛❒→✁✗✎→★✩✳✞✣✥✤☎✘ ✝✩➔✏✄✍✌☎✎✞✌✏✝✿✝✠✁✷✆✞✳✞✘ ✆✷✄✍✌☎✎➁✁☎✳➇✎✆✄ ✖✗✡✕✔✮✝✥✌✏✳✲✡➘✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✂✌✏✝❃✡✕✔✮✝❃✡✒★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✠➒✵✷✳✞✖☎❰❃✎✥✤ Ù✙Ú✞Ú✞Ú ✭ ➒✏❀❮★ ✛✓✖☎✘ ✘✍✎✙✬✞✭✚➒✧✛✓✭☎✳✞✄➧✝✳✱✢✘ ✖✙✵ ✤✕Û✝�✁�✱✣ ✭ ❐
Õ➘❒✙✟✮✄ ✳✲✡✱✳✞✖✏✔✮✟✮✳✲✡✱✔✮✄ ✤✧✳✲✡✪✌✷✝✴★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✱✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝✠✡➘★✩✳✞✁☎✭☎✝❃★✩✄✍✌✏✳✲✡➘✝✥★✩✳✞✣◗★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✞✡✱✡☞✄ ✣✜Ñ✄ ✘✍✎✙✟✮✝❃✡✴✤✧✳☎✌✏✝✠✟✮✄✍✎✙✣❴✡☞✝✠✟➁✖✏✔✮✄ ✘ ✄✍❰✠✎✞✌✏✳✲✡➁✁☎✝❃✡✕✔✮✝❮✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳✗❐✐✑✫✁✲✔✮✟✮✝✩✔☛✎✙✁✲✔✮✳✗➒❁✳✲✡→★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✥✁☎✝✠✖☎✟☛✎✙✄✍✡➁✤✧✳✲✡✮✡☞✖☎✝✠✣❴✳✎✽✔✮✟☛✎✽✔✮✄ ✆✞✳➁✳✞✖➏✆✽✎✙✁✲✔☛✎✙✬✞✝✠✣ ✌✏✝✜✤✧✳✏✌✏✝✠✟✮✝✠✣ ✝✠✁☎✬✞✘ ✳✞✻✗✎✙✟✱✝✠✣◗✡☞✖✗✎✞✡✱✝❃✡✕✔✮✟✮✖✏✔✮✖☎✟☛✎✞✡✱✳➇★✩✳✞✁☎✭☎✝❃★✩✄ ✣✥✝✠✁✞✔✮✳➊✝✩➔✷✔✮✟☛✎✙➣✍✌✏✳→✤✧✝✠✘✍✎→✝✩➔✷Ñ✤✧✝✠✟✮✄ ✣✥✝✠✁✲✔☛✎✞➋✠➌✙✳❥✌✏✳➎✡☞✄✍✡✕✔✮✝✠✣✴✎ ✤ ✤☎✟✮✳✏★✩✝❃✡✮✡☞✳❥✌✏✝➏✎✙✤☎✟✮✝✠✁✗✌✏✄ ❰❃✎✙✬✞✝✠✣ ✭ ➒✂✛✢✎✙✻☎✟✮✝✠✟☛✎❽✝➏Ð✱✎✙✟✮✝✠✁✗✌✏✟☛✎ ✤✕Û✝�✁�✁� ✭ ➒✸Ð✱✎✙✟✮✝✠✁✗✌✏✟☛✎❽✝➱➑✎✙✟☞✔☛✭☎✎✞✡✮✎✙✟☛✎✽✔✮✭ ✆ ✤✕Û✝�✁�✞Ú ✭ ❐
✯➘✡✴✣✥✯✩✔✮✳☎✌✏✳✲✡➁✎✙✁✗✎✙✘ ➣ ✔✮✄✍★✩✳✲✡✴✌✏✝❮✤☎✟✮✳✝✄ ✝✩✔✮✳➎✌✷✝➏★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✥✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✜✬✞✝✠✟☛✎✙✘ ✣✥✝✠✁✲✔✮✝❮✡✮➌✙✳❻✣✿✖☎✄ ✔✮✳✘ ✄ ✣✥✄ ✔☛✎✞✌✏✳✲✡✿✝➇✝❃✡☞✤✧✝❃★✩➣ ✶✧★✩✳✲✡✠➒✫✎✙✘ ✯✠✣ ✌✏✝➇✝ ➔☎✄ ✬✞✄ ✟✮✝✠✣❧✖☎✣⑧✻✼✳✞✣ ★✩✳✞✁☎✭☎✝✠★✩✄ ✣✥✝✠✁✲✔✮✳❻✌☎✎❽✌✏✄ ✁✠✟✙✣✥✄✍★✠✎➏✝➇✌✏✳✲✡✿✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✃ ➣✍✡☞✄✍★✩✳✲✡➘✌✏✳➇✡☞✄✍✡✕✔✮✝✠✣✴✎→✎➊✡☞✝✠✟✒★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✗❐➘➱➑✳✞✟☞✔☛✎✙✁✲✔✮✳✗➒✼✯✜✤☎✟☛✎✽✔✮✄✍★✠✎✙✣✥✝✠✁✞✔☛✝✿✄ ✁✷✆✷✄✍❒❃✆✞✝✠✘➜✤☎✟✮✳☎✌✏✖☎❰✠✄ ✟✱✃ ✝✠✟✮✟☛✎✙✣✥✝✠✁✞✔☛✎✞✡➘★✩✳✞✣✜Ñ✤☎✖✏✔☛✎✞★✩✄ ✳✞✁✗✎✙✄✍✡➜✻✗✎✞✡☞✝❃✎✞✌☎✎✞✡➜✝✠✣q✣✥✯✩✔✮✳✏✌✏✳✲✡❡✎✙✁✗✎✙✘ ➣ ✔✮✄✍★✩✳✲✡➑✌✏✝❁✤☎✟✮✳ ✄ ✝✩✔✮✳✒✤✗✎✙✟☛✎➘✎➘✬✞✝✠✟☛✎✞➋✠➌✙✳➘✎✙✖✏✔✮✳✞✣✴❒✽✔✮✄✍★✠✎✒✌✏✝❁★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝✠✡✠➒✏✹✚✝✝✁❁✄✍✡✠➒☎Ô✲✎✙✬✲✎✙✁☎✁✗✎✽✔✮✭✗✎✙✁→✝✡✶✫✝❃✡☞✄ ✘➐✌✷✄✍✟✮✝☛✄ ✤✕Û✝�✁�✁� ✭ ❐
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σ(·) ✯✶✎✿✃ ✖☎✁✗➋✠➌✙✳✴✌✏✝✶✎✽✔✮✄ ✆✽✎✞➋✠➌✙✳✗❐
Ï▼✃ ✖☎✁✗➋✠➌✙✳→✌✏✝✿✎✽✔✮✄ ✆✙✎✞➋✠➌✙✳✗➒

σ(·) ➒✧✌✏✝✫✶✗✁☎✝✿✳✴✆✙✎✙✘ ✳✞✟✂✌✏✳→✡☞✄ ✁✗✎✙✘✺✌✏✝✜✡✮✎✙➣✍✌☎✎✴✌✏✳✴✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✗➒✗✝✶✯✿✡☞✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✞✌☎✎✌✏✝✒✎✞★✩✳✞✟☛✌✏✳✜★✩✳✞✣ ✎✿✎✙✤☎✘ ✄✍★✠✎✞➋✠➌✙✳✜✌☎✎✞✌☎✎✶✤✗✎✙✟☛✎✿✎✿✟✮✝❃✌✏✝➘✁☎✝✠✖☎✟☛✎✙✘ ❐➑✑❡➔✏✄✍✡✕✔✮✝✠✣ ✆✽❒✙✟✮✄✍✎✞✡✫✃➐✖☎✁✗➋✫✴✏✝❃✡✸➓✲✖☎✝➘✤✧✳☎✌✏✝✠✣ ✡☞✝✠✟✢✖✗✡✮✎✞✌☎✎✞✡★✩✳✞✣✥✳❮✃ ✖☎✁✗➋✠➌✙✳❻✌✏✝➇✎✽✔✮✄ ✆✙✎✞➋✠➌✙✳➏✌✏✝➊✖☎✣ ✁☎✝✠✖☎✟✢✜✞✁✏✄✍✳✗❐❻✑✫✁✲✔✮✟✮✝➊✝✠✘✍✎✞✡✠➒✫✝✠✁✗★✩✳✞✁✲✔✮✟☛✎✙✣✜Ñ ✡☞✝→✎❮✃ ✖☎✁✗➋✠➌✙✳❻✌✏✝✠✬✞✟☛✎✙✖✚➒✫✎❮✃ ✖☎✁☎➋✠➌✙✳✘ ✄ ✁☎✝❃✎✙✟❃➒☎✎✞✡✢✃➐✖☎✁✗➋✫✴✏✝❃✡❁✡☞✝✠✁☎✳✥✝✶★✩✳✲✡✮✡☞✝✩✁☎✳✗➒✏✝✪✎✞✡✢✃ ✖☎✁✗➋✫✴✷✝❃✡✂✡☞✄ ✬✞✣✥✳✞✄✍✌☎✎✙✄✍✡✠➒ ■✱✎✙✄ ✄✷✄ ✁ ✤✕Û✝�✁�✱✣ ✭ ❐



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ �

Ï ✝✩➔✏✤☎✟✮✝❃✡✮✡✮➌✙✳➘✣✴✎✽✔✮✝✠✣✴❒✽✔✮✄✍★✠✎✪✌☎✎✪✡✮✎✙➣✍✌☎✎
y
✤✼✳✏✌✏✝✂✡☞✝✠✟✫✝❃✡✮★✩✟✮✄ ✔☛✎➘✁✗✎➘✃ ✳✞✟✮✣✴✎✒✆✞✝✩✔✮✳✞✟✮✄✍✎✙✘ ➒✞✌✏✝ ✶✗✁☎✄ ✁✗✌✏✳✶✳✲✡✫✡☞✄ ✁✗✎✙✄✍✡✌✏✝✒✝✠✁✲✔✮✟☛✎✞✌☎✎✥★✩✳✞✣✥✳✜✖☎✣ ✆✞✝✩✔✮✳✞✟

x ∈ Rn
➒✏✝✪✳✲✡✸✤✧✝❃✡☞✳✲✡❁★✩✳✞✣✥✳✥✖☎✣ ✆✙✝✩✔✮✳✞✟

w ∈ Rn
➒✗✎✞✡✮✡☞✄ ✣

x =
[

x1 x2 . . . xn

]T
, w =

[
w1 w2 . . . wn

]T
.

✤ Ù✏❐ Ù✹✭
✑✫✁✞✔☛➌✙✳✴✤✧✳☎✌✏✝✠✣✥✳✲✡✢✝❃➓✲✖✗✎✞★✩✄ ✳✞✁✗✎✙✟❁✎✥✡✮✎✙➣✍✌☎✎

y
★✩✳✞✣✥✳

y = σ
(
wT x + θ

) ✤ Ù✏❐ ✢ ✭

Ð✱✎➘✦➜✄ ✬✗❐ Ù✏❐ Ù✸✯✸✎✙✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞✌☎✎❁✖☎✣✴✎✱✟✮✝❃✌✏✝✓✁☎✝✠✖☎✟☛✎✙✘✷➓✲✖☎✝✢★✩✳✞✁✗✡☞✄✍✡✕✔✮✝✢✌✏✝
m
✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✠➒✠✔✮✳☎✌✏✳✲✡✺✎✙✘ ✄✍✣✥✝✩✁✲✔☛✎✞✌✏✳✲✡✤✧✝✠✘ ✳✜✣✥✝❃✡☞✣✥✳✿✆✞✝✩✔✮✳✞✟

x ∈ Rn
➒✷✝✒★✠✎✞✌☎✎✶✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✿✤☎✟✮✳✏✌✏✖☎❰✠✄ ✁✗✌✏✳✿✖☎✣✴✎✜✡✮✎✙➣✍✌☎✎

yk

➒✷✝❃✡✕✔☛✎✿✝❃✡✕✔✮✟✮✖✏✔✮✖☎✟☛✎✶✯✒★✮✭✗✎✙✣✴✎✞✌☎✎✿✌✏✝✟✮✝❃✌✏✝✒✁☎✝✠✖☎✟☛✎✙✘✚✌✏✝✒✖☎✣✴✎✴★✠✎✙✣✴✎✞✌☎✎☎❐

x1

x2

xn

w21

w12

wm2

w1n

wmn
σ(·)

σ(·)

σ(·)

1

1

1

θ1

θ2

θm

y1

y2

ym

w11

�✂✁☎✄✝✆✟✞✡✠☛✞ ☞ ✞✡✌✍✠☛✞

✦➜✄ ✬✞✖☎✟☛✎✥Ù✏❐ Ù✛✖❡❄❁✝❃✌✏✝✶Ð✂✝✠✖☎✟☛✎✙✘✚✌✏✝✪✖☎✣✴✎➁✛✢✎✙✣✴✎✞✌☎✎☎❐
Ï▼✝❃➓✲✖✗✎✞➋✠➌✙✳✜✤✗✎✙✟☛✎✿✝❃✡✕✔☛✎✜✟✮✝❃✌✏✝✒✯✶✌☎✎✞✌☎✎✜✤✧✳✞✟

yk = σ




n∑

j=1

wkjxj + θk


 ; k = 1, 2, ...,m.

✤ Ù✏❐ ✣ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Û❃Ú
✰✱✝✫✶✗✁☎✄ ✁✗✌✏✳✴✳✴★✩✳✞✁✝✄ ✖☎✁✲✔✮✳✴✌✏✳✲✡✸✆✙✎✙✘ ✳✞✟✮✝❃✡✸✌✷✳✲✡❁✤✧✝❃✡☞✳✲✡✸✝✒✘ ✄ ✣✥✄✍✎✙✟✮✝❃✡❁★✩✳✞✣✥✳

WT =




w11 w12 . . . w1n

w21 w22 . . . w2n❐❐❐ ❐❐❐ ❐ ❐ ❐ ❐❐❐
wm1 wm2 . . . wmn


, b =




θ1

θ2❐❐❐
θm




✤ Ù✏❐ ✤✹✭

✤✧✳✏✌✏✝✠✣✥✳✲✡✸✝✩➔✏✤☎✟✮✝❃✡✮✡✮✎✙✟✸✎✴✡✮✎✙➣✍✌☎✎✜✌☎✎✜✟✮✝❃✌✏✝✒✤✼✳✞✟
y = σ

(
WT x + b

)
.

✤ Ù✏❐ ✮ ✭

Ó ✁✗★✩✘ ✖☎✄ ✁✗✌✏✳❮✁☎✳❂✆✞✝✩✔✮✳✞✟✶✌✏✝➁✝✠✁✞✔✮✟☛✎✞✌☎✎
x
➒➑✣✴✎✙✄✍✡✪✖☎✣ ✝✠✘ ✝✠✣✥✝✠✁✞✔✮✳➏✌✏✝✴✆✙✎✙✘ ✳✞✟

1
➒➜✝➁✄ ✁✗★✩✘ ✖☎✄ ✁✗✌✏✳❮✳❂✆✙✝✩✔✮✳✞✟✿✌✏✝✘ ✄ ✣✥✄✍✎✙✟✮✝❃✡✢✁✗✎✥✣✴✎✽✔✮✟✮✄ ❰✪✌✏✝✒✤✼✝❃✡☞✳✲✡✓✔✮✝✠✣✥✳✲✡

x =
[

1 x1 x2 . . . xn

]T
,

✤ Ù✏❐ ✩ ✭

WT =




b1 w11 w12 . . . w1n

b2 w21 w22 . . . w2n❐❐❐ ❐❐❐ ❐❐❐ ❐ ❐ ❐ ❐❐❐
bm wm1 wm2 . . . wmn


,

✤ Ù✏❐ ✪ ✭

✝✒✤✼✳✏✌✏✝✠✣✥✳✲✡✸✝❃✡✮★✩✟✮✝✠✆✙✝✠✟❁✎✥✡✮✎✙➣✍✌☎✎✥✌☎✎✜✟✮✝❃✌✏✝✪★✩✳✞✣✥✳
y = σ

(
WT x

)
.

✤ Ù✏❐ � ✭

✑✓✡✕✔☛✎✥✁☎✳✙✔☛✎✞➋✠➌✙✳✥✡☞✝✠✟☛❒✜✎✞✌✏✳✙✔☛✎✞✌☎✎✿✁☎✳✲✡❁★✠✎✙✤☎➣ ✔✮✖☎✘ ✳✴✡☞✖☎✻✗✡☞✝❃➓✲×☎✝✠✁✲✔✮✝❃✡❁✌✏✝❃✡✕✔☛✎✥✌✏✄✍✡✮✡☞✝✠✟☞✔☛✎✞➋✠➌✙✳✗❐
✄✆☎✞✝✟☎✁� ✂ ✆ ✒✝✆☎✄ ✔✕✆ ✔ ✍✑✡ ✏✆✄ ☎ ✔✗✞ ☞✑✏✓✒ ✡ ✌✎✡✟✒✝✡✝✄

Ï ✦➜✄ ✬✗❐ Ù✏❐ ✢➊✣✥✳✲✡✕✔✮✟☛✎➊✖☎✣✴✎➇✟✮✝❃✌✏✝✴✁☎✝✠✖☎✟☛✎✙✘✫★✩✳✞✣ ✌✏✖✗✎✞✡✶★✠✎✙✣✴✎✞✌☎✎✞✡✒✌✏✝➁✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✠➒✚✳✞✁✗✌✏✝➁✎✞✡✪✡✮✎✙➣✍✌☎✎✞✡✪✌☎✎✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎➊★✠✎✙✣✴✎✞✌☎✎➊✎✙✘ ✄ ✣✥✝✠✁✲✔☛✎✙✣❑✎➊✝✠✁✞✔✮✟☛✎✞✌☎✎➇✌✏✳✲✡➘✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✒✌☎✎➇✡☞✝✠✬✞✖☎✁✗✌☎✎➇★✠✎✙✣✴✎✞✌☎✎☎❐✜Ï ✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎➊★✠✎✙✣✴✎✞✌☎✎→✯★✮✭✗✎✙✣✴✎✞✌☎✎✶✌✏✝➘★✠✎✙✣✴✎✞✌☎✎✒✝❃✡✮★✩✳✞✁✗✌✏✄✍✌☎✎✪✳✞✖➁✄ ✁✞✔✮✝✠✟✮✣✥✝❃✌✏✄✍❒✙✟✮✄✍✎☎➒✞✝➘✎✶✡☞✝✠✬✞✖☎✁✗✌☎✎✶★✠✎✙✣✴✎✞✌☎✎✪✯✱★☛✭✗✎✙✣✴✎✞✌☎✎✶★✠✎✙✣✴✎✞✌☎✎✪✌✏✝➘✡✮✎✙➣✍✌☎✎☎❐❄❁✝❃✌✏✝❃✡❡★✩✳✞✣➲✣✸✚☎✘ ✔✮✄ ✤☎✘✍✎✞✡✫★✠✎✙✣✴✎✞✌☎✎✞✡➑✡✮➌✙✳✒★✩✳✞✁☎✭☎✝❃★✩✄✍✌☎✎✞✡➑★✩✳✞✣✥✳✒✟✮✝❃✌✏✝❃✡❡❀❮✹✚➱ ✂✔✵✶★✛✪ ✛✜✟✯✰ ✁✟✞✥✎✩✄ �✂✎✩✄✆✺❅✎ ✓ ✛✜✄✆✕☎✡ ✂ ❐ ✯②✤✼✳✏✌✏✝✠✟✌✏✝✒✤☎✟✮✳☎★✩✝❃✡✮✡✮✎✙✣✥✝✠✁✞✔✮✳✥✌☎✎✞✡✸✟✮✝❃✌✏✝❃✡❁❀❮✹✚➱②✯✒✣✿✖☎✄ ✔✮✳➁✡☞✖☎✤✧✝✠✟✮✄ ✳✞✟❁✎✙✳✴✌☎✎✞✡✸✟✮✝❃✌✏✝❃✡❁✌✏✝✒✖☎✣✴✎✙✚☎✁☎✄✍★✠✎✥★✠✎✙✣✴✎✞✌☎✎☎❐
✯●✡☞✄ ✁✗✎✙✘✚✌✏✝✶✡✮✎✙➣✍✌☎✎✥✌☎✎✜✟✮✝❃✌✏✝✪✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞✌☎✎✿✁✗✎✥✦➜✄ ✬✗❐ Ù✏❐ ✢✿✯✶✌✏✝✫✶✗✁☎✄✍✌✏✳✴✌☎✎✴✡☞✝✠✬✞✖☎✄ ✁✞✔✮✝✒✃ ✳✞✟✮✣✴✎

y = σ
(
WT σ

(
VT x

))
;

✤ Ù✏❐ Û❃Ú ✭
✳✞✁✗✌✏✝

V ∈ RL×n
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎→✳✲✡✒✤✧✝❃✡☞✳✲✡✒✌✏✳✲✡✒✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✪✌✏✎➇✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎➊★✠✎✙✣✴✎✞✌☎✎→✝

W ∈ RL×n
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔ ✎✳✲✡❁✤✧✝❃✡☞✳✲✡✂✌✏✳✲✡❁✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡❁✌☎✎➁✡☞✝✠✬✞✖☎✁✗✌☎✎✥★✠✎✙✣✴✎✞✌☎✎☎❐✸✵✷✝✶✁✗✎➁★✠✎✙✣✴✎✞✌☎✎✥✌✏✝✿✡✮✎✙➣✍✌☎✎✴✎✜✃ ✖☎✁✗➋✠➌✙✳➁✌✏✝✿✎✽✔✮✄ ✆✽✎✞➋✠➌✙✳✜✃ ✳✞✟✂✖☎✣✴✎



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Û✞Û

x1

x2

xn

v11

v21

v12

vL2

v1n

vLn

1

1

1

1

1

1
θ10

θ20

θL0

w11

w21

σ(·)

σ(·)

σ(·)

σ(·)

σ(·)

σ(·)

w12

wm2

w1L

wmL

θ11

θ21

θm1

y1

y2

ym

z1

z2

zL

�✂✁☎✄✝✆✝✞✠✟✡✞ ☛✌☞☎✍✏✎✒✑✏✓✔✎✒✕✗✖ ✘✠✑✏✖ ✙ ✚✗✛✠✜ ✢✡✛

✦➜✄ ✬✞✖☎✟☛✎✴Ù✏❐ ✢ ✖❡❄❁✝❃✌✷✝✶Ð✂✝✠✖☎✟☛✎✙✘✚✌✏✝✶✰✱✖✗✎✞✡✱✛✢✎✙✣✴✎✞✌☎✎✞✡✠❐
✃ ✖☎✁✗➋✠➌✙✳✥✘ ✄ ✁☎✝❃✎✙✟✂✌✏✳✜✔✮✄ ✤✧✳

σ(x) = x
➒☎✝✠✁✲✔☛➌✙✳✥✎✥✝❃➓✲✖✗✎✞➋✠➌✙✳✥✌✷✝✶✡✮✎✙➣✍✌☎✎✥✌☎✎✜✟✮✝❃✌✏✝➘✔✮✳✞✟✮✁✗✎✽Ñ ✡☞✝

y = WT σ
(
VT x

)
.

✤ Ù✏❐ Û✞Û ✭
✄✆☎✞✝✟☎✌✣ ✤ ✍✑✆✟✏✞✡✝✡ ✌✎✆ ✡✌☞✎✏ ✒✝✆ ✂ ✆ ✒✝✆☎✄ ✔✕✆ ✔ ✍✑✡ ✏✆✄ ☎ ✔✗✞ ☞✑✏✓✒ ✡ ✌✎✡✟✒✝✡✝✄

✑❡➔✏✄✍✡✕✔✮✝→✖☎✣✴✎❮✄ ✁✛✶✗✁☎✄✍✌☎✎✞✌✏✝➊✌✏✝➊✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✶★✠✎✙✤✗✎✙❰✠✝❃✡✶✌✏✝➁✔✮✟✮✝✠✄ ✁✗✎✙✟✿✟✮✝❃✌✏✝❃✡✶✁☎✝✠✖☎✟☛✎✙✄✍✡✠➒❡✡☞✝✩✁✗✌✏✳❽➓✲✖☎✝→✝❃✡✕✔✮✝❃✡✤✧✳✏✌✏✝✠✣❧✡☞✝✠✟✶✎✙✬✞✟✮✖☎✤✗✎✞✌✏✳✲✡✒✝✠✣ ✌✏✳✞✄✍✡✪✬✞✟☛✎✙✁✗✌✏✝❃✡✒✬✞✟✮✖☎✤✼✳✲✡ ✖✶Ï✂✤☎✟✮✝✠✁✗✌✏✄ ❰❃✎✞✌✏✳➏✵✷✖☎✤✧✝✠✟✮✆✷✄✍✡☞✄ ✳✞✁✗✎✞✌✏✳➇✝➁Ï✂✤☎✟✮✝✠✁✗✌✏✄ ❰❃✎✞✌✏✳❮Ð✱➌✙✳✵✷✖☎✤✧✝✠✟✮✆✷✄✍✡☞✄ ✳✞✁✗✎✞✌✏✳✗❐
➮ ✟➜➥✽➻✷➙➜➢➜➠✜✛✞↕☎➢➜➤◗➚✡✵ ✟✓➻✲➥✯✟✚➠✜✗❃➠➡➤✧➙➜↕☎➢➜➤✺➦✦✥◗✳ ✎✙✤☎✟✮✝✠✁✗✌✏✄ ❰❃✎✞✌✏✳②✣✴✎✙✄✍✡➏★✩✳✞✣✿✖✏✣⑦✁☎✳ ✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✲✔✮✳ ✌✏✝❄✂Ð✱Ï✱✡✠❐▼✰➘✎✞✌✏✳❥✖☎✣✈★✩✳✞✁✝✄ ✖☎✁✲✔✮✳➎✌✏✝❂✝✠✁✲✔✮✟☛✎✞✌☎✎✞✡✥✝❂✖☎✣✈★✩✳✞✁✝✄ ✖☎✁✲✔✮✳➃✌✏✝➏✡✮✎✙➣✍✌☎✎✞✡✴✌✏✝❃✡☞✝ ✄✕✎✞✌☎✎✞✡✠➒✢✳❥✳✞✻ ✄ ✝✩✔✮✄ ✆✞✳❥✯❮✎✝✄ ✖✗✡✕Ñ✔☛✎✙✟➘✳✲✡✱✤✧✝❃✡☞✳✲✡➘✌☎✎➁✟✮✝❃✌✏✝✥✌✷✝✿✔☛✎✙✘➜✃ ✳✞✟✮✣✴✎→➓✲✖☎✝✜✎➊✡✮✎✙➣✍✌☎✎➁✌☎✎→✟✮✝❃✌✏✝✜✡☞✝ ✄✕✎➁✣✴✎✙✄✍✡✱✤☎✟✮✾ ➔✏✄ ✣✥✳→✤✧✳✲✡✮✡☞➣ ✆✞✝✠✘➜✌✏✳➇★✩✳✞✁✝✄ ✖☎✁✞✔✮✳➇✌✏✝✡✮✎✙➣✍✌☎✎✞✡✸✌✏✝❃✡☞✝ ✄✕✎✞✌☎✎✞✡✠❐
➮ ✟➜➥✽➻✷➙➜➢➜➠✜✛✞↕☎➢➜➤❻➷✞✏☎➤❥➚✡✵ ✟✫➻✲➥✯✟✚➠✜✗❃➠➡➤✧➙➜↕☎➢➜➤✺➦✢Ð✂✝❃✡✕✔✮✝✱✔✮✄ ✤✼✳✥✌✏✝✒✎✙✤☎✟✮✝✠✁✗✌✏✄ ❰❃✎✞✌✏✳✗➒✷✡☞✳✞✣✥✝✠✁✲✔✮✝✱✳✲✡✸✌☎✎✞✌✏✳✲✡✢✌✏✝✝✠✁✞✔✮✟☛✎✞✌☎✎✿✝❃✡✕✔☛➌✙✳✥✌✏✄✍✡☞✤✧✳✞✁☎➣ ✆✞✝✠✄✍✡✠➒✏★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮✄ ❰❃✎✽✁✗✌✏✳✜✎✜✎✙✖✗✡✵✣✠✁✗★✩✄✍✎✜✌✏✳✜✤✗✎✙✟✸✝✠✁✲✔✮✟☛✎✞✌☎✎✷Ò✽✡✮✎✙➣✍✌☎✎✏❐➑Ð✂✝❃✡✕✔☛✎✿✃ ✳✞✟✮✣✴✎✿✌✏✝✪✎✙✤☎✟✮✝✠✁✏Ñ✌✏✄ ❰❃✎✞✌✏✳✂✻☎✖✗✡✮★✠✎✽Ñ ✡☞✝✫✝✠✁✗★ ✳✞✁✲✔✮✟☛✎✙✟✺✖☎✣✴✎ ✦ ✭✗✎✙✟✮✣✥✳✞✁☎✄✍✎✸✝❃✡✕✔☛✎✽✔✮➣✍✡✕✔✮✄➐★✩✎✩✬✫★✩✳✞✁✲✔✮✄✍✌☎✎❁✁☎✳✲✡➜✌☎✎✞✌✏✳✲✡✺✌✏✝✓✝✠✁✞✔✮✟☛✎✞✌☎✎☎➒✽✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✞✝✠✁✗✌✏✳✙Ñ✡☞✝✒✖☎✣✴✎✜✭✗✎✙✻☎✄ ✘ ✄➐✌✏✎✞✌✏✝✪✤✗✎✙✟☛✎✜★✩✟✮✄✍✎✙✟❁★✩✘✍✎✞✡✮✡☞✝❃✡✸✌✏✝✶✌☎✎✞✌✏✳✲✡✸✳✞✖➊✬✞✟✮✖☎✤✧✳✲✡✸✎✙✖✏✔✮✳✞✣✴✎✽✔✮✄✍★✠✎✙✣✥✝✠✁✲✔✮✝✞❐
✛✓✳✞✣✥✳❥✎❻✟✮✝❃✌✏✝➇✁☎✝✠✖☎✟☛✎✙✘✱➓✲✖☎✝❮★✩✳✞✣✥✤ ✴✷✝❂✎❥✎✙✟☛➓✲✖☎✄ ✔✮✝✩✔✮✖☎✟☛✎❻✌✏✳❥★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✴✌✏✝ ☛❃✟☛✝✧✭✜✰ ✎ ✞ ✟✬✑ ✭ ☎✠✁ ✞ ✑✗✕☎✡✤✧✳✲✡✮✡☞✖☎✄✧✖☎✣✴✎✿✎✙✟☛➓✲✖☎✄ ✔✮✝✩✔✮✖☎✟☛✎✶➓✲✖☎✝➘✝✩➔✏✄ ✬✞✝❁✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✲✔✮✳✜✡☞✖☎✤✧✝✠✟✮✆✷✄✍✡☞✄ ✳✞✁✗✎✞✌✏✳✗➒✞✳✶✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳✿★✩✳✞✁✗★✩✝✠✁✲✔✮✟✮✳✞✖✏Ñ ✡☞✝❁✁☎✝❃✡✕✔✮✝✱✔✮✄ ✤✧✳✌✏✝➘✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✲✔✮✳✗❐
✑❡➔✏✄✍✡✕✔✮✝✠✣▼✆✙❒✙✟✮✄ ✳✲✡➧✣✥✯✩✔✮✳✏✌✏✳✲✡✚✳✞✖✶✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✚✌✏✝✢✡☞✄ ✁✞✔✮✳✞✁☎✄✍✎✂✌✏✝✓✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡➧✝✠✣▼✟✮✝❃✌✏✝❃✡➧✁☎✝✠✖☎✟☛✎✙✄✍✡✠❐➜�✱✡☞✖✗✎✙✘ Ñ✣✥✝✠✁✞✔✮✝✞➒✞✝❃✡✕✔✮✝❃✡➑✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡➜✡✮➌✙✳✱✻✗✎✞✡☞✝❃✎✞✌✏✳✲✡✺✝✠✣q✎✙✘ ✬✞✖☎✣●✣✥✯✩✔✮✳✏✌✏✳✪✌✏✝✢✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳✗❐✺✑❡➔✏✄✍✡✕✔✮✝✠✣q✌✏✖✗✎✞✡➜✘ ✄ ✁☎✭✗✎✞✡➑✻✗❒✞✡☞✄✍★✠✎✞✡



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Û Ù
✤✗✎✙✟☛✎➇✳➏✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳❮✌✏✝✴✔☛✎✙✄✍✡✿✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡ ✖✿✖☎✣✴✎❂✻✗✎✞✡☞✝❃✎✞✌☎✎➊✁☎✳❮✖✗✡☞✳➏✌✏✳❮✆✞✝✩✔✮✳✞✟✶✬✞✟☛✎✞✌✏✄ ✝✠✁✲✔✮✝✞➒➜✝➁✳✞✖✏✔✮✟☛✎➇✁☎✳✖✗✡☞✳➁✌☎✎✴✣✴✎✽✔✮✟✮✄ ❰✪✭☎✝❃✡✮✡☞✄✍✎✙✁✗✎☎❐ ✯➘✡✂✣✥✯ ✔☛✳✏✌✏✳✲✡❁✻✗✎✞✡☞✝❃✎✞✌✏✳✲✡✸✁✗✎✴✣✴✎✽✔✮✟✮✄ ❰✪✭☎✝❃✡✮✡☞✄✍✎✙✁✗✎✥✁☎✳✞✟✮✣✴✎✙✘ ✣✥✝✠✁✲✔✮✝✪✟✮✝❃➓✲✖☎✝✠✟✮✝✠✣ ✝✠✘ ✝✠✆✽✎✞✌✏✳✝❃✡✕✃ ✳✞✟☛➋✩✳❂★✩✳✞✣✥✤☎✖✏✔☛✎✞★✩✄ ✳✞✁✗✎✙✘✫✤✧✳✞✟✶✄ ✔✮✝✠✟☛✎✞➋✠➌✙✳✗➒✺✝✠✁✗➓✲✖✗✎✙✁✞✔✮✳❮✣✥✯✩✔✮✳✏✌✏✳✲✡✪✻✗✎✞✡☞✝❃✎✞✌✏✳✲✡✒✁☎✳✲✡✶✆✙✝✩✔✮✳✞✟✮✝❃✡✪✬✞✟☛✎✞✌✏✄ ✝✠✁✞✔✮✝✴✟✮✝❃➓✲✖☎✝✠✟✮✝✠✣✝❃✡✕✃ ✳✞✟☛➋✩✳✥★✩✳✞✣✥✤☎✖✏✔☛✎✞★✩✄ ✳✞✁✗✎✙✘✼✟✮✝✠✘✍✎✽✔✮✄ ✆✙✎✙✣✥✝✠✁✞✔✮✝✒✣✥✝✠✁☎✳✞✟❃❐

✯②✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✮✭ ✁✥✺✬✫✚✭✬✓ ✄✆✕❅✓✍✁ ✽ ✁☎✛✜✟✷✕ ✡✗➒✲❄❁✖☎✣✥✝✠✘ ✭✗✎✙✟☞✔❃➒✱■✂✄ ✁✲✔✮✳✞✁✜✝ ☞ ✄ ✘ ✘ ✄✍✎✙✣✴✡ ✤✕Û✝�✑✪✑✮ ✭ ➒✽✯✢✻✗✎✞✡☞✝❃✎✞✌✏✳✱✁☎✳➘✣✥✯✩✔✮✳✙Ñ✌✏✳✱✌✏✝✓✳✙✔✮✄✍✣✥✄ ❰❃✎✞➋✩➌✙✳✂✤✧✝✠✘ ✳✱✆✙✝✩✔✮✳✞✟✺✬✞✟☛✎✞✌✏✄ ✝✠✁✲✔✮✝✞➒✽✡☞✝✠✁✗✌✏✳✂✖☎✣●✌✏✳✲✡➜✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡➧✣✴✎✙✄✍✡✺★✩✳✞✁☎✭☎✝❃★✩✄✍✌✏✳✲✡✚✤✗✎✙✟☛✎❁✳❁✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✲✔✮✳✌✏✝✒✟✮✝❃✌✏✝❃✡✸✁☎✝✠✖☎✟☛✎✙✄✍✡✠❐
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yi = σ




L∑

ℓ=1

wiℓσ




n∑

j=1

vℓjxj + θℓ0


 + θi1


 ; i = 1, 2, . . . ,m.

✤ Ù✏❐ Û Ù✹✭

Ð✱✎✶✦➜✄ ✬✗❐ Ù✏❐ ✢☎➒✞★☛✭✗✎✙✣✴✎✙✣✥✳✲✡➑✳✲✡❡✤✼✝❃✡☞✳✲✡❡✌☎✎✪✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎✒★✠✎✙✣✴✎✞✌☎✎✪✌✏✝
vℓj

✝✂✳✲✡❡✤✧✝❃✡☞✳✲✡✫✌☎✎✶✡☞✝✠✬✞✖☎✁✗✌☎✎✒★✠✎✙✣✴✎✞✌☎✎✌✏✝
wiℓ

❐✫Ï▼✝✠✁✲✔✮✟☛✎✞✌☎✎✜✌☎✎✥✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎✜★✠✎✙✣✴✎✞✌☎✎✜✯
xj

❐❡✰✱✝✫✶✗✁☎✄ ✁✗✌✏✳➁★✩✳✞✣✥✳✥✝✠✁✲✔✮✟☛✎✞✌☎✎✜✌☎✎✴✡☞✝✠✬✞✖☎✁✗✌☎✎✜★✠✎✙✣✴✎✞✌☎✎
zℓ = σ




n∑

j=1

vℓjxj + θℓ0


 ; ℓ = 1, 2, . . . , L.

✤ Ù✏❐ Û✰✢ ✭
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yi = σ

(
L∑

ℓ=0

wiℓzℓ

) ✤ Ù✏❐ Û ✣ ✭

zℓ = σ




n∑

j=0

vℓjxj


 .

✤ Ù✏❐ Û✯✤✹✭
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u2

i =

L∑

ℓ=0

wiℓzℓ

✤ Ù✏❐ Û✰✮ ✭

u1
ℓ =

n∑

j=0

vℓjxj

✤ Ù✏❐ Û✚✩ ✭
✤✧✳✏✌✏✝✠✣✥✳✲✡✸✝❃✡✮★✩✟✮✝✠✆✞✝✠✟

yi = σ
(
u2

i

) ✤ Ù✏❐ Û✰✪ ✭
zℓ = σ

(
u1

ℓ

) ✤ Ù✏❐ Û✝� ✭
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✤✕Û✝�✁�✁� ✭

wiℓ = wiℓ − η
∂E

∂wiℓ

✤ Ù✏❐ Ù✙Ú ✭
vℓj = vℓj − η

∂E

∂vℓj

✤ Ù✏❐ Ù✏Û ✭
✳✞✁✗✌✏✝

E
✯✪✎✿✃ ✖☎✁✗➋✠➌✙✳➁★✩✖✗✡✕✔✮✳✗➒☎✌✏✝✫✶✗✁☎✄✍✌☎✎✜✤✼✳✞✟

E =
1

2
eT e =

1

2

m∑

i=1

e2
i .

✤ Ù✏❐ Ù✞Ù✹✭
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X
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Y
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X
➒☎✌✏✝✫✶✗✁☎✄ ✣✥✳✲✡

ei = Yi − yi

✤ Ù✏❐ Ù✱✢ ✭
✳✞✁✗✌✏✝

yi
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E
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∂E

∂wiℓ

=
∂E

∂u2
i

∂u2
i

∂wiℓ

=

[
∂E

∂ei

∂ei

∂yi

∂yi

∂u2
i

]
∂u2

i

∂wiℓ

✤ Ù✏❐ Ù✚✣ ✭
✝✪★✩✳✞✣✥✳

∂E

∂ei

= ei

✤ Ù✏❐ Ù✑✤✹✭
∂ei

∂yi

= −1
✤ Ù✏❐ Ù✱✮ ✭

∂yi

∂u2
i

= σ′(u2
i )

✤ Ù✏❐ Ù✲✩ ✭
✤✧✳✏✌✏✝✠✣✥✳✲✡❁✌✏✝❃✌✏✖☎❰✠✄ ✟✂➓✲✖☎✝

∂E

∂u2
i

= −σ′
(
u2

i

)
ei

✤ Ù✏❐ Ù✱✪ ✭
∂E

∂wiℓ

= −zℓ

[
σ′

(
u2

i

)
ei

]
.

✤ Ù✏❐ Ù � ✭
✰✱✝✪✣✥✳✏✌✏✳✥✝❃➓✲✖☎✄ ✆✙✎✙✘ ✝✠✁✞✔✮✝✞➒☎✤✗✎✙✟☛✎✜✎✜✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎✜★✠✎✙✣✴✎✞✌☎✎✿✔✮✝✠✣✥✳✲✡

∂E

∂vℓj

=
∂E

∂u1
ℓ

∂u1
ℓ

∂vℓj

=

[
∂zℓ

∂u1
ℓ

m∑

i=1

∂E

∂u2
i

∂u2
i

∂zℓ

]
∂u1

ℓ

∂vℓj

✤ Ù✏❐ ✢✞Ú ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Û ✣
★✩✳✞✣✥✳

∂u2
i

∂zℓ

= wiℓ

✤ Ù✏❐ ✢☎Û ✭
∂zℓ

∂u1
ℓ

= σ′(u1
i )

✤ Ù✏❐ ✢✲Ù✹✭
∂u1

ℓ

∂vℓj

= xj

✤ Ù✏❐ ✢✑✢ ✭
✤✧✳✏✌✏✝✠✣✥✳✲✡❁✌✏✝❃✌✏✖☎❰✠✄ ✟✂➓✲✖☎✝

∂E

∂u1
ℓ

= −σ′
(
u1

ℓ

) m∑

i=1

wiℓ

[
σ′

(
u2

i

)
ei

] ✤ Ù✏❐ ✢✱✣ ✭
∂E

∂vℓj

= −xj

[
σ′

(
u1

ℓ

) m∑

i=1

wiℓ

[
σ′

(
u2

i

)
ei

]
]

.
✤ Ù✏❐ ✢✲✤✹✭

Ï✱✡✮✡☞✄ ✣ ✤✧✳✏✌✏✝✠✣✥✳✲✡❁✌✏✝✫✶✗✁☎✄ ✟✂✎✞✡✸✝❃➓✲✖✗✎✞➋✫✴✏✝❃✡✸✌✏✝✒✟✮✝✩✔✮✟✮✳✥✤☎✟✮✳✞✤✗✎✙✬✲✎✙➋✠➌✙✳✜✌✏✳✥✝✠✟✮✟✮✳✥★✩✳✞✣✥✳
δ2
i = − ∂E

∂u2
i

= σ′
(
u2

i

)
ei

✤ Ù✏❐ ✢✑✮ ✭

δ1
ℓ = − ∂E

∂u1
ℓ

= σ′
(
u1

ℓ

) m∑

i=1

wiℓ

[
σ′

(
u2

i

)
ei

]
.

✤ Ù✏❐ ✢✶✩ ✭
✝✪✎✥✝✠➓✷✖☎✎✞➋✠➌✙✳✥✌✏✝✶✎✝✄ ✖✗✡✕✔✮✝✪✌✏✳✲✡✸✤✼✝✠✡☞✳✲✡ ✶✧★✠✎

wiℓ = wiℓ + ηzℓδ
2
i

✤ Ù✏❐ ✢✑✪ ✭
vℓj = vℓj + ηxjδ

1
ℓ

✤ Ù✏❐ ✢✁� ✭
Ï✱✡✮✡☞✖☎✣✥✄ ✁✗✌✏✳✜➓✲✖☎✝✱✎✞✡✫✃ ✖☎✁✗➋✫✴✷✝❃✡✓✌✏✝➘✎✽✔✮✄ ✆✙✎✞➋✠➌✙✳✶✡☞✝ ✄✕✎✙✣q✃ ✖☎✁✗➋✫✴✷✝❃✡✢✡☞✄ ✬✞✣✥✳✞✄✍✌☎✎✙✄✍✡✠➒✞✳✲✡✫✝✠✟✮✟✮✳✲✡✫✌✏✝✱✟✮✝✩✔✮✟✮✳✶✤☎✟✮✳✞✤✗✎✽Ñ✬✲✎✞➋✠➌✙✳✿✤✼✳✏✌✏✝✠✣ ✡☞✝✠✟❁✝❃➓✲✖✗✎✞★✩✄ ✳✞✁✗✎✞✌✏✳✲✡✸★✩✳✞✣✥✳

δ2
i = yi (1 − yi) ei

✤ Ù✏❐ ✣✲Ú ✭
δ1
ℓ = zℓ (1 − zℓ)

m∑

i=1

wiℓδ
2
i

✤ Ù✏❐ ✣✗Û ✭
✌✏✝✠✆✷✄✍✌✏✳✴✎✙✳✜✃➡✎✽✔✮✳✴✌✏✝

σ(s) =
1

1 + e−s

✤ Ù✏❐ ✣✷Ù✹✭
σ′(s) = σ(s) (1 − σ(s))

✤ Ù✏❐ ✣✲✢ ✭
✑✫✣ ✔✮✝✠✟✮✣✥✳✲✡✸✣✴✎✽✔✮✟✮✄✍★✩✄✍✎✙✄✍✡✠➒✏✤✧✳✏✌✏✝✠✣✥✳✲✡✸✝❃✡✮★✩✟✮✝✠✆✞✝✠✟✸➓✲✖☎✝

z = σ
(
VT X

) ✤ Ù✏❐ ✣✑✣ ✭
y = σ

(
WT z

) ✤ Ù✏❐ ✣✶✤✹✭
e = Y − y

✤ Ù✏❐ ✣✲✮ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Û✯✤
δ2 = diag[y] (I − diag[y]) e

✤ Ù✏❐ ✣ ✩ ✭
δ1 = diag[z] (I − diag[z])Wδ2 ✤ Ù✏❐ ✣✲✪ ✭

✝✪✎✞✡✸✝❃➓✲✖✗✎✞➋✫✴✷✝❃✡❁✌✏✝✪✎✝✄ ✖✗✡✕✔✮✝❃✡❁✌✏✳✲✡✸✤✧✝❃✡☞✳✲✡❁✡✮➌✙✳✴✌✏✎✞✌☎✎✞✡✸✤✧✳✞✟
W = W + ηz(δ2)T ✤ Ù✏❐ ✣✂� ✭
V = V + ηX(δ1)T .

✤ Ù✏❐ ✤✙Ú ✭
✄✆☎✞✝✟☎✁� ✂ ✆ ✒✝✆☎✄ ✔✕✆ ✔ ✍✑✡ ✏✆✄ ✂✄✂ ✞✓✏✓✒ ✡✟✒✝✡✝✄ ✡✙✏✆☎ ✏✌✡✌☞✎✍✑✏ ✞ ✆ ✒✝✆✞✝ ✏✆✄ ☞☞✆✟✌✎✡✝✄✠✟ ✏✞✡☛✡ ✌✠✏✓✒✘✏ ✄

✰✱✖✗✎✞✡→★✩✘✍✎✞✡✮✡☞✝❃✡➁✌✏✄✍✡✕✔✮✄ ✁✲✔☛✎✞✡→✌✏✝❮✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡➁✎✙✤✗✎✙✟✮✝❃★✩✝✠✣❖✁✗✎❻✄ ✁✗✌✛✚✗✡✕✔✮✟✮✄✍✎➃★✩✳✞✣❴✬✞✟☛✎✙✁✗✌✏✝➇✃ ✟✮✝❃➓✲× ✣✠✁✗★✩✄✍✎☎➒✸✝✣✥✝✠✟✮✝❃★✩✝✠✣q✝❃✡☞✤✼✝❃★✩✄✍✎✙✘✗✎✽✔✮✝✠✁✗➋✠➌✙✳✪✁☎✳✶✣✥✳✞✣✥✝✠✁✞✔✮✳✿✌✏✳✶✤☎✟✮✳ ✄ ✝✩✔✮✳✿✌✏✳✲✡✫✡☞✄➐✡✕✔✮✝✠✣✴✎✞✡✫✌✏✝✱★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✞❐➜Ï ✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎✪★✩✳✞✁✗✡☞✄✍✡✕✔✮✝✂✌✏✝✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✓➓✲✖☎✝❁✃ ✳✞✟☛✎✙✣♦✤☎✟✮✳ ✄ ✝✩✔☛✎✞✌✏✳✲✡❡✤✗✎✙✟☛✎✪✳✞✤✧✝✠✟☛✎✙✟✓✌✏✝✱✣✥✳✏✌✏✳✿✡✮✎✽✔✮✄✍✡✕✃➡✎✽✔✮✾✞✟✮✄ ✳✶✎✙✤✧✝✠✁✗✎✞✡✫✁✗✎✪✆✷✄ ❰✠✄ ✁☎✭✗✎✙✁✗➋✠✎✶✌✏✝✱✖☎✣❬★✩✝✠✟☞✔✮✳✤✧✳✞✁✲✔✮✳➏✌✏✝→✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳☎❐❂Ð✂✝❃✡✕✔✮✝➊✌✏✳✞✣✥➣ ✁☎✄ ✳➏✎❂✣✥✳✏✌✏✝✠✘✍✎✙✬✞✝✠✣ ✘ ✄ ✁☎✝❃✎✙✟✜✌✏✳❮✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎➇✝→✳✲✡✿★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✙✟✮✝❃✡✒✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✤✧✳✏✌✏✝✠✣❴★✩✳✞✁✗✌✏✖☎❰✠✄ ✟➁✎❥✌✏✝✠✡☞✝✠✣✥✤✼✝✠✁☎✭☎✳✲✡✥✤☎✘ ✝✠✁✗✎✙✣✥✝✠✁✲✔✮✝❮✡✮✎✽✔✮✄✍✡✕✃➡✎✽✔✮✾✞✟✮✄ ✳✲✡✩❐②➱➑✳✞✟✮✯✠✣❖★✩✳✞✣❴✎❻★✩✟✮✝❃✡✮★✩✝✠✁✲✔✮✝❂✌✏✝✠✣✴✎✙✁✗✌☎✎❻✌✏✝✔✮✝❃★✩✁☎✳✞✘ ✳✞✬✞✄✍✎☎➒✓✳✲✡✴✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✥✝❃✡✕✔☛➌✙✳❥✡☞✝✠✁✗✌✏✳❽✃ ✳✞✟☛➋✠✎✞✌✏✳✲✡✥✎❽✔✮✟☛✎✙✻✗✎✙✘ ✭✗✎✙✟✥✝✠✣❖✟✮✝✠✬✞✄ ✴✷✝❃✡✴★✩✎✞✌☎✎❻✆✙✝✠❰❂✣✴✎✙✄ ✳✞✟✮✝❃✡✜✁☎✳✲✡➁✡☞✝✠✖✗✡✝❃✡☞✤✗✎✞➋✩✳✲✡➑✌✏✝❁✝❃✡✕✔☛✎✞✌✏✳✗➒✙✳✞✁✗✌✏✝❁✎✞★✩✝✠✁✲✔✮✖✗✎✙✣✜Ñ ✡☞✝✸✎✞✡❡★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✞✡✺✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✠❐✺Ð✂✝❃✡✕✔✮✝✂★✠✎✞✡☞✳✱✔☛✎✙✁✲✔✮✳✶✎➘✣✥✳✏✌✏✝✠✘✍✎✙✬✞✝✠✣✘ ✄ ✁☎✝❃✎✙✟✂➓✲✖✗✎✙✁✞✔✮✳✥✳✴★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✒✘ ✄ ✁☎✝❃✎✙✟✸✁✗➌✙✳✴★✩✳✞✁✗✡☞✝✠✬✞✖☎✝✠✣ ✎✽✔✮✄ ✁☎✬✞✄ ✟❁✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✲✡❁✡✮✎✽✔✮✄✍✡✕✃➡✎✽✔✮✾✞✟✮✄✍✳✞✡✠❐
Ð✱✎❻✡☞✝✠✬✞✖☎✁✗✌☎✎❻★ ✘➐✎✞✡✮✡☞✝➇✌✏✝➇✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✠➒✫✣✥✳☎✌✏✝✠✘ ✳✲✡✜✣✴✎✽✔✮✝✠✣✴❒✽✔✮✄✍★✩✳✲✡✜✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✜✌✏✝✠✆✞✝✠✣❖✡☞✝✠✟➁✌✏✝❃✡☞✝✠✁✏Ñ✆✙✳✞✘✍✆✷✄✍✌✏✳✲✡✠➒✲✳✥➓✲✖☎✝➘✤✧✳☎✌✏✝✒✡☞✝✠✟✢✖☎✣✴✎✿✔☛✎✙✟✮✝✩✃➡✎✶✻✗✎✞✡✕✔☛✎✙✁✲✔✮✝✒❒✙✟☛✌✏✖✗✎☎❐➜✑❡➔✏✄✍✡✕✔✮✝➘✔☛✎✙✣✶✻✼✯✠✣➇➒☎✎✶✤✼✳✲✡✮✡☞✄ ✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝➘✌✏✝✒✖☎✣✴✎✜★✩✝✠✟☞✔☛✎➓✲✖✗✎✙✁✞✔✮✄✍✌☎✎✞✌✏✝→✌✏✝→✌☎✎✞✌✏✳✲✡✶✌✏✝➁✝✠✁✲✔✮✟☛✎✞✌☎✎✽Ñ ✡✮✎✙➣✍✌☎✎➇✌✏✳➏✡☞✄✍✡✕✔✮✝✠✣✴✎➇✁✗➌✙✳❮★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳➇✝❃✡✕✔☛✎✙✟✿✌✏✄✍✡☞✤✧✳✞✁☎➣ ✆✞✝✠✘ ➒➑✌✏✝➁✣✥✳✏✌✏✳❮➓✲✖☎✝✖☎✣❊✣✥✳✏✌✏✝✠✘ ✳✴✝✪✖☎✣❍★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✸✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟❁✤✧✳✏✌✏✝✠✣❍✡☞✝✠✟✱✎✙✤✏✟✮✳ ➔✏✄ ✣✴✎✞✌✏✳✲✡✸✌✏✝✪✃ ✳✞✟✮✣✴✎✴✎✞✌✏✝❃➓✲✖✗✎✞✌☎✎☎➒☎✡☞✝✠✬✞✖☎✁✗✌✏✳✴✖☎✣✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌✏✳✥➣ ✁✗✌✏✄✍★✩✝✪✌✏✝✶✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✗➒✼✛✢✎✙✻☎✟✮✝✠✟☛✎✶✝✶Ð✱✎✙✟✮✝✠✁✗✌✏✟☛✎ ✤✕Û✝�✁�✁� ✭ ❐
Ï✱✡➁★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✞✡✜✁✗➌✙✳✙Ñ ✘✍✄ ✁☎✝✠✎✙✟✮✝❃✡✜✄ ✁☎✝✠✟✮✝✠✁✲✔✮✝❃✡✴✎✙✳❥✣✴✎✙✤✧✝❃✎✙✣✥✝✠✁✲✔✮✳❻✝✠✁✲✔✮✟✮✝❂✎✞✡➁★✠✎✙✣✴✎✞✌☎✎✞✡✥✌☎✎✞✡➁❄✂Ð✱Ï✱✡★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮✄ ❰❃✎✽✣✜Ñ ✁✗✎✞✡✂★✩✳✞✣✥✳➁✃ ✝✠✟✮✟☛✎✙✣✥✝✠✁✞✔☛✎✞✡✱✌✏✝✜✣✥✳✏✌✏✝✠✘✍✎✙✬✞✝✠✣❍✻✗✎✞✡✕✔☛✎✙✁✞✔✮✝✜✎✙✤☎✟✮✳✞✤☎✟✮✄✍✎✞✌☎✎✞✡❁✤✗✎✙✟☛✎➁✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✱✁✗➌✙✳→✘ ✄ ✁☎✝❃✎✽Ñ✟✮✝❃✡✠❐✶✦☎✝✠✟✮✟☛✎✙✣✥✝✠✁✞✔☛✎✞✡✱✤✗✎✙✟☛✎→✎✙✁✗❒✙✘ ✄✍✡☞✝✜✌✏✝✥✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✱✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✂✁☎✳✞✟✮✣✴✎✙✘ ✣✥✝✠✁✲✔✮✝✿✖✏✔✮✄ ✘ ✄ ❰❃✎✙✣❍✔✮✯❃★✩✁☎✄✍★✠✎✞✡✒✌✏✝✜✘ ✄ ✁☎✝❃✎✙✟✮✄ Ñ❰❃✎✞➋✠➌✙✳✗➒➧✔✮✟☛✎✙✁✗✡✕✃ ✳✞✟✮✣✴✎✙✁✗✌✏✳➇✎➊✔☛✎✙✟✮✝✩✃➡✎❂✌✏✝➁★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✥✁✗➌✙✳❂✘ ✄ ✁☎✝❃✎✙✟✪✝✠✣ ✤✧✝❃➓✲✖☎✝✠✁✗✎✞✡✒✔☛✎✙✟✮✝✩✃➡✎✞✡✪✌✏✝→★ ✳✞✁✲✔✮✟✮✳✞✘ ✝✥✘ ✄ ✁☎✝❃✎✙✟❃➒✺✳✞✖✡☞✝ ✄✕✎☎➒✧★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✶✘ ✄ ✁☎✝❃✎✙✟✂✤✼✳✞✟✂✤✗✎✙✟☞✔✮✝❃✡✠❐✂Ï✂✤✼✝❃✡✮✎✙✟✱✌✏✝✿✣✿✖☎✄ ✔☛✎✞✡✂✆✞✝✠❰✠✝❃✡✂✝✫✶✧★✩✄ ✝✠✁✞✔✮✝✞➒✼✝❃✡✮✡✮✎✴✎✙✻✼✳✞✟☛✌☎✎✙✬✙✝✠✣ ✁✗➌✙✳➁✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔ ✎✎✜✟✮✝❃✎✙✘ ✄✍✌☎✎✞✌✏✝✒✌✏✳✲✡❁✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✢✃ ➣✍✡☞✄✍★✩✳✲✡✠➒✏✤✧✳☎✌✏✝✠✁✗✌✏✳✥✟✮✝❃✡☞✖☎✘ ✔☛✎✙✟✸✝✠✣❊✡☞✳✞✘ ✖✗➋✫✴✷✝❃✡✸✡☞✖☎✻✏Ñ ✾✙✔✮✄ ✣✴✎✞✡✠❐
✰✱✳❂✤✼✳✞✁✞✔✮✳❮✌✏✝➁✆✷✄✍✡✕✔☛✎❂✌☎✎➇✣✥✳✏✌✏✝✠✘✍✎✙✬✞✝✠✣❑✌✏✝→✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡✠➒➜✎✞✡➘✔✮✯❃★✩✁☎✄✍★✠✎✞✡✪✁☎✝✠✖☎✟☛✎✙✄✍✡➘✔✢✣✠✣ ✳❮✡☞✝✠✖❻✟✮✝❃✡☞✖☎✘ ✔☛✎✞✌✏✳★✩✳✞✣✥✤✗✎✙✟☛✎✞✌✏✳✴★✩✳✞✣ ✣✥✯✩✔✮✳☎✌✏✳✲✡✂★✩✘✍❒✞✡✮✡☞✄✍★✩✳✲✡✠❐✓➱➑✳✞✟✮✯✠✣➇➒✧✎✙✄ ✁✗✌☎✎✴✁☎➌✙✳➁✯✶✤✧✳✲✡✮✡☞➣ ✆✞✝✠✘✺✡✮✎✙✻✧✝✠✟❃➒✗✌✏✝✶✣✥✳☎✌✏✳✴✬✞✝✠✁☎✯✠✟✮✄✍★✩✳✗➒☎✝✠✣❍➓✲✖☎✝✡☞✄ ✔✮✖✗✎✞➋✫✴✷✝❃✡✿✎❮✎✙✻✼✳✞✟☛✌☎✎✙✬✙✝✠✣ ✤✧✳✞✟✜❄✂Ð✱Ï✱✡✜✯→✣✴✎✙✄✍✡✿✎✽✔✮✟☛✎✽✔✮✄ ✆✙✎❂➓✲✖☎✝→✳✲✡✶✣✥✯✩✔✮✳✏✌✏✳✲✡✶✔✮✟☛✎✞✌✏✄✍★✩✄ ✳✞✁✗✎✙✄✍✡✠❐❂✑✓✡✕✔☛✎✞✡✜✡☞✄ ✔✮✖✗✎✞➋✫✴✷✝❃✡✎✙✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✙✣➇➒☎✌✏✝✪✖☎✣❊✣✥✳✏✌✏✳✥✬✞✝✠✟☛✎✙✘ ➒✏✳✴✤✏✟✮✳✞✻☎✘ ✝✠✣✴✎✥✌✏✝✪✣✥✳☎✌✏✝✠✘✍✎✙✬✞✝✠✣ ✌✏✝✶✡☞✄✍✡✕✔✮✝✠✣✴✎✞✡❁★✩✳✞✣✥✤☎✘ ✝✩➔✏✳✲✡✢✝✪✝❃✡✕✔✮✄ ✣✴✎✽✔✮✄ ✆✙✎✥✌✏✝✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✢★✩✳✞✣ ✬✞✟☛✎✙✁✗✌✏✝✪➓✲✖✗✎✙✁✞✔✮✄✍✌☎✎✞✌✏✝✪✌✏✝✪✆✙✎✙✟✮✄✍❒❃✆✞✝✠✄✍✡✠❐
Ï➲✎✙✻✧✳✞✟☛✌☎✎✙✬✞✝✠✣❬✣✴✎✙✄✍✡❁✖✗✡☞✖✗✎✙✘✚✤✗✎✙✟☛✎✥★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✢✁☎✝✠✖☎✟☛✎✙✄✍✡❁✯✶✎✥✖✏✔✮✄ ✘ ✄ ❰❃✎✞➋✠➌✙✳✴✌✏✝✶✟✮✝❃✌✏✝❃✡✸✁☎✝✠✖☎✟☛✎✙✄✍✡❁★✩✳✞✣✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✞✔✮✳ ✂❁✕✽✼ ✭ ✪ ✟☛✡✯✎✝✂ ➒☎✄✍✡✕✔✮✳✜✯✞➒✏✤☎✟✮✄ ✣✥✝✠✄ ✟✮✳✿✳✥★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✓✁☎✝✠✖☎✟☛✎✙✘➧✎✙✤☎✟✮✝✠✁✗✌✏✝➘✎✞✡✸★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✙✡✢✌☎✎✿✤☎✘✍✎✙✁✞✔☛✎✿✝✌✏✳✴★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟✠➒✷✤✗✎✙✟☛✎☎➒✏✡☞✳✞✣✥✝✠✁✲✔✮✝✪✌✏✝✠✤✧✳✞✄✍✡✂✌✏✝➘✔✮✟✮✝✠✄ ✁✗✎✞✌✏✳✗➒✏✤✗✎✞✡✮✡✮✎✙✟❁✎✥★✩✳✞✁✞✔☛✟✮✳✞✘✍✎✙✟✸✎✜✤☎✘✍✎✙✁✲✔☛✎✜✟✮✝❃✎✙✘ ❐
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u
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�✂✁ ✄✆☎✞✝✟✄✡✠☞☛✆✌✎✍✑✏ ☎✓✒✔✄✆✕

�✂✁ ✄✆☎✞✝✟✄✡✠☞☛✆✌✎✍✑✏ ☎✓✒✔✄✆✕

✖✘✗✚✙✓✗✜✛✘✗✚✢✓✣✥✤✆✦★✧

✖✘✗✚✙✓✗✩✛✪✗✚✢✓✣✥✤✆✦★✧

✫✬✤✆✭✥✭✥✮✯✧✱✰✳✲✴✙✓✗✚✵✞✶✥✷ ✸✺✹✔✤✆✻✔✼✆✮

y∗

y∗

✖✘✗✚✙✓✗✩✛✪✗✽✢✺✣✥✤✆✦✿✾

✖✘✗✚✙✓✗✩✛✘✗✚✢✺✣✥✤✆✦✿✾

�✬✄✆❀✥❀✥✌✎❁❃❂❅❄✪✒✽✝✥✒✚✕✥❆❇✏ ☎❈✄✆❉✚☛✆✌❋❊✓✌❍●✳✌✱☎✞✝✥✕■✌✱✁ ✄✆❊✺✌✱✕

e2

✫✿✤✆✭✥✭✥✮✡❏❑✰✳▲✳✮✱✵✞✶✟✣■✮✱✦ ✗

y

✦➜✄ ✬✞✖☎✟☛✎➘Ù✏❐ ✣✗✖✚�✂✣✴✎✱➱➑✳✲✡✮✡☞➣ ✆✙✝✠✘✷Ï✂✻✼✳✞✟☛✌☎✎✙✬✞✝✠✣✐➱❡✎✙✟☛✎✂Ó✕✌✏✝✠✁✞✔✮✄ ✶✧★✠✎✞➋✠➌✙✳✱✝✂✛✓✳✞✁✲✔✮✟✮✳✞✘ ✝✓✌✏✝✢➱✫✘✍✎✙✁✲✔☛✎➘�✱✡✮✎✙✁✗✌✏✳➘❄❁✝❃✌✏✝✸Ð✂✝✠✖☎✟☛✎✙✘ ❐
✯ ✤☎✟✮✄ ✣✥✝✠✄ ✟✮✳❮✤✗✎✞✡✮✡☞✳➏★✩✳✞✁✗✡☞✄✍✡✕✔✮✝→✌✏✝→✖☎✣✴✎❮✟✮✝❃✌✏✝➊★✩✳✞✘ ✳✏★✠✎✞✌☎✎➇✝✠✣⑧✤✗✎✙✟☛✎✙✘ ✝✠✘ ✳❮★✩✳✞✣⑧✎❮✤☎✘✍✎✙✁✞✔☛✎❮✝➁✔✮✟✮✝✠✄ ✁✗✎✞✌☎✎✤✗✎✙✟☛✎✴✎✙✤☎✟✮✳ ➔✏✄ ✣✴✎✙✟✂✡☞✝✠✖❮✣✥✳✏✌✏✝✠✘ ✳✗➒✧✎→✦➜✄ ✬✗❐ Ù✏❐ ✤✜✣✥✳✲✡✕✔✮✟☛✎✴✳→✡☞✄✍✡✕✔✮✝✠✣✴✎➁★✩✳✞✣❊✣✴✎✙✄✍✡✱✌✏✝✩✔☛✎✙✘ ✭☎✝❃✡✠❐✰✯ ✱✢✘ ✳✏★✩✳→★☛✭✗✎✙✣✴✎✞✌✷✳→✌✏✝❄❁✝❃✌✏✝✪Ð✂✝✠✖☎✟☛✎✙✘❡Û✒✔✮✝✠✣❊✎✿✃ ✖☎✁✗➋✠➌✙✳✴✌✏✝✪✟✮✝✠✤✏✟✮✝❃✡☞✝✠✁✲✔☛✎✙✟✸✳✥✣✴✎✙✤✗✎

ŷ(k + 1) = RN1[y(k), y(k − 1), . . . , y(k − ℓ0 + 1),

u(k), u(k − 1), . . . , u(k − ℓ1 + 1)].
✤ Ù✏❐ ✤✏Û ✭

RN1
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✂✖☎✣✴✎✱✟✮✝❃✌✏✝✢✁☎✝✠✖☎✟☛✎✙✘✷★✩✳✞✣

ℓ0+ℓ1
✝✩✁✲✔✮✟☛✎✞✌☎✎✞✡✺✝✢✖☎✣✴✎➘✡✮✎✙➣➐✌✏✎☎➒ ✔✮✟✮✝✠✄ ✁✗✎✞✌☎✎✂✤✗✎✙✟☛✎✱✎✙✤☎✟✮✳ ➔✏✄ ✣✴✎✙✟✺✳➘✣✴✎✙✤✗✎➓✲✖☎✝✪✌✏✝❃✡✮★✩✟✮✝✠✆✙✝✒✎✜✤☎✘✍✎✙✁✞✔☛✎✜✁✗➌✙✳✜✘ ✄ ✁☎✝❃✎✙✟❃❐✒✸✱✖✗✎✙✁✗✌✏✳✜✳✜✝✠✟✮✟✮✳

e1(k)
➒✏✝✠✁✲✔✮✟✮✝

y(k)
✝

ŷ(k)
➒✏✔✮✳✞✟✮✁✗✎✽Ñ ✡☞✝➘✡☞✖✛✶✧★✩✄ ✝✠✁✞✔✮✝✠✣✥✝✠✁✲✔✮✝✤✧✝❃➓✲✖☎✝✠✁☎✳✗➒✏✝✠✁✗★✩✝✠✟✮✟☛✎✽Ñ ✡☞✝✱✳✴✤☎✟✮✄ ✣✥✝✠✄ ✟✮✳✜✤✗✎✞✡✮✡☞✳✗❐

✯ ✡☞✝✠✬✞✖☎✁✗✌✏✳❂✤✗✎✞✡✮✡☞✳❮★✩✳✞✁✗✡☞✄✍✡✕✔✮✝➁✁☎✳❮✝✠✣✥✤☎✟✮✝✩✬✞✳❮✌✏✝→✖☎✣✴✎❮✡☞✝✠✬✞✖☎✁✗✌☎✎➇✟✮✝❃✌✏✝➁✁☎✝✠✖☎✟☛✎✙✘ ➒➑★☛✭✗✎✙✣✴✎✞✌☎✎❂✌✏✝→❄❁✝❃✌✏✝Ð✂✝✠✖☎✟☛✎✙✘✺Ù✏➒☎➓✲✖☎✝✒✤✼✳✲✡✮✡☞✖☎✄✚✡☞✖✗✎✥✡✮✎✙➣✍✌☎✎✜✎✙✘ ✄ ✣✥✝✠✁✲✔☛✎✙✁✗✌✏✳✴❄✂Ð✶Û✞➒✏✳✞✻✏✔✮✄➐✌✏✎✥✁☎✳✥✤✗✎✞✡✮✡☞✳✥✎✙✁✲✔✮✝✠✟✮✄ ✳✞✟
u(k + 1) = RN2[ŷ(k), ŷ(k − 1), . . . , ŷ(k − ℓ2 + 1),

u(k − 1), u(k − 2), . . . , u(k − ℓ3 + 1), y∗(k + d)].
✤ Ù✏❐ ✤✞Ù✹✭

RN2
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✿✖☎✣✴✎✥✟✮✝❃✌✏✝✒✁✏✝✠✖☎✟☛✎✙✘✚★✩✳✞✣

ℓ2 + ℓ3
✝✠✁✲✔✮✟☛✎✞✌☎✎✞✡✢✝✒✖☎✣✴✎✥✡✮✎✙➣✍✌☎✎☎➒✷✔✮✟✮✝✠✄ ✁✗✎✞✌☎✎✿✤✗✎✙✟☛✎✜✎✙✤☎✟✮✳ ➔✏✄ ✣✴✎✙✟✸✎✜✘ ✝✠✄✌✏✝✥★✩✳✞✁✞✔✮✟✮✳✞✘ ✝✞➒

d
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎➁✳➊✎✽✔✮✟☛✎✞✡☞✳→✌☎✎➁✤☎✘✍✎✙✁✲✔☛✎➁✝

y∗
✯✜✎➁✔✮✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎➁✌✏✝✜✟✮✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎❐

RN2
✯✶✔✮✟✮✝✠✄ ✁✗✎✞✌☎✎→✌✏✝✣✥✳✏✌✏✳➊➓✲✖☎✝✿✳➁✝✠✟✮✟✮✳

e2(k)
➒✼✝✠✁✲✔✮✟✮✝

y(k)
✝

ŷ(k)
➒✧✔✮✳✞✟✮✁☎✝✩Ñ ✡☞✝✿✡☞✖ ✶✧★✩✄ ✝✠✁✲✔✮✝✠✣✥✝✠✁✲✔✮✝✜✤✧✝❃➓✲✖☎✝✠✁☎✳✗❐✲✯q✳✞✻ ✄ ✝✩✔✮✄ ✆✞✳→✯✶✔✮✟✮✝✠✄ ✁✗✎✙✟

RN2
✤✗✎✙✟☛✎➘✖☎✣♦✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌✏✳✶★✩✳✞✁✝✄ ✖☎✁✞✔✮✳✿✌✏✝✸✔✮✟☛✎✆✄ ✝✩✔✮✾✞✟✮✄✍✎✞✡✠❐➜Ï ✦➜✄ ✬✗❐ Ù✏❐ ✮➘✣✥✳✲✡✕✔✮✟☛✎➘✳✶✡☞✝✠✬✞✖☎✁✗✌✏✳✒✤✗✎✞✡✮✡☞✳✪★✩✳✞✣q✣✴✎✙✄ ✳✞✟✮✝❃✡✌✏✝✩✔☛✎✙✘ ✭☎✝❃✡✠❐
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★
Delay ✩★

Delay ✩

u(k)
y(k)

ŷ(k + 1) ★
Delay ✩ ŷ(k)

e1(k)

✪
✫
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✽
Delay ✾ ✽

Delay ✾

✽
Delay ✾

y∗(k + d)
u(k) ŷ(k)

e2(k)
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RN2 ❢ ❅✙❫✆❈❆❚✮❈❝▲✒❖❣❳✛❙❆P✎❞✔❅✮P❨◆✆❙
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❏❝❈❯◆✆❙❆❪✡❙❆❩ ❙❆❄❆❂❬❈❋♠✙♥❆❫✖❂❬❳✒❈❯❖❋❙❨❫✔◆✆❇❉❈❆❚✮❈♦❈❆❳✴❂ ❖❯❈✮❡✙♣q❙❆❇❉❈✸❖r❚✂▲✒❇✆❂ s✸❈❆❚✂❙❨❫❲❚✂▲✒❦✒▲✒P✙❈❆❫❝❚✂▲✐❳✴❙❆P❨◆✆❇✆❙❆❩❬❈❆❚✂❙❆❇✖▲❭❫tP✮▲✒❅✮❇❉❈✸❂❬❫
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✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄✍✎✞✡✩➒✽➓✲✖☎✝✸✯✸✆✙✳✞✘ ✔☛✎✞✌☎✎✱✝✠✣q✌✏✄ ✟✮✝❃➋✠➌✙✳➘✎✙✳➘✟✮✝✩✃ ✳✞✟☛➋✩✳➘✌☎✎✱✻☎✖✗✡✮★✠✎✒✌✷✝✸✤✼✳✞✁✞✔✮✳✲✡➑✌✏✝ ✦✕✎✙✘ ✔☛✎➘✎✙✤✏✔✮✄✍✌☎➌✙✳ ✬☛➒✽✳✞✖✜✡☞✝ ✄✕✎☎➒✙✤✧✳✞✁✲✔✮✳✲✡✁☎✳✲✡✢➓✲✖✗✎✙✄✍✡✓✎✪✃ ✖☎✁✗➋✠➌✙✳✜✎✿✡☞✝✠✟✓✣✥✄ ✁☎✄ ✣✥✄✍❰✠✎✞✌☎✎ ✤ ✳✞✖→✣✴✎✽➔✏✄ ✣✥✄ ❰❃✎✞✌☎✎ ✭➜✔✮✝✠✣❬✆✽✎✙✘ ✳✞✟✮✝❃✡✫✟✮✝✠✘✍✎✽✔✮✄ ✆✽✎✙✣✥✝✠✁✲✔✮✝✂✻✗✎✙✄ ➔✏✳✲✡ ✤ ✳✞✖➊✎✙✘ ✔✮✳✲✡ ✭ ❐

Ï✂✤✧✝❃✡✮✎✙✟✱✌✏✝✶✝✩✔☛✎✙✤✗✎✞✡✂✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄✍✎✞✡✠➒✏✝✠✘✍✎✞✡✂✁✗➌✙✳➁✡✮➌✙✳✥✁☎✝❃★✩✝❃✡✮✡✮✎✙✟✮✄✍✎✙✣✥✝✠✁✲✔✮✝✪★✠✎✙✣✥✄ ✁☎✭✗✎✞✌☎✎✞✡❁✁✗➌✙✳➁✌✏✄ ✟✮✝❃★✩✄ ✳✞✁✗✎✞✌☎✎✞✡
✤ ✻☎✖✗✡✮★✠✎✶★✩✝✠✬✲✎ ✭ ➒✲✤✧✳✞✄✍✡✫✝✩➔✏✤☎✘ ✳✞✟☛✎✙✣♦✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋✫✴✷✝❃✡❡✭☎✄✍✡✕✔✮✾✞✟✮✄✍★✠✎✞✡❡✤✗✎✙✟☛✎✪✝✠✁✗★✩✳✞✁✞✔✮✟☛✎✙✟✓✁☎✳ ✆✞✳✲✡✫✤✧✳✞✁✲✔✮✳✲✡✓✌✏✝✱✻☎✖✗✡✮★✠✎✪✳✞✁✗✌✏✝✱✡✮➌✙✳✝❃✡☞✤✧✝✠✟☛✎✞✌✏✳✲✡✫✣✥✝✠✘ ✭☎✳✞✟✮✝❃✡✢✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✲✡✠❐➑Ó✕✡✕✔✮✳✜✯✱✃ ✝✠✄ ✔✮✳✥✎✽✔✮✟☛✎ ✆✞✯❃✡✓✌✏✝➘✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✲✡✫✄ ✔✮✝✠✟☛✎✽✔✮✄ ✆✞✳✲✡✠➒✲✳✞✁✗✌✏✝✒★✠✎✞✌☎✎✶✄ ✔✮✝✠✟☛✎✞➋✠➌✙✳✶✯★✮✭✗✎✙✣✴✎✞✌☎✎✜✌✏✝✒✬✞✝✠✟☛✎✞➋✠➌✽✳✗❐➑✰✱✖☎✟☛✎✙✁✞✔✮✝✪★✠✎✞✌☎✎✿✄ ✔✮✝✠✟☛✎✞➋✠➌✙✳✗➒✲✳✲✡✢✤☎✟✮✄ ✁✗★✩➣ ✤☎✄ ✳✲✡✸✌✏✝✒✡☞✝✠✘ ✝❃➋✠➌✙✳✜✝➘✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✜✡✮➌✙✳✜✎✙✤☎✘ ✄✍★✠✎✞✌✏✳✲✡✸✎✖☎✣✴✎✜✤✼✳✞✤✏✖☎✘✍✎✞➋✠➌✙✳✥✌✏✝✶★✠✎✙✁✗✌✏✄✍✌☎✎✽✔✮✳✲✡✠❐

Ï✢✔✮✟☛✎❃✆✞✯❃✡✫✌☎✎✶✡☞✝✠✘ ✝❃➋✠➌✙✳✗➒✞✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✽Ñ ✡☞✝✂➓✲✖✗✎✙✄✍✡❡✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✲✡✓★✩✳✞✁✗✡☞✝✠✬✞✖☎✄ ✟☛➌✙✳✪✡☞✝❁✟✮✝✠✤☎✟✮✳☎✌✏✖✏❰✠✄ ✟❃➒✞✬✞✝✠✟☛✎✙✁✗✌✏✳✒✖☎✣✁ ✚☎✣✥✝✠✟✮✳➘✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌✏✳➘✌✏✝✸✌✏✝❃✡✮★✩✝✠✁✗✌✏✝✠✁✲✔✮✝❃✡✺✤✗✎✙✟☛✎✱✎✂✤☎✟✮✾ ➔✏✄ ✣✴✎❁✬✞✝✠✟☛✎✞➋✠➌✙✳☎➒✽★✩✳✞✣▼✖☎✣✴✎✱✤☎✟✮✳✞✻✗✎✙✻✏✄✍✘ ✄✍✌☎✎✞✌✏✝✓✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌☎✎✤✧✝✠✘ ✳➊✡☞✝✠✖❂➣ ✁✗✌✏✄✍★✩✝✜✌✏✝✜✎✙✤✏✔✮✄✍✌☎➌✙✳✗❐✂✑✫✣ ✳✞✖✏✔✮✟☛✎✞✡❁✤✗✎✙✘✍✎ ✆✷✟☛✎✞✡✩➒✗✳✲✡✂✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✲✡➘★✩✳✞✣❊✣✴✎✙✄ ✳✞✟➘✎✞✌☎✎✙✤✏✔☛✎✞➋✠➌✙✳✴✟✮✝✠✘✍✎✽✔✮✄ ✆✽✎✥✔✢✣✠✣✣✴✎✙✄ ✳✞✟✮✝❃✡✸★✮✭✗✎✙✁✗★✩✝❃✡❁✌✏✝✶✡☞✝✒✟✮✝✠✤☎✟✮✳☎✌✏✖✏❰✠✄ ✟❃❐
✯ ✤✧✳✞✁✲✔✮✳➏✌✏✝→✤✗✎✙✟☞✔✮✄✍✌☎✎❂✤✗✎✙✟☛✎❮✎❂✖✏✔✮✄ ✘ ✄ ❰❃✎✞➋✠➌✙✳➏✌✏✝➊Ï✂✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡ ✘➘✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✠➒❡★✩✳✞✣✥✳❂✃ ✝✠✟✮✟☛✎✙✣✥✝✠✁✲✔☛✎➇✤✗✎✙✟☛✎✡☞✳✞✘ ✖✗➋✠➌✙✳✱✌✏✝✸✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✠➒ ✯✸✎✱✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞➋✠➌✙✳✱✌✏✝❃✡✕✔✮✝❃✡➑✌✏✝✢✣✴✎✙✁☎✝✠✄ ✟☛✎✱➓✲✖☎✝✢✳✲✡

AGs
✤✧✳✲✡✮✡✮✎✙✣✐✔✮✟☛✎✙✻✗✎✙✘ ✭✗✎✙✟➑✎✞✌✏✝❃➓✲✖✗✎✞✌☎✎✽Ñ✣✥✝✠✁✞✔✮✝❁✡☞✳✞✻☎✟✮✝✓✝✠✘ ✝❃✡✠❐➜Ï❨✣✴✎✙✄ ✳✞✟✮✄✍✎✂✌☎✎✞✡➜✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞➋✫✴✏✝❃✡✺✡✮➌✙✳✱✬✞✝✩✁☎✳✙✔✮➣✍✤✏✄➐★✩✎✞✡✺✝✢✖✏✔✮✄✍✘ ✄ ❰❃✎✙✣●✆✞✝✩✔✮✳✞✟✮✝❃✡✺✌✏✝✢✔☛✎✙✣✴✎✙✁☎✭☎✳ ✶✗✁☎✄ ✔✮✳✝✠✣ ✖✏✣❊✎✙✘ ✃➡✎✙✻✼✝✩✔✮✳ ✶✗✁☎✄ ✔✮✳✗❐

Ø✺✟☛✎✞✌✏✄✍★✩✄ ✳✞✁✗✎✙✘ ✣✥✝✠✁✲✔✮✝✪✳✲✡❁✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✲✡✱✡✮➌✙✳✴✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞✌✏✳✲✡✸✬✞✝✠✁☎✳✙✔✮✄ ✤☎✄✍★✠✎✙✣✥✝✠✁✲✔✮✝✪✤✼✳✞✟✂✆✞✝✩✔✮✳✞✟✮✝❃✡✸✻☎✄ ✁✗❒✙✟✮✄ ✳✲✡✠➒✳✞✁✗✌✏✝✱★✠✎✞✌☎✎✪✝✠✘ ✝✠✣✥✝✠✁✞✔✮✳✜✌✏✝✂✖☎✣ ✆✞✝✩✔✮✳✞✟✢✌✏✝✠✁☎✳✙✔☛✎✶✎✪✤☎✟✮✝❃✡☞✝✠✁✗➋✠✎ ✤✕Û ✭❡✳✞✖➁✎✙✖✗✡✵✣✠✁✗★✩✄✍✎ ✤➡Ú ✭❡✌✏✝✱✖☎✣✴✎✶✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌☎✎✶★✠✎✙✟☛✎✞★ Ñ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎ ✖✺✳✶✡☞✝✠✖✴✬✞✝✠✁☎✾✙✔✮✄ ✤✧✳✗❐ ✯➘✡❡✝✠✘ ✝✠✣✥✝✠✁✞✔✮✳✲✡✫✤✧✳☎✌✏✝✠✣♦✡☞✝✠✟✓★✩✳✞✣✿✻☎✄ ✁✗✎✞✌✏✳✲✡➜✃ ✳✞✟✮✣✴✎✙✁✗✌✏✳✶✎✞✡✫★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✙✡➑✟✮✝❃✎✙✄✍✡❡✌✏✳✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✗➒✧✳✞✖➇✳→✡☞✝✠✖➇✃ ✝✠✁☎✾✙✔✮✄ ✤✼✳✗❐❁Ø✺✝✠✳✞✟✮✄✍★✠✎✙✣✥✝✠✁✲✔✮✝✞➒✗✝❃✡✕✔☛✎✥✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞➋✠➌✙✳✥✯✶✄ ✁✗✌✏✝✠✤✧✝✠✁✗✌✏✝✠✁✲✔✮✝✜✌✏✳➁✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎☎➒☎✤✼✳✞✄✍✡✖☎✣✴✎✂✆✞✝✠❰✓✝✠✁✗★✩✳✞✁✲✔✮✟☛✎✞✌☎✎✂✎✂✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞➋✠➌✙✳❁✝✠✣●✆✞✝✩✔✮✳✞✟✮✝❃✡✚✻☎✄ ✁✗❒✙✟✮✄ ✳✲✡✠➒✽✎✞✡✺✳✞✤✧✝✠✟☛✎✞➋✫✴✷✝❃✡✕Ñ ✤✗✎✙✌✏✟☛➌✽✳✂✤✧✳✏✌✏✝✠✣➲✡☞✝✠✟➜✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✞✡✠➒✃➡✎✞★✩✄ ✘ ✄ ✔☛✎✙✁✗✌✏✳✥✳✴✡☞✝✠✖➊✝✠✣✥✤☎✟✮✝✠✬✞✳✥✝✠✣ ✌✏✄ ✃ ✝✠✟✮✝✠✁✲✔✮✝❃✡✂★✩✘✍✎✞✡✮✡☞✝❃✡✸✌✏✝✒✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✠❐
✯ ✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳➏✬✞✝✠✁☎✯✩✔✮✄✍★✩✳❥★✩✘✍❒✞✡✮✡☞✄✍★✩✳➏✖✏✔✮✄ ✘ ✄✍❰✠✎❥★✠✎✞✌✏✝✠✄✍✎✞✡✜✻☎✄ ✁✗❒✙✟✮✄✍✎✞✡✜✤✗✎✙✟☛✎➏✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✙✟✴✎✞✡✜✆✙✎✙✟✮✄✍❒❃✆✞✝✠✄✍✡✜✌✏✝✻☎✖✗✡✮★✠✎☎❐ ✑✓✡✕✔☛✎✞✡➇★✠✎✞✌✏✝✠✄✍✎✞✡→✻☎✄ ✁✗❒✙✟✮✄✍✎✞✡➊✡✮➌✙✳❨✌✷✝✠✁☎✳✞✣✥✄ ✁✗✎✞✌☎✎✞✡➊✌✏✝❻★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✩➒✱❀❂✄✍★☛✭✗✎✙✘ ✝✝✁❁✄✍★✩❰ ✤✕Û✝�✁�✁� ✭ ❐ ✯

AG✔✮✟☛✎✙✻✗✎✙✘ ✭✗✎❁★✩✳✞✣▼✖☎✣✴✎✂✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✂✌✏✝✸★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡ ✤ ✳✞✖✪✄✍✁☎✌✏✄ ✆✏➣✍✌✏✖✏✳✲✡ ✭✩➒✽★✠✎✞✌☎✎❁✖☎✣▼✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✙✁✗✌✏✳❁✖☎✣✴✎✂✤✧✳✲✡✮✡☞➣✍✆✙✝✠✘✡☞✳✞✘ ✖✗➋✠➌✙✳✒✤✗✎✙✟☛✎➘✳✪✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✒✝✠✣ ➓✲✖☎✝❃✡✕✔☛➌✙✳✗➒✙✝✂✤✧✳✲✡✮✡☞✖☎✄ ✁✗✌✏✳✪✖☎✣♦✆✽✎✙✘ ✳✞✟✫✌✏✝✱✎✞✌☎✎✙✤✏✔☛✎✞➋✠➌✙✳✗➒✙✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌✏✳✪✤✧✝✠✘✍✎✒✃ ✖☎✁☎➋✠➌✙✳✌✏✝➁✎✙✤✏✔✮✄➐✌✏➌✙✳✗➒➑➓✲✖☎✝✴✄ ✁✗✌✏✄✍★✠✎❮✎❂➓✲✖✗✎✙✘ ✄✍✌☎✎✞✌✏✝➁✌☎✎❂✡☞✳✞✘ ✖✗➋✠➌✙✳✗❐➁✑✫✣❧✖☎✣ ✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎➇✌✏✝➁✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳✗➒✺✳❮Ï✍✘❊✳✞✻ ✄ ✝✩✔✮✄ ✆✙✎✣✴✎✽➔✏✄ ✣✥✄ ❰❃✎✙✟❁✎✿✃ ✖☎✁✗➋✠➌✙✳✴✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑ ❐
✵✷✖☎✤✧✳✞✁☎✭✗✎❂➓✲✖☎✝✴✡☞✝➁✌✷✝❃✡☞✝ ✄✕✎➇✣✴✎✽➔✏✄ ✣✥✄ ❰❃✎✙✟✒✖☎✣✴✎➊✃ ✖☎✁✗➋✩➌✙✳❮✌✏✝

k
✆✽✎✙✟✮✄➐❒❃✆✞✝✠✄✍✡✠➒

f(x1, · · · , xk)
✖
Rk → R

➒✺✝➓✲✖☎✝✶★✠✎✞✌☎✎✜✆✙✎✙✟✮✄✍❒❃✆✞✝✠✘
xi

✤✧✳✲✡✮✡✮✎✥✎✞✡✮✡☞✖☎✣✥✄ ✟❁✆✽✎✙✘ ✳✞✟✮✝❃✡✸✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✙✎✙✘ ✳
Di = [ai, bi] ⊆ R

✝
f(x1, · · · , xk) > 0

✤✗✎✙✟☛✎✔✮✳✏✌✏✳
xi ∈ Di

❐➑➱❡✎✙✟☛✎✶✳✞✻✏✔✮✝✠✟☞Ñ ✡☞✝✱✖☎✣✴✎✿✤☎✟✮✝❃★✩✄✍✡✮➌✙✳✜✌✷✝ ✮✜★✩✎✞✡✮✎✞✡✢✌✏✝❃★✩✄ ✣✴✎✙✄✍✡✠➒✏★✠✎✞✌☎✎✶✄✍✁✞✔✮✝✠✟✮✆✙✎✙✘ ✳
Di

✌✏✝✠✆✞✝✒✡☞✝✠✟✸✌✏✄ ✆✷✄✍✌✏✄✍✌✏✳✝✠✣
(bi − ai) · 106 ✤✗✎✙✟☞✔✮✝❃✡✱✄ ✬✞✖✗✎✙✄✍✡✠❐✒✵✷✝ ✄✕✎

mi

✳→✣✥✝✠✁☎✳✞✟✱✄ ✁✲✔✮✝✠✄ ✟✮✳➁✔☛✎✙✘➑➓✲✖☎✝
(bi − ai) · 106 ≤ 2mi − 1

❐➘✑✫✁✲✔☛➌✙✳✎✿✟✮✝✠✤☎✟✮✝❃✡☞✝✩✁✲✔☛✎✞➋✠➌✙✳✿✌✏✝✒★✠✎✞✌☎✎✶✆✙✎✙✟✮✄✍❒ ✆✙✝✠✘
xi

✤✧✳✞✟✸✖☎✣✴✎✜★✠✎✞✌✏✝✠✄✍✎✶✻☎✄ ✁✗❒✙✟✮✄✍✎✿✌✏✝✪★✩✳✞✣✥✤☎✟✮✄ ✣✥✝✠✁✞✔✮✳
mi

✡✮✎✽✔✮✄✍✡✕✃➡✎✙❰➘✎✿✤☎✟✮✝❃★✩✄✍✡✮➌✙✳✟✮✝❃➓✲✖☎✝✠✟✮✄✍✌☎✎☎❐➑Ï●✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝➘✃ ✾✞✟✮✣✿✖☎✘✍✎✥★ ✳✞✁✷✆✞✝✠✟☞✔✮✝➘✳➁★✩✾✏✌✏✄ ✬✞✳✜✻☎✄ ✁✗❒✙✟✮✄ ✳✴✌✏✝✒✖☎✣✴✎✥✆✽✎✙✟✮✄✍❒ ✆✞✝✠✘✧✤✗✎✙✟☛✎✜✳✴✡☞✝✠✖➊✆✙✎✙✘ ✳✞✟✸✟✮✝❃✎✙✘ ✖
xi = ai + decimal(100 · · · 01012) ·

bi − ai

2mi − 1

✤ Ù✏❐ ✤✱✢ ✭
✳✞✁✗✌✏✝✪✎✿✃ ✖☎✁✗➋✠➌✙✳

decimal(·) ✟✮✝✩✔✮✳✞✟✮✁✗✎✿✳✥✆✙✎✙✘ ✳✞✟❁✌✷✝❃★✩✄ ✣✴✎✙✘✺✌☎✎✥★✠✎✞✌✏✝✠✄✍✎✜✻☎✄ ✁✗❒✙✟✮✄✍✎☎➒✏❀❂✄✍★☛✭✗✎✙✘ ✝✝✁❁✄✍★✩❰ ✤✕Û✝�✁�✁� ✭ ❐
✛✓✳✞✣❬✄✍✡✮✡☞✳✗➒✷★✠✎✞✌☎✎✿★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳ ✤➡✡☞✳✞✘ ✖✗➋✠➌✙✳✶✤✼✳✲✡✮✡☞➣ ✆✞✝✩✘ ✭❡✯➘✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞✌✏✳✿✤✧✳✞✟✢✖☎✣✴✎✜★✠✎✞✌✏✝✠✄✍✎✶✻☎✄ ✁✗❒✙✟✮✄✍✎✿✌✏✝★✩✳✞✣✥✤☎✟✮✄ ✣✥✝✠✁✞✔✮✳

m = Σk
i=1mi

☞✼✳✲✡✂✤☎✟✮✄ ✣✥✝✠✄ ✟✮✳✲✡
m1

✻☎✄ ✔☛✡✱✟✮✝✠✤☎✟✮✝❃✡☞✝✩✁✲✔☛✎✙✣❊✖✏✣❍✆✙✎✙✘ ✳✞✟
x1
✌✏✝✫✶✗✁☎✄✍✌✏✳→✝✠✣

[a1, b1]
➒✼✳



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✙Ú
✤☎✟✮✾❃➔✏✄ ✣✥✳✒✬✞✟✮✖☎✤✧✳✒✌✏✝

m2
✻☎✄ ✔☛✡➑✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✙✣●✖☎✣q✆✙✎✙✘ ✳✞✟

x2
✌✏✝✫✶✗✁☎✄✍✌✏✳✒✝✠✣

[a2, b2]
➒✞✝❁✎✞✡✮✡☞✄ ✣➲✤✧✳✞✟✫✌✏✄✍✎✙✁✲✔✮✝✞➒✞✦➜✄ ✬✗❐ Ù✏❐ ✩✷❐

0000 11111 · · ·· · ·· · ·· · ·(x1, x2, · · · , xn) =⇒

x1 x2 xn

✦➜✄ ✬✞✖☎✟☛✎✴Ù✏❐ ✩ ✖✓✛✓✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳✥✌☎✎✞✡✸Õ✫✎✙✟✮✄✍❒❃✆✞✝✠✄✍✡✸✌✏✝✳✱✢✖✗✡✮★✠✎☎❐
✑✫✣ ✬✞✝✠✟☛✎✙✘ ➒✧✳✲✡✱✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✂✬✞✝✠✁☎✯ ✔☛✄✍★✩✳✲✡❁✔✮✟☛✎✽✔☛✎✙✣❍★✩✳✞✣❍✤✼✳✞✤☎✖☎✘✍✎✞➋✫✴✷✝❃✡✱★✩✳✞✁✞✔✮✝✠✁✗✌✏✳→✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳ ✶☎➔✏✳➊✌✏✝★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡✠❐✢Ï➲✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✥✄ ✁☎✄✍★✩✄✍✎✙✘✺✯✿★✩✳✞✁✗✡✕✔✮✄ ✔✮✖☎➣✍✌☎✎➁✌✏✝✿★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡❁★✩✖✝✄ ✳✲✡❁✻☎✄ ✔☛✡➘✡✮➌✙✳✴✬✞✝✠✟☛✎✞✌✏✳✲✡❁✎✙✘ ✝❃✎✽✔✮✳✞✟✮✄✍✎ Ñ✣✥✝✠✁✞✔✮✝✞❐✥✑✫✁✞✔✮✟✮✝✩✔☛✎✙✁✲✔✮✳✗➒✺✡☞✝✥✝✩➔✏✄✍✡✕✔✮✝✥✎✙✘ ✬✞✖☎✣✴✎→✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋✠➌✙✳✙✁ ✓ ✄✒✟✷✕☎✄✒✟➘✡☞✳✞✻☎✟✮✝✜✎➊✟✮✝✠✬✞✄✍➌✙✳➊➓✲✖☎✝✴★✩✳✞✁✞✔✮✯✠✣❑✎✞✡➘✤✼✳✲✡✮✡☞➣ ✆✙✝✠✄✍✡✡☞✳✞✘ ✖✗➋✫✴✷✝❃✡✢✾✙✔✮✄ ✣✴✎✞✡✠➒✏✝❃✡✕✔☛✎✜✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋✠➌✙✳✜✤✧✳☎✌✏✝✪✡☞✝✠✟❁✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✜✁✗✎✥✡☞✖✗✎✜✬✞✝✠✟☛✎✞➋✠➌✙✳☎❐
Ï✱✡✜✻☎✖✗✡✮★✠✎✞✡✜✤✧✳✞✟✥✣✥✝✠✘ ✭☎✳✞✟✮✝❃✡✜✡☞✳✞✘ ✖✗➋✫✴✷✝❃✡✜✡✮➌✙✳➏✟✮✝❃✎✙✘ ✄ ❰❃✎✞✌☎✎✞✡✶✤✧✳✞✟✥✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✮✝❃✡✶✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✠➒➑✔✮✄ ✤☎✄✍★✠✎✙✣✥✝✠✁✲✔✮✝✟✮✝❃★✩✳✞✣✶✻☎✄ ✁✗✎✞➋✠➌✙✳ ✤✆✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄ ✭✿✝→✣✿✖✏✔☛✎✞➋✠➌✙✳✗❐ ✯ ✤☎✟✮✳☎★✩✝❃✡✮✡☞✳❮✌✏✝➊✎✙✤☎✘ ✄✍★✠✎✞➋✠➌✙✳❮✌✏✝❃✡✕✔✮✝❃✡✿✳✞✤✼✝✠✟☛✎✞✌✏✳✞✟☞✝❃✡✪✯➊★☛✭✗✎✙✣✴✎✞✌✏✳➏✌✏✝✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✗❐❨Ï✂✤✧✾✲✡➁✎❽✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳☎➒✓✳✲✡✥★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✞✡✥✌☎✎❽✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳❽✟✮✝❃✡☞✖☎✘ ✔☛✎✙✁✲✔✮✝➇✌✏✝✠✆✞✝✠✣❴✡☞✝✠✟✴✎ ✆✽✎✙✘ ✄✍✎✞✌✏✳✲✡✎✽✔✮✟☛✎❃✆✞✯❃✡✺✌☎✎✸✃ ✖☎✁✗➋✠➌✙✳➘✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑ ❐ ✯➘✡✺★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✞✡✚➓✲✖☎✝✓✤✗✎✞✡✮✡✮✎✙✟☛➌✙✳❁✤✗✎✙✟☛✎❁✎✂✤☎✟✮✾ ➔✏✄ ✣✴✎❁✬✞✝✠✟☛✎✞➋✠➌✽✳✂✡✮➌✙✳✱✡☞✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✞✌✏✳✲✡✎✙✘ ✝❃✎✽✔✮✳✞✟✮✄✍✎✙✣✥✝✠✁✞✔✮✝✴✌✏✝→✎✞★✩✳✞✟☛✌✏✳❂★✩✳✞✣ ✳✲✡✶✡☞✝✠✖✗✡✶✆✽✎✙✘ ✳✞✟✮✝❃✡✪✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑ ➒✺✳✞✖➃✡☞✝ ✄✕✎☎➒➜✳❂✆✙✎✙✘ ✳✞✟✶✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑➁✌✏✝➁✖☎✣❧✌☎✎✞✌✏✳★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✜✄ ✁✗✌✏✄✍★✠✎✥✎✜✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✒✌✏✝❃✡✕✔✮✝✪✤✗✎✞✡✮✡✮✎✙✟✸✤✗✎✙✟☛✎✜✎✜✤☎✟✮✾ ➔✏✄ ✣✴✎✿✬✞✝✠✟☛✎✞➋✠➌✙✳✗❐
Ï✂✤✧✾✲✡❁✡✮✎✽✔✮✄✍✡✕✃ ✝✠✄ ✔✮✳✥✎✙✘ ✬✞✖☎✣ ★ ✟✮✄ ✔✮✯✠✟✮✄ ✳✜✌✏✝✒✤✗✎✙✟☛✎✞✌☎✎☎➒✲✳✥✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✜✌✏✝✒✝✠✆✞✳✞✘ ✖✗➋✠➌✙✳✿✯ ✶✗✁✗✎✙✘ ✄ ❰❃✎✞✌✏✳✗➒✷✝✒✎✜✣✥✝✠✘ ✭☎✳✞✟✡☞✳✞✘ ✖✗➋✠➌✙✳✜✝✠✁✗★✩✳✞✁✞✔✮✟☛✎✞✌☎✎✿✯✶✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞✌☎✎☎❐➑Ï●✦➜✄ ✬✗❐ Ù✏❐ ✪✿✄ ✘ ✖✗✡✕✔✮✟☛✎✜✳ ✌✗✖✏➔✏✳✞✬✞✟☛✎✙✣✴✎✿✻✗❒✞✡☞✄✍★✩✳✥✌✏✝✪✖☎✣

AG
❐

Ï♦✝✠✆✞✳✞✘ ✖✗➋✠➌✙✳→✯✜✖☎✣◗✤☎✟✮✳✏★✩✝❃✡✮✡☞✳➊➓✲✖☎✝✥✳✞✤✧✝✠✟☛✎→✡☞✳✞✻☎✟✮✝✿✳✲✡✒★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✞✡✱✝✥✁☎➌✙✳➇✡☞✳✞✻☎✟✮✝✜✳✲✡➘✳✞✟✮✬✲✎✙✁☎✄✍✡☞✣✥✳✞✡✠❐
✯▼✤☎✟✮✳☎★✩✝❃✡✮✡☞✳✜✝✠✆✙✳✞✘ ✖✏✔✮✄ ✆✞✳✴✡☞✝✶✌☎❒✥✌✏✖☎✟☛✎✙✁✲✔✮✝✪✎✥✝✩✔☛✎✙✤✗✎✥✌✏✝✪✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✗❐➑✑❡➔✏✄✍✡✕✔✮✝✠✣❍✌✏✳✞✄✍✡✸✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✢✟✮✝✠✘✍✎✞★✩✄ ✳✞✁✗✎✞✌✏✳✞✡✎✙✳✜✤☎✟✮✳☎★✩✝❃✡✮✡☞✳✜✌✏✝✪✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✗✖➑✎✜✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✒✌✏✝✏✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄

pc

✝✪✎✥✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✒✌✏✝✪✣✶✖✏✔☛✎✞➋✠➌✙✳
pm

❐
✯ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✥✯✶✳➁✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟❁✟✮✝❃✡☞✤✧✳✞✁✗✡✮❒ ✆✞✝✩✘✚✤✧✝✠✘✍✎✴✟✮✝❃★✩✳✞✣✶✻☎✄ ✁✗✎✞➋✠➌✙✳✴✌✏✝✜★✠✎✙✟☛✎✞★ ✔✮✝✠✟☞➣✍✡✕✔✮✄✍★✠✎✞✡❁✌✏✳✲✡✂✤✗✎✙✄✍✡✂✌✏✖✏Ñ✟☛✎✙✁✞✔✮✝❽✎➃✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✗➒❁✤✧✝✠✟✮✣✥✄ ✔✮✄ ✁✗✌✏✳❨➓✲✖☎✝❽✎✞✡→✤☎✟✮✾ ➔✏✄ ✣✴✎✞✡➁✬✞✝✠✟☛✎✞➋✫✴✷✝❃✡✴✭☎✝✠✟☛✌✏✝✠✣✈✝❃✡✮✡✮✎✞✡→★✠✎✙✟☛✎✞★ ✔✮✝✠✟✮➣✍✡✕✔✮✄✍★✠✎✙✡✠❐➲✑✫✘ ✝❽✯★✩✳✞✁✗✡☞✄✍✌✏✝✠✟☛✎✞✌✏✳→✳➊✳✞✤✼✝✠✟☛✎✞✌✏✳✞✟✱✬✞✝✠✁☎✯✩✔✮✄✍★✩✳➇✤☎✟✮✝❃✌✏✳✞✣✥✄ ✁✗✎✙✁✞✔✮✝✞➒✚✤✧✳✞✟✒✄✍✡✮✡☞✳➇✯✴✎✙✤☎✘ ✄✍★✠✎✞✌✏✳➊★✩✳✞✣◗✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✥✌☎✎✞✌☎✎→✤✼✝✠✘✍✎✔☛✎✽➔☎✎✥✌✏✝ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄

pc

➒✧➓✲✖☎✝✪✤✧✳✞✟✱★✩✳✞✁✲✆✞✝✠✁☎✄ ✣✠✁✗★✩✄✍✎✥✌✏✝✠✆✞✝✶✡☞✝✠✟✂✣✴✎✙✄ ✳✞✟✂➓✲✖☎✝✶✎✜✔☛✎✽➔☎✎✴✌✏✝✪✣✿✖✏✔☛✎✞➋✠➌✙✳✗❐✫✑✓✡✕✔✮✝✶✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✤✧✳✏✌✏✝✶✡☞✝✠✟✸✖✏✔✮✄✍✘ ✄ ❰❃✎✞✌✏✳✴✌✏✝✒✆✙❒✙✟✮✄✍✎✞✡✓✣✴✎✙✁☎✝✠✄ ✟☛✎✞✡✠➒☎✡☞✝✠✁✗✌✏✳✴➓✲✖☎✝✪✎✞✡✸✣✴✎✙✄✍✡✸✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✞✡❁✡✮➌✙✳✗✖

• �✂✣✜Ñ ✤✼✳✞✁✞✔✮✳✗✖✺✖☎✣♦✤✧✳✞✁✲✔✮✳✪✌✏✝✂★✩✟✮✖☎❰❃✎✙✣✥✝✠✁✞✔✮✳✒✯❁✝❃✡✮★✩✳✞✘ ✭☎✄✍✌✏✳➘✝✂✎➘✤✗✎✙✟☞✔✮✄✍✟❡✌✏✝❃✡✕✔✮✝❁✤✧✳✞✁✲✔✮✳✪✎✞✡➑✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋✫✴✏✝❃✡➜✬✞✝✠✁☎✯✩✔✮✄ Ñ★✠✎✞✡✺✌✏✳✲✡✚✤✗✎✙✄✍✡✺✡☞✝✠✟☛➌✙✳✸✔✮✟✮✳✏★✠✎✞✌☎✎✞✡✠❐✺Ï✱✡✚✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋✫✴✷✝❃✡✚✎✙✁✲✔✮✝✠✟✮✄ ✳✞✟✮✝❃✡✚✎❁✝❃✡✕✔✮✝✫✤✼✳✞✁✞✔✮✳✂✝✠✣▼✖☎✣●✌✏✳✲✡✚✤✗✎✙✄✍✡✺✡✮➌✙✳✂✘ ✄ ✬✲✎✞✌☎✎✞✡➍✞✡➑✄ ✁✏✃ ✳✞✟✮✣✴✎✞➋ ✴✏✝❃✡✺✤✧✳✲✡✕✔✮✝✠✟✮✄ ✳✞✟✮✝❃✡➜✎➘✝❃✡✕✔✮✝✢✤✼✳✞✁✞✔✮✳✒✁☎✳✒✳✞✖✏✔✮✟✮✳✱✤✗✎✙✄ ➒✞★✩✳✞✣✥✳➘✯✸✣✥✳✲✡✕✔✮✟☛✎✞✌✏✳➘✁☎✳➘✝✩➔✏✝✠✣✥✤☎✘ ✳✪✌☎✎➘✦➜✄ ✬✗❐ Ù✏❐ �☎❐
• ❀❂✖☎✘ ✔✮✄ Ñ ✤✼✳✞✁✞✔✮✳✲✡ ✖➧✯✫✖☎✣✴✎❁✬✞✝✠✁☎✝✠✟☛✎✙✘ ✄ ❰❃✎✞➋✠➌✽✳❁✌✏✝❃✡✕✔☛✎✸✄✍✌✏✯✠✄✍✎✂✌✏✝❡✔✮✟✮✳✏★✠✎✸✌✏✝✫✣✴✎✽✔✮✝✠✟✮✄✍✎✙✘✙✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✂✎✽✔✮✟☛✎ ✆✞✯❃✡➧✌✏✝✫✤✧✳✞✁✲✔✮✳✲✡✠➒✳✞✁✗✌✏✝✪✣✶✖☎✄ ✔✮✳✲✡❁✤✧✳✞✁✲✔✮✳✲✡❁✌✏✝✪★✩✟✮✖☎❰❃✎✙✣✥✝✠✁✲✔✮✳✥✤✧✳✏✌✏✝✠✣❊✡☞✝✠✟✸✖✏✔✮✄✍✘ ✄ ❰❃✎✞✌✏✳✲✡✠❐
• �✂✁☎✄ ✃ ✳✞✟✮✣✥✝✹✖✚✁✗➌✙✳✱✖✏✔✮✄ ✘ ✄ ❰❃✎✂✤✧✳✞✁✲✔✮✳✲✡✺✌✏✝✢★✩✟✮✖☎❰❃✎✙✣✥✝✠✁✲✔✮✳✗➒❃✣✴✎✞✡➜✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎☎➒✽✎✽✔✮✟☛✎ ✆✙✯❃✡✺✌✏✝✓✖☎✣▼✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳❁✬✞✘ ✳✞✻✗✎✙✘ ➒➓✲✖✗✎✙✘✚✎✥✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✒✌✏✝✶★✠✎✞✌☎✎✿✆✙✎✙✟✮✄✍❒❃✆✞✝✠✘➧✡☞✝✠✟✸✔✮✟✮✳✏★✠✎✞✌☎✎✿✝✠✁✲✔✮✟✮✝✒✳✲✡✸✤✗✎✙✄✍✡✠❐

➱❡✎✙✟☛✎✒✟✮✝❃✎✙✘ ✄ ❰❃✎✙✟✓✎✪✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳✪✌✏✝ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✪✡☞✄ ✣✥✤☎✘ ✝❃✡✓✁☎✳✲✡✫✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✲✡✓✌✏✝✱✖☎✣✴✎✪✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✪✤☎✟✮✳✏★✩✝❃✌✏✝✩Ñ✡☞✝✢✌☎✎✱✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✓✣✴✎✙✁☎✝✠✄ ✟☛✎ ✖➧✤✗✎✙✟☛✎✂★✠✎✞✌☎✎❁✤✗✎✙✟➑✌✏✝✸★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡➧✁✗✎✂✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✂✝✩➔✏✝❃★✩✖✏✔☛✎✽Ñ ✡☞✝✫✳✲✡➜✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝❃✡✺✤✗✎✞✡✮✡☞✳✲✡✠➒❀❂✄✍★✮✭✗✎✙✘ ✝✝✁❁✄✍★✩❰ ✤✕Û✝�✁�✁� ✭✫✖



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✏Û
�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✍✎ ✆✑✏✓✒✓✠✕✔✗✖✍✘ ✙☎✘ ✆✚✎

✛✢✜✑✆✑✎ ✘ ✆
fitness

✣ ✁✓☛✍✄✤✠✍✥✍✌✍✏☎✒✚✠

✛✢✜✑✆✑✎ ✘ ✆
fitness

✦✧✁☎✎ ✁☎✏✓✒✓✠

★✩✄✪✘ ✫✪✬✓✄✭✘ ✠✮✥✯✁✰✞✱✆✚✄✝✆✚✥✲✆✮✦✍✆✓✫✝✘ ✳✪✴ ✁✓✘ ✫✭✠

✵ ✠☞✳✪✫✝✄✭✆ ✵ ✁☎✎ ✶✯✠☞✄✷✦✧✠✧✎ ✌✍✏✓✒✓✠

✸ ✒✓✠

✦✯✘ ✹

✦➜✄ ✬✞✖☎✟☛✎✥Ù✏❐ ✪ ✖❡✦➜✘ ✖✏➔✏✳✞✬✞✟☛✎✙✣✴✎ ✱✸❒✞✡☞✄✍★✩✳✥✌✏✝✶�✂✣❊Ï ✘✜❐
Û✞❐ ✘➘✝✠✟☛✎✽Ñ ✡☞✝➘✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✿✟✮✝❃✎✙✘ ➒

r
➒✗★ ✳✞✣❊✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✜✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✪✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0, 1]
❐

Ù✏❐✂✵✷✝
r < pc

✝✠✁✞✔☛➌✙✳✥✝✩➔✏✝❃★✩✖✏✔✮✝✶✎✜✟✮✝❃★✩✳✞✣✿✻☎✄ ✁✗✎✞➋✩➌✙✳✥✌☎✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝➘✃ ✳✞✟✮✣✴✎ ✖
• ✘➘✝✠✟☛✎✽Ñ ✡☞✝❁✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✿✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳ ✤

pos
✭✕★✩✳✞✣ ✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✶✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✂✁☎✳✶✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[1,m−1]
➓✲✖☎✝✄ ✁✗✌✏✄✍★✠✎✥✎✥✤✧✳✲✡☞✄✍➋✠➌✙✳✥✌✏✝✪★✩✳✞✟☞✔✮✝✒✁☎✳✴★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✗➒✲✳✞✁✗✌✏✝

m
✯✪✳✥✁ ✚☎✣✥✝✠✟✮✳✴✌✏✝✒✻☎✄ ✔☛✡✂✌✏✳✴★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✗❐

• ✯➘✡❁✌✏✳✞✄✍✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✞✡
(a1a2 · · · aposapos+1 · · · am)

(b1b2 · · · bposbpos+1 · · · bm)✡✮➌✙✳✥✡☞✖☎✻✗✡✕✔✮✄ ✔✮✖☎✄✍✌✏✳✲✡❁✤✧✳✞✟✷✖
(a1a2 · · · aposbpos+1 · · · bm)

(b1b2 · · · bposapos+1 · · · am)

Ð✱✎✴✟✮✝✠✤☎✟✮✳✏✌✏✖✗➋✠➌✙✳✗➒✏✳➁✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✴✌✏✝✿★✩✾✞✤☎✄✍✎✴✌✏✳➁✣✴✎✽✔✮✝✠✟✮✄✍✎✙✘✚✬✞✝✠✁☎✯✩✔✮✄✍★✩✳➁✌✏✳✲✡❁✤✗✎✙✄✍✡✂✝❃✡✕✔☛❒✴✡☞✖✝✄ ✝✠✄ ✔✮✳→✎✴✝✠✟✮✟✮✳✲✡✠➒✏✝✎✿✔✮✟✮✳✏★✠✎✥✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄✍✎✿✌✏✝✪✖☎✣ ✬✞✝✠✁☎✝✒✤✧✳✞✟❁✳✞✖✏✔✮✟✮✳✜✁☎✝❃✡✕✔✮✝✪✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✜✯✪★☛✭✗✎✙✣✴✎✞✌☎✎✥✌✷✝✪✣✿✖✏✔☛✎✞➋✠➌✙✳✗❐
✯ ✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✴✌✏✝❂✣✿✖✏✔☛✎✞➋✠➌✙✳❻✯❂✁☎✝❃★✩✝❃✡✮✡✮❒✙✟✮✄ ✳❽✤✗✎✙✟☛✎❻✎❻✄ ✁✲✔✮✟✮✳✏✌✏✖✗➋✠➌✙✳❻✝❂✣✴✎✙✁✲✖✏✔✮✝✠✁✗➋✠➌✙✳➃✌☎✎❥✌✏✄ ✆✙✝✠✟☛✡☞✄✍✌☎✎✞✌✏✝



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✞Ù

aa

aaaaaaaa

bbbbbbbb

bb

Ponto de crossoverPonto de crossover

P1

P2

F1

F2

✦➜✄ ✬✞✖☎✟☛✎✥Ù✏❐ � ✖✓✛✓✟✮✳✲✡✮✡☞✳✽✆✙✝✠✟✸✌✏✝✶�✂✣✜Ñ ➱➑✳✞✁✞✔✮✳✗❐
✬✞✝✠✁☎✯✩✔✮✄✍★✠✎➎✌☎✎➃✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✗➒✂✝✠✘ ✝❽✎✙✘ ✔✮✝✠✟☛✎➎✎✙✟✮✻☎✄ ✔✮✟☛✎✙✟✮✄✍✎✽✣✥✝✠✁✲✔✮✝❮✖☎✣❚✳✞✖⑥✣✴✎✙✄✍✡➊★✩✳✞✣✥✤✧✳✞✁☎✝✠✁✲✔✮✝❃✡➊✌✏✝❽✖☎✣✴✎➃✝❃✡✕✔✮✟✮✖✏✔✮✖☎✟☛✎✝❃✡✮★✩✳✞✘ ✭☎✄✍✌☎✎☎➒✗★✩✳✞✣✥✳➁✯✶✄ ✘ ✖✗✡✕✔✮✟☛✎✞✌✏✳✴✁✗✎✴✦➜✄ ✬✗❐ Ù✏❐✍Û❃Ú☎➒✷✃ ✳✞✟✮✁☎✝❃★✩✝✠✁✗✌✏✳✴✣✥✝✠✄ ✳✲✡✂✤✗✎✙✟☛✎✥✄ ✁✲✔✮✟✮✳✏✌✏✖✗➋✠➌✙✳➁✌✏✝✶✁☎✳ ✆✞✳✲✡❁✝✠✘ ✝✠✣✥✝✠✁✲✔✮✳✲✡❁✁✗✎✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✗❐➜✰✱✝❃✡✕✔☛✎➘✃ ✳✞✟✮✣✴✎☎➒✞✎✒✣✿✖✏✔☛✎✞➋✠➌✙✳✪✎✞✡✮✡☞✝✠✬✞✖☎✟☛✎➘➓✲✖☎✝✂✎➘✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝❁✌✏✝✱✡☞✝✂★✮✭☎✝✠✬✲✎✙✟✫✎✪➓✲✖✗✎✙✘✍➓✲✖☎✝✠✟❡✤✧✳✞✁✲✔✮✳✪✌✏✳✝❃✡☞✤✗✎✞➋✩✳➁✌✏✝✿✻☎✖✗✡✮★✠✎✴✁✲✖☎✁✗★✠✎→✡☞✝ ✄✕✎✴❰✠✝✠✟✮✳✗➒✧✎✙✘ ✯✠✣❍✌✏✝✜★✩✳✞✁✞✔✮✳✞✟✮✁✗✎✙✟✂✳➁✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✴✌✏✝✿✣✥➣ ✁☎✄ ✣✥✳✲✡✱✘ ✳✏★✠✎✙✄✍✡✠➒✗✤✧✳✞✄✍✡✱★✩✳✞✣❊✝❃✡✕✔✮✝✣✥✝❃★✠✎✙✁☎✄✍✡☞✣✥✳✿✎✙✘ ✔✮✝✠✟☛✎✽Ñ ✡☞✝ ✦ ✘ ✝✠✆✞✝✠✣✥✝✠✁✞✔✮✝✫✬➘✎✶✤✧✳✲✡☞✄✍➋✠➌✙✳✶✁☎✳✿✝❃✡☞✤✗✎✞➋✩✳✜✌✏✝✱✻☎✖✗✡✮★✠✎☎❐ ✯⑥✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✢✌✏✝✱✣✿✖✏✔☛✎✞➋✠➌✙✳✿✯➘✎✙✤☎✘ ✄✍★✠✎✞✌✏✳✎✙✳✲✡❁✄ ✁✗✌✏✄ ✆✷➣✍✌✏✖☎✳✲✡✱★✩✳✞✣❊✖☎✣✴✎✴✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✶✌☎✎✞✌☎✎✥✤✧✝✠✘✍✎✥✔☛✎✽➔☎✎➁✌✏✝✶✣✿✖✏✔☛✎✞➋✠➌✙✳
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✤ Ù✏❐ ✤✱✮ ✭

Ï❬✡☞✝✠✘ ✝❃➋✠➌✙✳❂★✩✳✞✁✗✡☞✄✍✡✕✔✮✝✥✝✠✣❑✝✩➔✏✝❃★✩✖✏✔☛✎✙✟✒✳❮✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳➇✌✏✳➇✣✥✯✩✔✮✳☎✌✏✳❂✌☎✎➊✟✮✳✞✘ ✝✩✔☛✎➊✆✙❒✙✟✮✄✍✎✞✡✱✆✞✝✠❰✠✝❃✡✪✎✽✔✮✯➁★✩✳✞✣✜Ñ✤☎✘ ✝✩✔☛✎✙✟✢✖☎✣✴✎✿✁☎✳ ✆✙✎✶✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✗❐➜✑✫✣ ★✠✎✞✌☎✎✶✝✩➔✏✝❃★✩✖✗➋✠➌✙✳✗➒✲✖☎✣ ★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✪✯✒✡☞✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✞✌✏✳✿✤✗✎✙✟☛✎✒✃ ✳✞✟✮✣✴✎✙✟✸✎✶✁☎✳✽✆✽✎✤✧✳✞✤☎✖☎✘✍✎✞➋✠➌✙✳✥✎✽✔✮✟☛✎ ✆✙✯❃✡✸✌✏✳✲✡❁✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝❃✡✸✤✗✎✞✡✮✡☞✳✲✡ ✖
Û✞❐ ✘➘✝✠✟✮✝✒✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✿✟✮✝❃✎✙✘ ➒

r
➒✗★✩✳✞✣ ✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✜✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✪✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0, 1]
❐

Ù✏❐✂✵✷✝
r < q1

✝✠✁✲✔☛➌✙✳ ✡☞✝✠✘ ✝❃★✩✄ ✳✞✁☎✝❽✳ ★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳
v1
☞✥✡☞✝✠✁✗➌✙✳✗➒✒✡☞✝✠✘ ✝❃★✩✄ ✳✞✁☎✝❻✳

i
Ñ ✯✠✡☞✄✍✣✥✳②★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳

vi

(2 ≤ i ≤ tampop)
✔☛✎✙✘✺➓✲✖☎✝

qi−1 ≤ r ≤ qi

❐
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vi f(vi ☞ ✌✎✍✑✏ ✒✔✓✖✕ ✗✙✘

v1

v1

v2

v2

v3

v3

v4

v4

v5

v5

10110

11000

10101

00110

10001

2, 73

7, 27

1, 05

3, 35

1, 69

0, 14

0, 47

0, 07

0, 21

0, 11
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Ïq★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳✴✻☎✄ ✁✗❒✙✟✮✄✍✎✥✃➡✎✞★✩✄ ✘ ✄ ✔☛✎➁✎→✎✙✁✗❒✙✘ ✄✍✡☞✝✒✔✮✝✠✾✞✟✮✄✍★✠✎➁✌✏✳✲✡✱✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✲✡✸✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✂✝✿✤✧✝✠✟✮✣✥✄ ✔✮✝✜✎✴✖✏✔✮✄ Ñ✘ ✄ ❰❃✎✞➋✠➌✙✳✴✌✏✝✪✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✮✝❃✡✢✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✂✡☞✄ ✣✥✤☎✘ ✝❃✡✠❐✓➱➑✳✞✟✮✯✠✣➇➒☎✳✴✤✗✎✙✟☛✎✙✘ ✝✠✘ ✄✍✡☞✣✥✳✜✄ ✣✥✤☎✘ ➣✍★✩✄ ✔☛✳➁✌✏✳✲✡

AGs
✁✗➌✙✳✴✌✏✝✠✤✼✝✠✁✗✌✷✝✿✌☎✎★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳✴✻☎✄ ✁✗❒✙✟✮✄✍✎☎❐✱✛✓✳✞✁✗✡☞✝❃➓✲×☎✝✠✁✲✔✮✝✠✣✥✝✠✁✞✔✮✝✞➒✧✤✧✳☎✌✏✝✿✡☞✝✠✟✱✄ ✁✞✔✮✝✠✟✮✝❃✡✮✡✮✎✙✁✲✔✮✝✶✖✷✔☛✄ ✘ ✄ ❰❃✎✙✟✱✳✞✖✷✔☛✟✮✳✲✡✂✎✙✘ ✃➡✎✙✻✧✝✩✔✮✳✲✡✂✝✶✳✞✤✧✝✠✟☛✎✞✌✏✳✙Ñ✟✮✝❃✡✿✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✠❐➃Ð✂✝❃✡✕✔✮✝➇✡☞✝✠✁✲✔✮✄✍✌✏✳✗➒✫✤✼✳✞✟✜✝✩➔✏✤✧✝✠✟✮✄ ✣✠✁✗★✩✄✍✎❮✭☎✄✍✡✕✔✮✾✞✟✮✄✍★✠✎❮✳✲✡✥✎✙✘ ✃➡✎✙✻✧✝✩✔✮✳✲✡✿✣✥✝✠✁☎✳✞✟✮✝❃✡✿✔✮✝✠✁✗✌✷✝✠✣❖✎❽✡☞✝✠✟✥✣✴✎✙✄✍✡✝✫✶✧★✩✄ ✝✠✁✞✔✮✝❃✡✠❐

✛✓✳✞✣✥✳❻✳❻✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎❻✌✏✝❂✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳➏✔✮✟☛✎✽✔☛✎✞✌✏✳❻✁☎✝❃✡✕✔✮✝❂✝❃✡✕✔✮✖✗✌✏✳❥★✩✳✞✁✗✡☞✄✍✡✕✔✮✝➇✁☎✳➃✎✆✄ ✖✗✡✕✔✮✝❂✤✗✎✙✟☛✎✙✣✥✯✩✔✮✟✮✄✍★✩✳✌✏✝✴✆✙✎✙✟✮✄✍❒❃✆✞✝✠✄✍✡✒✌✏✝✫✶✗✁☎✄✍✌☎✎✞✡✪✝✠✣❧✌✏✳✞✣✥➣ ✁☎✄ ✳✲✡✶★✩✳✞✁✞✔✮➣ ✁✷✖☎✳✲✡✠➒✺✳✞✤✏✔✮✳✞✖✏Ñ ✡☞✝✥✤✼✝✠✘✍✎❂★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳➇✝✩✣ ✤✧✳✞✁✲✔✮✳ ✌✗✖✏✔✮✖✗✎✙✁✲✔✮✝➁★✩✳✞✣✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✮✝❃✡✓✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✢✝❃✡☞✤✼✝❃★✩✄✍✎✙✄✍✡✠❐
Ï✱✡➘✤☎✟✮✄ ✁✗★✩✄ ✤✗✎✙✄✍✡➘✆✽✎✙✁✲✔☛✎✙✬✞✝✠✁✗✡➘✌☎✎➊★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳→✝✠✣ ✤✧✳✞✁✲✔✮✳✍✌✗✖✏✔✮✖✗✎✙✁✲✔✮✝✥✡✮➌✙✳✗✖✱✟✮✝❃✌✏✖✗➋✩➌✙✳➇✌☎✎➊★✩✎✙✟✮✬✲✎→★✩✳✞✣✜Ñ✤☎✖✏✔☛✎✞★✩✄ ✳✞✁✗✎✙✘✧✁☎✎✿✝✩➔✏✝❃★✩✖✗➋✠➌✙✳✿✌✏✳✜✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳ ✤ ✭✗❒✶✖☎✣✴✎✿✝❃➓✲✖☎✄ ✆✽✎✙✘ ✣✠✁✗★✩✄✍✎✶✝✠✁✞✔✮✟✮✝➘✳✿✝❃✡☞✤✗✎✞➋✩✳✿✌✏✝➘✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞➋✠➌✙✳✶✌✏✳

AG✝➁✳❮✝❃✡☞✤✗✎✞➋✩✳❮✌✏✝→✻☎✖✗✡✮★✠✎❮✌✏✳❮✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎❂✌✏✝→✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳ ✭ ➒➜✝➁✤✧✳✲✡☞✄ ✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝→✌✏✝→✖✗✡☞✳➏✌✏✝➁✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✮✝❃✡✒✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✝❃✡☞✤✧✝❃★✩➣ ✶✧★✩✳✲✡✸✤✗✎✙✟☛✎✜★✠✎✞✌☎✎✿✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✥✎✙✻✧✳✞✟☛✌☎✎✞✌✏✳✗❐
✄✆☎ ✄✆☎✌✣ ✂ ✞☎✄ ✏ ✍ ✏ ☞☞✌ ✏ ✄ ✆ ✡✝✆ ☞✑✏✓✒✘✏ ✜ ✍✑✏ ✂ ✏ ✄ ☞✎✏

✯✐✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✪✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✿✌✏✝❃✡☞✝✠✁✷✆✙✳✞✘✍✆✷✄✍✌✏✳✪✻✗✎✞✡☞✝✠✄✍✎✽Ñ ✡☞✝❁✁☎✳✿✣✥✝❃✡☞✣✥✳✿✤☎✟✮✄ ✁✗★✩➣ ✤☎✄ ✳✿✌✏✝✱✟✮✝✠✤☎✟✮✳☎✌✏✖✗➋✠➌✙✳✪✖✷✔☛✄ ✘ ✄ ❰❃✎✞✌✏✳✁☎✳
AG

★✩✘✍❒✞✡✮✡☞✄✍★✩✳✗❐➊➱❡✎✙✟☛✎❂✎❮★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳➇✝✠✣❧✤✧✳✞✁✞✔☛✳ ✌✗✖✏✔✮✖✗✎✙✁✲✔✮✝✞➒➜✃ ✳✞✟☛✎✙✣ ✌✏✝✫✶✗✁☎✄✍✌☎✎✞✡✿✌✏✖✗✎✞✡✶✳✞✤✧✝✠✟☛✎✞➋✫✴✷✝❃✡✒✻✗❒✞✡☞✄✍★✠✎✞✡✌✏✝→✟✮✝✠✤☎✟✮✳☎✌✏✖✗➋✩➌✙✳✗✖✥✳ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄❂✝➇✎❮✣✶✖✏✔☛✎✞➋✠➌✙✳✗❐❻Ï❊★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳❂✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎❮✤✼✝✠✟✮✣✥✄ ✔✮✝➊➓✲✖☎✝→✝❃✡✕✔✮✝❃✡✿✳✞✤✼✝✠✟☛✎✞✌✏✳✞✟☞✝❃✡★✩✳✞✁✞✔✮✟✮✳✞✘ ✝✠✣ ✳✥✣✥✳☎✌✏✳✥★✩✳✞✣✥✳✥✳✥✝❃✡☞✤✗✎✞➋✩✳✴✌✏✝✒✻☎✖✗✡✮★✠✎✜✯✪✝✩➔✏✤☎✘ ✳✞✟☛✎✞✌✏✳✗❐
Ï✂✁✲✔✮✝❃✡✥✌✏✝➊✌✏✝❃✡✮★✩✟✮✝✠✆✞✝✠✟✿✳✲✡✿✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✮✝❃✡✪✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✠➒✫✎✙✘ ✬✞✖☎✁✗✡✶✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✶✟✮✝✠✘✍✎✞★✩✄ ✳✞✁✗✎✞✌✷✳✲✡✿✎✙✳✲✡✶✬✞✝✠✁☎✝❃✡✌✏✳✲✡✱★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡✸✤☎✟✮✝❃★✩✄✍✡✮✎✙✣❊✡☞✝✠✟➘✌✏✝✫✶✗✁☎✄✍✌✏✳✲✡✠❐✱✵✷✝ ✄✕✎

j
✖☎✣❍✬✞✝✠✁☎✝✶✝❃✡☞✤✧✝❃★✩➣ ✶✧★✩✳→➓✲✖☎✝✶✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✥✖☎✣❍✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✎✥✡☞✝✠✟❁✳✙✔✮✄ ✣✥✄ ❰❃✎✞✌✏✳✗➒✏✝✩✁✲✔☛➌✙✳✗➒☎✎✞✡✮✡☞✳☎★ ✄➐✎✙✌✏✳✥✎✜✝✠✘ ✝✒✝✩➔✏✄✍✡✕✔✮✝✠✣ ✔✮✟✢✣❃✡✸✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✲✡✢✎✴★ ✳✞✁✗✡☞✄✍✌✏✝✠✟☛✎✙✟✷✖

minj

✖❡✆✽✎✙✘ ✳✞✟✸✣✥➣ ✁☎✄ ✣✥✳➁➓✲✖☎✝✒✳✥✬✞✝✠✁☎✝
j
✤✧✳☎✌✏✝✪✎✞✡✮✡☞✖☎✣✥✄ ✟❃❐

maxj

✖❡✆✙✎✙✘ ✳✞✟✸✣✴❒✽➔✏✄ ✣✥✳✴➓✲✖☎✝✒✳✥✬✞✝✠✁☎✝
j
✤✧✳☎✌✏✝✪✎✞✡✮✡☞✖☎✣✥✄ ✟❃❐

rangej = maxj − minj

✖❡✘✍✎✙✟✮✬✞✖☎✟☛✎✿✌✏✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳✥✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌✏✳✥✤✧✝✠✘ ✳✥✬✞✝✠✁☎✝
j
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�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✑✤
✄✆☎ ✄✆☎✁� ✂✠✂ ✆ ✍✑✡✟✒ ✏ ✍✑✆☎✄ ✄ ✆ ✡✝✆ ☞✑✏✓✒✘✏ ✄

✯➘✡✢✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟☞✝❃✡✫✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✢✡✮➌✙✳✿✣✿✖☎✄ ✔✮✳✜✄ ✣✥✤✧✳✞✟☞✔☛✎✙✁✲✔✮✝❃✡✓✤✗✎✙✟☛✎✶✳✥✡☞✖✗★✩✝❃✡✮✡☞✳✶✝✠✣❬✖☎✣✴✎✜✎✙✤☎✘ ✄✍★✠✎✞➋✠➌✙✳✿✝❃✡☞✤✧✝❃★✩➣ Ñ
✶✧★✠✎✥✌✏✝✪✖☎✣❊✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✜✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✗❐✓✛✓✳✞✣✥✳✜✃ ✳✞✄✺★ ✳✞✣✥✝✠✁✲✔☛✎✞✌✏✳✴✎✙✁✲✔✮✝✠✟✮✄ ✳✞✟✮✣✥✝✠✁✞✔✮✝✞➒☎✡✮➌✙✳✜✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌✏✳✲✡❁✌✏✳✞✄✍✡✸✳✞✤✼✝✠✟☛✎✞✌✏✳✞✟☞✝❃✡✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✲✡✢✁☎✳➁✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✿✬✞✝✠✁☎✯✩✔✮✄✍★✩✳✥✤☎✟✮✳✞✤✧✳✲✡✕✔✮✳✗✖➑✳✥✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✳✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✜✝✪✳✥✳✞✤✧✝✠✟☛✎✞✌✏✳✞✟✢✣✿✖✏✔☛✎✞➋✠➌✙✳✗❐
➺ ➺ ✟✓➻✲➥✽↕☎➢➜➤✗➥ �✂✁ ❉❇❄✚❄✑❉☎✄✎❀ ✁

✯❑✳✞✤✼✝✠✟☛✎✞✌✷✳✞✟✙✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄❥✟✮✝❃★✩✳✞✣✿✻☎✄ ✁✗✎❥✳✲✡→✬✞✝✠✁☎✝❃✡➊✌✏✳✲✡➊★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡→✌✷✳✲✡→✤✗✎✙✄✍✡→✤✗✎✙✟☛✎❥✃ ✳✞✟✮✣✴✎✙✟→✳✲✡★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡✸✌✏✳✲✡ ✶✗✘ ✭☎✳✲✡✠❐✢Ï✐✔☛✎✽➔☎✎✥✌✏✝ ✺✩✄❁✕✖✑❅✑✗✕✁�☎✎✩✄
pc

✌✷✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✴✎✥✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✪✌✏✝✪✖☎✣❊✤☎✎✙✟✱✌✏✝✶★✩✟✮✳✞✣✥✳✲✡✕Ñ✡☞✳✞✣✥✳✲✡➘✬✞✝✠✟☛✎✙✟✒✌✏✝❃✡✮★✩✝✠✁✗✌✏✝✠✁✲✔✮✝❃✡✠❐✴➱➑✎✙✟☛✎➊✳❂Ï ✘ ★✩✳✞✣❑★✩✳✏✌✏✄ ✶✧★✠✎✞➋✠➌✙✳➊✝✠✣◗✤✼✳✞✁✞✔✮✳☛✌✗✖✏✔✮✖✗✎✙✁✲✔✮✝✥✃ ✳✞✟☛✎✙✣◗✤☎✟✮✳✞✤✧✳✲✡✕✔✮✳✲✡✱✔✮✟✢✣❃✡✔✮✄ ✤✧✳✲✡✓✌✏✄ ✃ ✝✠✟✮✝✠✁✲✔✮✝❃✡✢✌✏✝✠✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄ ✖❡✳ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✶✡☞✄ ✣✥✤☎✘ ✝❃✡ ✤✆✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✶✌✏✝✱✖☎✣✜Ñ ✤✧✳✞✁✲✔✮✳ ✭ ➒✲✳ ✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✶✎✙✟✮✄ ✔✮✣✥✯✩✔✮✄✍★✩✳✝✒✳✹✺✩✄❁✕✖✑❅✑✗✕✁�☎✎✩✄✜✭☎✝✠✖☎✟✮➣✍✡✕✔✮✄✍★✩✳✗➒☎❀❂✄✍★☛✭✗✎✙✘ ✝✝✁❁✄✍★✩❰ ✤✕Û✝�✁�✁� ✭ ❐
Ï▼✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳✜✌✏✝✏✺✩✄❁✕✖✑❅✑✗✕✁�☎✎✩✄✥✡☞✄ ✣✥✤☎✘ ✝❃✡❁✤✧✳✏✌✏✝✶✡☞✝✠✟✸✟✮✝❃✡☞✖☎✣✥✄✍✌☎✎✜✁☎✳✲✡❁✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝❃✡✸✤✗✎✞✡✮✡☞✳✲✡ ✖
Û✞❐✂✵✷✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✽Ñ ✡☞✝✒✌✏✳✞✄✍✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✓✤✧✝✠✘ ✳✴✣✥✯✩✔✮✳✏✌✏✳✴✌☎✎✜✟✮✳✞✘ ✝✩✔☛✎

P1 = (0, 10; 0, 45; 0, 32; 0, 87; 0, 65; · · · ; 0, 23)

P2 = (0, 14; 0, 11; 0, 33; 0, 56; 0, 99; · · · ; 0, 77)Ù✏❐ ✘➘✝✠✟☛✎✽Ñ ✡☞✝✪✖☎✣❍✁ ✚☎✣✥✝✠✟✮✳➁✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄✍✳✥✄ ✁✞✔☛✝✩✄✍✟✮✳✗➒
pos
➒✼★✩✳✞✣❍✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✴✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✿✁☎✳➁✄ ✁✞✔✮✝✠✟✮✆✙✎✙✘ ✳

[1,m − 1]➓✲✖☎✝✪✄ ✁✗✌✏✄✍★✠✎✥✎✜✤✼✳✲✡☞✄✍➋✠➌✙✳✥✌✏✝✪★✩✳✞✟☞✔✮✝✒✁☎✳✴★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✗❐
pos = 3

✢☎❐✸✑❡✃ ✝✩✔✮✖✗✎✽Ñ ✡☞✝✶✎✿✔✮✟✮✳✏★✠✎✥✌✏✳✲✡✸✬✞✝✠✁☎✝❃✡❁✌✏✳✲✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✲✡✩❐
F1 = (0, 10; 0, 45; 0, 32; 0, 56; 0, 99; · · · ; 0, 77)

F2 = (0, 14; 0, 11; 0, 33; 0, 87; 0, 65; · · · ; 0, 23)

➱➑✎✙✟☛✎✜✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳✜✌✏✝✏✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✥✎✙✟✮✄ ✔✮✣✥✯✩✔✮✄✍★✩✳✥✤☎✟✮✳✏★✩✝❃✌✏✝✩Ñ ✡☞✝✒✌☎✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✒✣✴✎✙✁☎✝✠✄ ✟☛✎ ✖
Û✞❐✂✵✷✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✽Ñ ✡☞✝✒✌✏✳✞✄✍✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✓✤✧✝✠✘ ✳✴✣✥✯✩✔✮✳✏✌✏✳✴✌☎✎✜✟✮✳✞✘ ✝✩✔☛✎

P1 = (0, 10; 0, 45; 0, 32; 0, 87; 0, 65; · · · ; 0, 23)

P2 = (0, 14; 0, 11; 0, 33; 0, 56; 0, 99; · · · ; 0, 77)Ù✏❐ ✘➘✝✠✟☛✎✽Ñ ✡☞✝➘✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✿✟✮✝❃✎✙✘ ➒
r
➒✗★ ✳✞✣❊✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✜✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✪✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0, 1]
❐

r = 0, 3

✢☎❐✸✑❡✃ ✝✩✔✮✖✗✎✽Ñ ✡☞✝✶✎✥✡☞✳✞✣✴✎✥✌✏✳✲✡✸✬✞✝✠✁☎✝❃✡✸✌✏✳✲✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✩➒✏✡☞✝✠✬✞✖☎✄ ✁✗✌✏✳✙Ñ ✡☞✝✒✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✒✟✮✝✠✬✞✟☛✎ ✖
F1 = rP1 + (1 − r)P2

F2 = rP2 + (1 − r)P1

F1 = (0, 128; 0, 212; 0, 327; 0, 653; 0, 888; · · · ; 0, 608)

F2 = (0, 112; 0, 348; 0, 323; 0, 777; 0, 752; · · · ; 0, 392)



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✱✮
➱➑✎✙✟☛✎✜✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳✜✌✏✝✏✺✩✄✆✕✖✑❅✑✗✕✁�☎✎✩✄✜✭☎✝✠✖☎✟✮➣✍✡✕✔✮✄✍★✩✳✥✤☎✟✮✳✏★✩✝❃✌✏✝✩Ñ ✡☞✝✒✌☎✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✒✣✴✎✙✁☎✝✠✄ ✟☛✎ ✖
Û✞❐✂✵✷✝✠✘ ✝❃★✩✄ ✳✞✁✗✎✽Ñ ✡☞✝✒✌✏✳✞✄✍✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✓✤✧✝✠✘ ✳✴✣✥✯✩✔✮✳✏✌✏✳✴✌☎✎✜✟✮✳✞✘ ✝✩✔☛✎

P1 = (0, 10; 0, 45; 0, 32; 0, 87; 0, 65; · · · ; 0, 23)

P2 = (0, 14; 0, 11; 0, 33; 0, 56; 0, 99; · · · ; 0, 77)

Ù✏❐ ✘➘✝✠✟☛✎✽Ñ ✡☞✝➘✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✿✄ ✁✲✔✮✝✠✄ ✟✮✳✗➒
r
➒✗★✩✳✞✣ ✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✜✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✪✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0, 1]
❐

r = 0, 25

✢☎❐✸✑❡✃ ✝✩✔✮✖✗✎✽Ñ ✡☞✝✶✎✥✡☞✳✞✣✴✎✥✌✏✳✲✡✸✬✞✝✠✁☎✝❃✡✸✌✏✳✲✡❁★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳✲✡✩➒✏✡☞✝✠✬✞✖☎✄ ✁✗✌✏✳✙Ñ ✡☞✝✒✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✒✟✮✝✠✬✞✟☛✎ ✖
F1 = r(P1 − P2) + P2

F1 = (0, 130; 0, 195; 0, 327; 0, 637; 0, 905; · · · ; 0.635)

➺ ➺ ✟✓➻✲➥✽↕☎➢➜➤✗➥→➯ ✵✺➼❃↕✎✍✑✏☎➤
✯❍✳✞✤✼✝✠✟☛✎✞✌✏✳✞✟✜✣✿✖✏✔☛✎✞➋✠➌✙✳❻✎✽✔✮✖✗✎❻★✩✳✞✣✥✳❻✖☎✣✴✎❻✤✧✝✠✟☞✔✮✖☎✟✮✻✗✎✞➋✠➌✙✳❽✝✠✣⑧✔✮✳✞✟✮✁☎✳❥✌✏✳❻✤✧✳✞✁✲✔✮✳

n− ✌✏✄ ✣✥✝✠✁✗✡☞✄ ✳✞✁✗✎✙✘✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✞✌✏✳➁✤✧✝✠✘ ✳➇★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✗❐➘Ï➲✔☛✎✽➔☎✎➁✌✏✝✜✣✿✖✏✔☛✎✞➋✠➌✙✳
pm

✯✜✎➁✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✜✌✏✝✿✖☎✣◗★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✞✣✥✳➁✡☞✝✠✟✎✙✘ ✔✮✝✠✟☛✎✞✌✏✳✗➒➧✳✞✖❻✡☞✳✙✃ ✟✮✝✩✟✒✣✿✖✏✔☛✎✞➋✠➌✙✳➊✬✞✝✠✁☎✯✩✔✮✄✍★✠✎☎❐✥Ï ✳✞✤✧✝✠✟☛✎✞➋✠➌✙✳➊✌✏✝✥✣✿✖✏✔☛✎✞➋✠➌✙✳➊✟✮✝❃✎✙✘ ✄ ❰❃✎✞✌☎✎➁✯➁✎→✣✿✖✏✔☛✎✞➋✠➌✙✳➊✄ ✁✗✌✏✖✏✔✮✄ ✆✙✎☎➒✚✝✤✗✎✙✟☛✎✶✔☛✎✙✘✚✤☎✟✮✳✏★✩✝❃✌✏✝✩Ñ ✡☞✝✒✌☎✎✥✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝➘✃ ✳✞✟✮✣✴✎ ✖
Û✞❐ ✘➘✝✠✟☛✎✽Ñ ✡☞✝➘✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✿✟✮✝❃✎✙✘

q
★✩✳✞✣ ✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✜✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✪✁☎✳✥✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0, 1]
❐

Ù✏❐✂✵✷✝
q < pm

➒✞✝✠✁✞✔☛➌✙✳✒✤✗✎✙✟☛✎✒★✠✎✞✌☎✎➘✬✞✝✩✁☎✝❁✝❃✡✮★✩✳✞✘ ✭☎✄✍✌✏✳➘✤✗✎✙✟☛✎➘✣✶✖✏✔☛✎✞➋✠➌✙✳✒✝✩➔✏✝❃★✩✖✏✔☛✎✽Ñ ✡☞✝✸✳✪✡☞✝✠✬✞✖☎✄ ✁✲✔✮✝✸✤☎✟✮✳✏★✩✝❃✌✏✄ ✣✥✝✠✁✲✔✮✳✗✖
• ✘➘✝✠✟☛✎✽Ñ ✡☞✝➘✖☎✣ ✁ ✚☎✣✥✝✠✟✮✳✴✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳

l ∈ {0, 1}

genej(k + 1) =

{
genej(k) + rangej · w · ∆(k + 1)

✡☞✝
l = 0

genej(k) − rangej · w · ∆(k + 1)
✡☞✝

l = 1✵✷✝
genej(k + 1) > maxj

✝✠✁✲✔☛➌✙✳
genej(k + 1) = maxj✵✷✝

genej(k + 1) < minj

✝✠✁✲✔☛➌✙✳
genej(k + 1) = minj✳✞✁✗✌✏✝

w ∈ [0; 1]
✄ ✁✗✌✏✄✍★✠✎✥✳✴✆✙✎✙✘ ✳✞✟❁✣✴❒✽➔✏✄ ✣✥✳✥✝✠✣❊✟✮✝✠✘✍✎✞➋✠➌✙✳✥✎

rangej

➓✲✖☎✝✶✤✧✳✏✌✏✝✶✡☞✝✠✟✱✎✞✌✏✄✍★✩✄ ✳✞✁✗✎✞✌✏✳✴✎✙✳✬✞✝✠✁☎✝
j
➒☎✝

∆(n)
✯✒✖☎✣✴✎✜✃ ✖☎✁✗➋✩➌✙✳➁➓✲✖☎✝✒✟✮✝✩✔✮✳✞✟✮✁✗✎✿✖☎✣ ✆✙✎✙✘ ✳✞✟❁✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✜★✩✳✞✣ ✌✏✄✍✡✕✔✮✟✮✄✍✻✏✖☎✄✍➋✠➌✙✳✥✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝✁☎✳✒✄ ✁✲✔✮✝✠✟✮✆✽✎✙✘ ✳

[0; 1]
➒✲✌✏✝✢✃ ✳✞✟✮✣✴✎✒➓✲✖☎✝❁✎➘✤☎✟✮✳✞✻✗✎✙✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝✸✌✏✝

∆(n)
✶✧➓✲✖☎✝❁✤☎✟✮✾❃➔✏✄ ✣✴✎➘✌✏✝❁❰✠✝✠✟✮✳✒➍➘✣✥✝❃✌✏✄✍✌☎✎➓✲✖☎✝

n
★✩✟✮✝❃✡✮★✩✝✞❐

✑✓✡✕✔☛✎❥✤☎✟✮✳✞✤☎✟✮✄ ✝❃✌☎✎✞✌✏✝➇✄ ✣✥✤☎✘ ✄✍★✠✎❻✁✗✎❻✟✮✝❃✎✙✘ ✄ ❰❃✎✞➋✠➌✙✳❻✌✏✝❮✻☎✖✗✡✮★✠✎✞✡✥✖☎✁☎✄ ✃ ✳✞✟✮✣✥✝❃✡➁✁☎✳❥✄ ✁☎➣✍★✩✄ ✳➃✌✏✳❥✤☎✟✮✳☎★✩✝❃✡✮✡☞✳❻✌✏✝✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳ ✤➡➓✲✖✗✎✙✁✗✌✏✳
n
✯✂✤✧✝❃➓✲✖☎✝✠✁☎✳ ✭ ➒✲✝✱✝✠✣♦✻☎✖✗✡✮★✠✎✞✡✫✘ ✳✏★✠✎✙✄✍✡❡✁☎✳✲✶✗✁✗✎✙✘✼✌✏✳✶✤☎✟✮✳✏★✩✝❃✡✮✡☞✳✗❐➜Ï②✃ ✖☎✁✗➋✠➌✙✳✶✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✪✤✗✎✙✟☛✎

∆(n)
✯✪✌☎✎✞✌☎✎✜✤✼✳✞✟✷✖

∆(n) = (1 − r
(1− n

Ng
)b

)
✤ Ù✏❐ ✮✑✮ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✲✩
✳✞✁✗✌✏✝

r
✯❁✖☎✣♦✁ ✚☎✣✥✝✠✟✮✳✶✎✙✘ ✝❃✎✽✔✮✾✞✟✮✄ ✳✪★✩✳✞✣♦✌✏✄✍✡✕✔✮✟✮✄ ✻☎✖☎✄✍➋✠➌✙✳✪✖☎✁✏✄ ✃➐✳✞✟✮✣✥✝✱✌✏✝✫✶✗✁☎✄✍✌✏✳✶✝✠✣

[0; 1]
➒
Ng

✯✂✳✪✁ ✚☎✣✥✝✠✟✮✳✪✣✴❒✽➔✏✄ ✣✥✳✌✏✝➘✬✞✝✠✟☛✎✞➋✫✴✷✝❃✡✠➒✞✝
b
✯➘✖☎✣❬✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳✜➓✲✖☎✝➘✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✿✳✜✬✞✟☛✎✙✖→✌✏✝✒✌✏✝✠✤✧✝✠✁✗✌✛✣✠✁✗★✩✄✍✎✜✌☎✎✶✃ ✖☎✁✗➋✠➌✙✳

∆(n)
✝✠✣❬✟✮✝✠✘✍✎✞➋✠➌✙✳✎✙✳➊✁ ✚☎✣✥✝✠✟✮✳❂✌✏✝✥✬✞✝✠✟☛✎✞➋✫✴✷✝❃✡

n
❐➁Ð✂✳✲✡✒✝✩➔✏✤✧✝✠✟✮✄ ✣✥✝✠✁✲✔✮✳✲✡✒✟✮✝✠✎✙✘✍✄ ❰❃✎✞✌✷✳✲✡✠➒✚✎✞✌✏✳✙✔✮✳✞✖✏Ñ ✡☞✝

b = 2, 0
❐➁Ï❬✦➜✄ ✬✗❐ Ù✏❐ Û Ù✴✄✍✘ ✖✗✡✕✔✮✟☛✎→✳★✩✳✞✣✥✤✧✳✞✟☞✔☛✎✙✣✥✝✠✁✲✔✮✳✥✌☎✎✿✃ ✖☎✁✗➋✠➌✙✳

∆(n)
✝✠✣ ✃ ✖☎✁✗➋✠➌✙✳✴✌✏✝

r
✤✗✎✙✟☛✎✥✌✏✄ ✆✙✝✠✟☛✡☞✳✲✡✢✆✙✎✙✘ ✳✞✟✮✝❃✡✢✌☎✎✥✟☛✎✙❰❃➌✙✳

n/Ng

❐
✑❡➔✏✝✠✣✥✤☎✘ ✳✗✖
✯➘✡✸✬✞✝✠✁☎✝❃✡❁✡☞✖✏✻☎✘ ✄✍✁✏✭✗✎✞✌✏✳✲✡✲✤➡✎✙✘ ✝✠✘ ✳✲✡ ✭✢✡✮➌✙✳✥✳✲✡✸✬✞✝✠✁☎✝❃✡✸➓✲✖☎✝✶✡☞✳✙✃ ✟✮✝✠✟☛➌✙✳✿✣✿✖✏✔☛✎✞➋✠➌✙✳✗❐
★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✗✖

(0, 10; 0, 45; 0, 32; 0, 87; 0, 65; · · · ; 0, 23)

Ï✂✤✧✾✲✡❁✎✜✣✿✖✏✔☛✎✞➋✠➌✙✳✗✖
★✩✟✮✳✞✣✥✳✲✡✮✡☞✳✙✣✥✳✗✖

(0, 10; 0, 47; 0, 32; 0, 88; 0, 65; · · · ; 0, 20)

✯❑✤✗✎✙✟ ✟✙✣✥✝✩✔✮✟✮✳
w
✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎❥✳➃✔☛✎✙✣✴✎✙✁☎✭☎✳➎✌☎✎➃✟✮✝✠✬✞✄✍➌✙✳❥✁✗✎➎➓✲✖✗✎✙✘✒✎➃✤✧✝✠✟☞✔✮✖☎✟✮✻✗✎✞➋✠➌✙✳❥✳✏★✩✳✞✟✮✟✮✝✞❐qÐ✂✳✲✡✝✩➔✏✤✧✝✠✟✮✄ ✣✥✝✠✁✲✔✮✳✲✡✶✟✮✝❃✎✙✘ ✄ ❰❃✎✞✌✏✳✲✡✪✖✏✔✮✄ ✘ ✄ ❰✠✳✞✖✏Ñ ✡☞✝

w = 0, 25
➒✓✡☞✄ ✬✞✁☎✄ ✶✧★✠✎✙✁✗✌✏✳❮✖☎✣✴✎➏✎✙✘ ✔✮✝✠✟☛✎✞➋✠➌✙✳❂✣✴❒✽➔✏✄ ✣✴✎❮✌✏✝ ±25 � ✝✠✣✟✮✝✠✘✍✎✞➋✠➌✙✳✜✎✙✳✴✡☞✝✠✖➊✆✙✎✙✘ ✳✞✟❁✎✽✔✮✖✗✎✙✘ ❐

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1
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0.6

0.7

0.8

0.9

1

r

∆
(n

)

n/Ng = 0, 1

n/Ng = 0, 25

n/Ng = 0, 5

n/Ng = 0, 75

n/Ng = 0, 9

✁✄✂ ☎✝✆✟✞✡✠☞☛✍✌ ✎✏☛✍✑✒✁✟✆✟✓✕✔✗✖✙✘
∆(n) ✚✜✛✣✢ ✞✥✤✗☎✦✠✝✧✟✠✩★✒✤✗✪ ✘✬✫ ✢ ✤✗✞✡✠✝✧✍✘✝✞✭✧✍✤✯✮✰✆✍✱✡✠✝✔✗✖✙✘✕✌

✲✭✳✴✲✭✳✴✵ ✶✸✷✺✹✼✻✟✽✿✾✼❀✼❁❃❂✒✽❄✷❆❅✭✷❈❇❉✷❈❁❃❂✒✽

✫ ✢ ✞✥✘✟❊❋✤❍●✥●■✘✩✧✍✤❏✞✥✤ ✢ ✞✥✘✟✧✍✆✕✔✗✖✙✘❑✤❋▲ ✢ ✪ ✘✝✞✡✠❑✘☞✤❍● ✢ ✠✝✔❋✘✣✧✍✤✯●■✘✝✪ ✆✕✔❋▼◆✤❍●✭✠❖✱✡✞✡✠❍P✝◗❍●✭✧✍✤❏✘ ✢ ✤✗✞✡✠✝✧✍✘✝✞✥✤❍●❘☎✝✤✗✓✟◗❋✱✥✂❙❊❋✘✦●✗✌
❚❯✘

AG ✢ ✞✥✘ ✢ ✘✦●❉✱✥✘✕❱❃✘✦● ✢ ✞✥✘✍❊❋✤❍●✥●■✘✦●✼✧✍✤✣✞✥✤ ✢ ✞✥✘✍✧✍✆✕✔✗✖✙✘✬✤✣●■✤✗✪ ✤❍✔✗✖✙✘✬✆✍✱✥✂ ✪ ✂ ❲❍✠ ✛ 3
●■✆✟❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔❋▼◆✤❍●✩❩❬● ✢❪❭ ☎✝✤✗✞✡✠✝✧✟✠✝●✼✠

✢ ✠✙✞■✱✥✂ ✞✿✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂ ✓✕❊❋✂ ✢ ✠✙✪✜❩❫★✒✘ ✢❪❭ ❱✕✁✄✂ ☎✕✌ ☛✍✌ ✎❍❴✟✌

✚ ●❉✱✡✠✝●❯●■✆✍❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔❋▼◆✤❍●✭●✥✖✙✘❑❵❫✘✝✞ ✛ ✠✝✧✟✠✝●✭✧✟✠☞●■✤✗☎✝✆✟✂ ✓✝✱✥✤ ✛ ✠✙✓✍✤✗✂ ✞✡✠✟✑

• ✠❏●■✆✟❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘❛● ✢ ✎ ✢ ✘✦●✥●■✆✟✂ 50%
✧✍✘❛✱✡✠ ✛ ✠✙✓✟❜✟✘✯✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂ ✓✕❊❋✂ ✢ ✠✙✪✴❱✦❊❋✘✝✓✦✱✥✤✗✓✕✧✍✘✯●■✤✗✆✕● ✛ ✤✗✪ ❜✟✘✝✞✥✤❍●



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù✱✪
�✂✁☎✄

✆✞✝✂✟

✆✞✝✂✟

✆✠✝☛✡

✆✠✝☛✡

✆✠✝✌☞

✆✠✝✌☞

✍✏✎✒✑☛✓✕✔✗✖☛✘✌✙✒✚✛✔

✜✢✔☎✑ ✣✥✤✧✦✞★✪✩✒✫ ✁
k + 1

✬ ✎✒✓✞✭✪✙✒✚✛✔
k

✮ ✎✧✯ ✎✧✙✰✚✪✔

✁✄✂ ☎✝✆✟✞✡✠✣☛✍✌ ✎❍❴✟✑✒★✜✞✥✘✍❊❋✤❍●✥●■✘✦●✭✧✍✤✲✱✿✤ ✢ ✞✥✘✟✧✍✆✕✔✗✖✙✘✩✤✴✳◆✤✗✪ ✤❍✔✗✖✙✘✕✌

✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘✦●✗✌
• ✠✼●■✆✟❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘❯● ✢ ☛ ✢ ✘✦●✥●■✆✟✂ 80% ✧✍✘❯✱✡✠ ✛ ✠✙✓✟❜✟✘✼✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂ ✓✕❊❋✂ ✢ ✠✙✪✴❱✏✤❘◗✜❵❫✘✝✞ ✛ ✠✝✧✟✠❯✠ ✢ ✪ ✂❙❊✗✠✙✓✕✧✍✘✙❨ ●■✤✘☞✠✙✪ ☎✝✘✝✞✥✂ ✱ ✛ ✘✩✧✍✘ ✛ ◗❋✱✥✘✍✧✍✘☞✧✟✠✩✞✥✘✝✪ ✤❋✱✡✠✩✓✕✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂ ✓✕❊❋✂ ✢ ✠✙✪✰✷
• ✠ ●■✆✟❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘✬● ✢ ❴ ✢ ✘✦●✥●■✆✟✂ 20%

✧✍✘✬✱✡✠ ✛ ✠✙✓✟❜✟✘ ✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂❙✓✟❊❋✂ ✢ ✠✙✪✴❱ ✤✣◗❑❵❫✘✝✞ ✛ ✠✝✧✟✠ ✢ ✘✝✞ ✛ ✆✍❨
✱✡✠✙✓✦✱✥✤❍●❯✧◆✘ ✛ ✤✗✪ ❜✟✘✝✞✿✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘☞✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘ ✢ ✞✥✂ ✓✕❊❋✂ ✢ ✠✙✪✰✷

❚❯✘ ✢ ✞✥✘✟❊❋✤❍●✥●■✘✩✧✍✤❏✞✥✤ ✢ ✞✥✘✍✧✍✆✕✔✗✖✙✘ ✢ ✠✙✞■✱✥✂❙❊❋✂ ✢ ✠ ✛ ✠ ✢ ✤✗✓✕✠✝●✭✠✝●✿●■✆✟❳ ✢ ✘ ✢ ✆✟✪❙✠✝✔❋▼✍✤❍●✭● ✢ ☛❑✤❏● ✢ ❴✟✌
✸ ✢✥✹ ●✼✠✣✞✥✤ ✢ ✞✥✘✍✧✍✆✕✔✗✖✙✘✕❱✍✘✻✺✽✼✰✾❀✿✌❁✗❁❏✧✍✤❑❊✗✠✝✧✟✠☞❊❋✞✥✘ ✛ ✘✦●✥●■✘ ✛ ✘✣◗✯❊✗✠✙✪❙❊❋✆✟✪❙✠✝✧✍✘ ✠❖✱✥✞✡✠✏P✙◗❍●✿✧✍✤✯✆ ✛ ✠ ✠❍P✙✠✙✪ ✂❙✠✝✔✗✖❖✘

✧✍✘ ❊❋✘✝✓✝✱✥✞✥✘✝✪❙✠✝✧✍✘✝✞❑✤❃❂✦✆✟✂ P✙✠✙✪ ✤✗✓✝✱✥✤✝❱❄❂✦✆✕✠✙✓✕✧✍✘ ✠ ✢ ✪ ✂❙❊✗✠✝✧✍✘ ✓✕✠ ✱✡✠✙✞✥✤❋❵❬✠ ✧✍✤ ❊❋✘✝✓✦✱✥✞✥✘✝✪ ✤✬✤ ✛ ❂✦✆✟✤❍●❉✱✡✖✙✘✕✌ ✸ ✠❍P✙✠✙✪ ✂❙✠✝✔✗✖✙✘ ✧✍✘
❊❋✘✝✓✝✱✥✞✥✘✝✪❙✠✝✧✍✘✝✞ ✢ ✘✍✧✍✤✭●■✤✗✞✄❵❫✤✗✂ ✱✡✠ ✠❖✱✥✞✡✠✏P✝◗❍●❈✧✍✤✿●■✂ ✛ ✆✟✪❙✠✝✔✗✖✙✘✕❱✏✘✝✆ ✢ ✤✗✪❙✠✼✤❋▲✍✤❍❊❋✆✕✔✗✖✙✘ ✧✟✠❯✱✡✠✙✞✥✤❋❵❬✠✼✓✦✆ ✛ ●■✂❙●❉✱✥✤ ✛ ✠ ✧✍✤✿❊❋✘✝✓✝✱✥✞✥✘✝✪ ✤
✤ ✛ ✱✥✤ ✛✣✢ ✘✣✞✥✤❍✠✙✪✴✌

✫ ✢ ✞✥✘✍❊❋✤❍●✥●■✘✿✧✍✤✜●■✤✗✪ ✤❍✔✗✖✙✘✿❊❋✘✝✓✕●■✂❙●❉✱✥✤ ✓✕✠✭✤❍●✥❊❋✘✝✪ ❜✕✠✭✧✍✘✦●
Nm ✛ ✤✗✪ ❜✟✘✝✞✥✤❍● ❊❋✞✥✘ ✛ ✘✦●✥●■✘ ✛ ✘✦●❃✧✟✠✝●✺●■✆✟❳✍❨ ✢ ✘ ✢ ✆✟✪❙✠✝✔❋▼◆✤❍●❩❬●■✤✗✪ ✤❍✔✗✖✙✘ ✤✗✪ ✂ ✱✥✂❙●❉✱✡✠ ❭ ✌ ✫ ✢ ✞✥✘✍❊❋✤❍●✥●■✘ ❊❋✘ ✛✣✢ ✪ ✤❋✱✥✘ ✧◆✤✰❳✟✆✕●✥❊✗✠ ✆✍✱✥✂ ✪ ✂ ❲❍✠✝✧✍✘ ✓✟✘ ✠✙✪ ☎✝✘✝✞✥✂ ✱ ✛ ✘ ☎✝✤✗✓✟◗❋✱✥✂❙❊❋✘ ✢ ✞✥✘ ✢ ✘✦●❉✱✥✘ ✤❍●❉✱✗❅

✛ ✘✦●❉✱✥✞✡✠✝✧✍✘✩✓✟✘✻❆✕✆✍▲✍✘✝☎✝✞✡✠ ✛ ✠❑✧✟✠☞✁✄✂ ☎✕✌ ☛✍✌ ✎❈❇✕✌

✲✭✳✴✲✭✳✒❉ ❊✿❀●❋✼❁❃❂✒✽ ✾❯✷■❍❑❏☛▲☛▼✴◆❀❖P❖

◗ ✤✗✞✡✠✙✪ ✛ ✤✗✓✦✱✥✤✝❱✝✠❏✠ ✢ ✱✥✂❙✧✟✖✙✘✯✧✍✘❛✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘✯◗❯✧✍✤❋✱✥✤✗✞ ✛ ✂ ✓✕✠✝✧✟✠❛✠❖✱✥✞✡✠✏P✝◗❍●✒✧✍✘✯❊❈❅✙✪❙❊❋✆✟✪ ✘❏✧✟✠ ❵❫✆✟✓✕✔✗✖✙✘✙❨ ✘✝❳❙❘ ✤❋✱✥✂ P✝✘✕❱
❂✦✆✟✤ ✧✍✤ ✢ ✤✗✓✕✧✍✤ ✧✍✤✰✤❍● ✢ ✤❍❊❋✂ ❚❪❊✗✠✝✔❋▼✍✤❍●✣✧✍✤ ✢ ✞✥✘❯❘ ✤❋✱✥✘✕✌ ✸ ❵❫✆✟✓✕✔✗✖✙✘ ✧✍✤❱✺✽✼✰✾❀✿✌❁✗❁ ◗ ✆ ✛ ✠ ✤❋▲ ✢ ✞✥✤❍●✥●✥✖✙✘ ✓◆✆ ✛ ◗✗✞✥✂❙❊✗✠❲❂✦✆✟✤
✛ ✤❍✧✍✤❳❂✦✆✕✠✙✓✦✱✥✂ ✱✡✠❖✱✥✂ P❖✠ ✛ ✤✗✓✦✱✥✤ ✘ ✓✏✵ P✝✤✗✪✿✧✍✤✰✠✝✧✍✠ ✢ ✱✡✠✝✔✗✖✙✘ ✧✍✤ ✆ ✛ ✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘ ✧✟✠ ✢ ✘ ✢ ✆✟✪❙✠✝✔✗✖✙✘✕✌❩❨✼✆✕✠✙✓✝✱✥✘ ✛ ✠✙✂ ✘✝✞✩✘
P❖✠✙✪ ✘✝✞ ✧✍✘❬✺✽✼✰✾❀✿✌❁✗❁ ❱ ✛ ✠✙✂❙● ✠✝✧✟✠ ✢ ✱✡✠✝✧✍✘✯◗ ❊❋✘✝✓✕●■✂❙✧✍✤✗✞✡✠✝✧✍✘❏✘❑✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘✕✌ ❚❯✤❍●❉✱✥✤❛❊❋✘✝✓✝✱✥✤❋▲◆✱✥✘✕❱◆✤ ✛ ☎✝✤✗✞✡✠✙✪✴❱✝✆ ✛ ✂ ✓✕✧✍✂ P✶✵❙✧✍✆✟✘



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ Ù �

�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✍✎ ✆✑✏✓✒✓✠✕✔✗✖✍✘ ✙☎✘ ✆✚✎

✛✢✜✑✆✑✎ ✘ ✆
fitness

✣ ✁✓☛✍✄✤✠✍✥✍✌✍✏☎✒✚✠

✛✢✜✑✆✑✎ ✘ ✆
fitness

✦✧✁☎✎ ✁☎✏✓✒✓✠

★✩✄✪✘ ✫✪✬✓✄✭✘ ✠✮✥✯✁✰✞✱✆✚✄✝✆✚✥✲✆✮✦✍✆✓✫✝✘ ✳✪✴ ✁✓✘ ✫✭✠

✵ ✠☞✳✪✫✝✄✭✆ ✵ ✁☎✎ ✶✯✠☞✄✷✦✧✠✧✎ ✌✍✏✓✒✓✠

✸ ✒✓✠

✦✯✘ ✹

★ ✄✭✘ ✆✟✦✯✌✁�✍☛✲✠✧☛✍✌✍✎ ✆✚✏✄✂✧✁✓✳

✦➜✄ ✬✞✖☎✟☛✎✴Ù✏❐ Û ✣✗✖➑✦➜✘ ✖✏➔✏✳✞✬✞✟☛✎✙✣✴✎✜✌✏✳✴Ï ✘➲✤☎✟✮✳✞✤✧✳✲✡✕✔✮✳✗❐



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ ✢✞Ú
✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✥✖☎✣✴✎→✡☞✳✞✘ ✖✗➋✠➌✙✳➁★✠✎✙✁✗✌✏✄✍✌☎✎✽✔☛✎✴✌✏✳→✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎☎➒✗✤✧✳✞✟☞✔☛✎✙✁✲✔✮✳✗➒✧✎✥✃ ✖☎✁✗➋✠➌✙✳→✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑✶✤✧✳✏✌✏✝✜✡☞✝✠✟✂✝✠✁✲✔✮✝✠✁✗✌✏✄✍✌☎✎★✩✳✞✣✥✳✥✎✜✃ ✖☎✁✗➋✠➌✙✳✙Ñ ✳✞✻ ✄ ✝✩✔✮✄ ✆✞✳✥✌✏✝✪✖☎✣ ✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✜✌✏✝✪✣✴✎✽➔✏✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳✗❐

Ð✂✝❃✡✕✔✮✝✒✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳✗➒✷✳✲✡
AGs

✡✮➌✙✳✜✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌✏✳✲✡✸✤✗✎✙✟☛✎✜✳✙✔✮✄ ✣✥✄ ❰❃✎✞➋✠➌✙✳✥✌✏✝✶★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡✢✁☎✝✠✖✏✟☛✎✙✄➐✡✠❐✓✛✓✳✞✁✗✡☞✝✩Ñ➓✲×☎✝✠✁✞✔✮✝✠✣✥✝✠✁✲✔✮✝✞➒✷✎✒✃ ✖☎✁✗➋✠➌✙✳✶✌✏✝ ✡ ✛✜✡✯✎✒✑❅✑✂✌✏✝✠✆✞✝❁✄ ✁✗★✩✘ ✖☎✄ ✟✓✣✥✝❃✌✏✄✍✌☎✎✞✡✓✌✏✝✱✌✏✝❃✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✿✌✏✝✠✡✕✔☛✝✠✡✓★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟☞✝❃✡❡➓✲✖✗✎✙✁✗✌✏✳✎✙✤☎✘ ✄✍★✠✎✞✌✏✳✲✡✸➍✞✡✢✔☛✎✙✟✮✝✩✃➡✎✞✡✸✌✏✝✶★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✞❐
✑✫✣◗✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✒✌✏✝✥★✩✳✞✁✲✔✮✟✮✳✞✘ ✝✞➒✼✆✙❒✙✟✮✄✍✎✞✡✂✣✥✝❃✌✏✄✍✌☎✎✞✡✒✤✧✳✏✌✏✝✠✣❑✡☞✝✠✟✒★✩✳✞✁✗✡☞✄✍✌✏✝✠✟☛✎✞✌☎✎✞✡✱✁✗✎➊✎❃✆✙✎✙✘ ✄✍✎✞➋✠➌✙✳→✌✏✝✥✌✏✝✩Ñ✡☞✝✠✣✥✤✧✝✠✁☎✭☎✳✗➒✞✤✧✳✞✟✫✝✩➔✏✝✠✣✥✤☎✘ ✳✗✖➜★✩✳✞✁✗✡☞✖☎✣✥✳✪✌✏✝✂✝✠✁☎✝✠✟✮✬✞✄✍✎☎➒✽✔✮✝✠✣✥✤✧✳✶✌✏✝✱✡☞✖☎✻☎✄✍✌☎✎☎➒✙✔✮✝✠✣✥✤✧✳✶✌✏✝✂✝❃✡✕✔☛✎✙✻☎✄ ✘ ✄ ❰❃✎✞➋✠➌✙✳✗➒✙✡☞✳✞✻☎✟✮✝✩Ñ ✡☞✄ ✁✗✎✙✘✣✴❒✽➔✏✄ ✣✥✳✗➒✺✝✠✟✮✟✮✳❮✌✏✝✴✟✮✝✠✬✞✄ ✣✥✝✞➒➜✝✠✁✞✔☛✟✮✝✴✳✞✖✏✔✮✟☛✎✞✡✠❐→➱❡✎✙✟☛✎➇✳✲✡✪✤☎✟✮✳✞✻☎✘ ✝✠✣✴✎✞✡✪✌✏✝→★✩✳✞✁✞✔✮✟✮✳✞✘ ✝➁✎✙✻✧✳✞✟☛✌☎✎✞✌✏✳✲✡✒✁☎✝❃✡✕✔✮✝✴✔✮✟☛✎✙✻✗✎✙✘ ✭☎✳✖✏✔✮✄ ✘ ✄ ❰❃✎✽Ñ ✡☞✝✞➒✏✖☎✣✴✎✜✣✥✝❃✌✏✄✍✌☎✎✥✻✗✎✞✡☞✝❃✎✞✌☎✎✿✁☎✳✥✝❃✡☞✤✧✝❃★ ✔✮✟✮✳✴✌✏✝✒✤✼✳✙✔✢✣✠✁✗★✩✄✍✎☎➒☎➓✲✖☎✝✒✆✙✎✙✄➧✤✧✝✠✟✮✣✥✄ ✔✮✄ ✟✂✎ ✆✽✎✙✘ ✄✍✎✙✟✢✔☛✎✙✘✚✌✏✝❃✡☞✝✠✣✥✤✼✝✠✁☎✭☎✳✗❐
✵✷✝ ✄✕✎

f(x)
✖☎✣✴✎✱✃ ✖☎✁✗➋✠➌✙✳✪★✩✳✞✁✞✔✮➣ ✁✷✖✗✎➘✝✸✤✧✝✠✟✮✄ ✾✏✌✏✄✍★✠✎➘✌✏✝✸✖☎✣✴✎➘✆✽✎✙✟✮✄✍❒ ✆✞✝✠✘

x
❐➑Ï➎✔☛✟☛✎✙✁☎✡✕✃ ✳✞✟✮✣✴✎✞✌☎✎✱✌✏✝ ★✱✕☎★✌✄✒✟✷✎✩✄✌✏✝

f(x)
➒✗✌✏✝✠✁✏✳✙✔ ✎✞✌✏✎✜✤✼✳✞✟

̥{f(x)} ➒☎✯✪✌✏✝✫✶✗✁☎✄✍✌☎✎✥✤✧✝✠✘✍✎✴✡☞✝✠✬✞✖☎✄ ✁✞✔✮✝✒✝❃➓✲✖✗✎✞➋✠➌✙✳
̥{f(x)} = F (u) =

∫
∞

−∞

f(x) exp(−j2πux)dx
✤ Ù✏❐ ✮✶✩ ✭

✳✞✁✗✌✏✝
j =

√
−1
❐

Ï✐✔✮✟☛✎✙✁✗✡✕✃ ✳✞✟✮✣✴✎✞✌☎✎✿✌✏✝ ★✱✕☎★✌✄✒✟✷✎✩✄✜✌✏✝✪✖☎✣✴✎✿✃ ✖☎✁✗➋✠➌✙✳✥✟✮✝❃✎✙✘➧✬✞✝✠✟☛✎✙✘ ✣✥✝✠✁✲✔✮✝➘✯✶★✩✳✞✣✥✤☎✘ ✝✩➔☎✎☎➒✷✄✍✡✕✔✮✳✴✯✞➒
F (u) = R(u) + jI(u)

✤ Ù✏❐ ✮✑✪ ✭
✳✞✁✗✌✏✝

R(u)
✝

I(u)
✡✮➌✙✳✥✳✲✡✂★✩✳✞✣✥✤✼✳✞✁✏✝✠✁✲✔✮✝❃✡❁✟✮✝❃✎✙✘✚✝✪✄ ✣✴✎✙✬✞✄ ✁✗❒✙✟✮✄ ✳✴✌✏✝

F (u)
➒✗✟✮✝❃✡☞✤✧✝❃★ ✔✮✄ ✆✙✎✙✣✥✝✩✁✲✔✮✝✞❐✓✑❡➔✏✤☎✟✮✝❃✡✮✡✮✎✙✁✗✌✏✳✴✎✑✓➓✧❐ Ù✏❐ ✮✑✪✿✁✗✎✜✃ ✳✞✟✮✣✴✎✿✝✩➔✏✤✼✳✞✁☎✝✠✁✗★✩✄✍✎✙✘✧✔✮✝✠✣✥✳✲✡

F (u) =| F (u) | ejθ(u) ✤ Ù✏❐ ✮✁� ✭
✳✞✁✗✌✏✝

| F (u) |= [R2(u) + I2(u)]
1

2

✤ Ù✏❐ ✩✽Ú ✭
✝

θ(u) = tan−1

[
I(u)

R(u)

]
.

✤ Ù✏❐ ✩✷Û ✭
Ï●✃ ✖☎✁✗➋✩➌✙✳ | F (u) | ✯✿★☛✭✗✎✙✣✴✎✞✌☎✎ ✡✾✑✔✓✍✎✆✺✩✛✜✄✆✕❂✿✥✎✳★✱✕☎★✌✄✒✟✷✎✩✄✴✌✏✝

f(x)
➒✧✝

θ(u)
✯✶✳✁�☎✡ ✽ ★✛✪ ✕ ✿✥✎✄✂✒✁✖✑✗✎✩❐✰✯➓✲✖✗✎✞✌✏✟☛✎✞✌✏✳✥✌✏✳✥✝❃✡☞✤✧✝❃★ ✔✮✟✮✳

P (u) = | F (u) |2

= R(u)2 + I(u)2
✤ Ù✏❐ ✩✙Ù✹✭

✯✪★✩✳✞✣✿✖☎✣✥✝✠✁✲✔✮✝✪✌✏✝✠✁☎✳✞✣✥✄ ✁✗✎✞✌✏✳ ✡✾✑✔✓✍✎❅✺✩✛✜✄❁✕ ✿✥✎✮�✂✕☎✛✆☎✩✡✯✺✩✟✷✁→✌✏✝
f(x)

➒✗✘➘✳✞✁☎❰❃✎✙✘ ✝✠❰✒✝ ☞❽✳✷✳✏✌☎✡✲✤ Ù✙Ú✞Ú✞Ú ✭ ❐
Ï✱✡✮✡☞✄ ✣➇➒✢✌✏✝➇✖☎✣❖✌✏✝✩✔✮✝✠✟✮✣✥✄ ✁✗✎✞✌✏✳❻✡☞✄ ✁✗✎✙✘❁✌✏✝➊✟✮✝✩✃ ✝✠✟✢✣✠✁✗★✩✄✍✎☎➒

fref (x)
➒✓✝➇✌✏✝➇✖☎✣❖✡☞✄ ✁✗✎✙✘❁✌✏✝➇✟✮✝❃✡☞✤✧✳✲✡✕✔☛✎➏✌✏✳✡☞✄✍✡✕✔✮✝✠✣✴✎➁★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✴✤✧✳✞✟✱✖☎✣ ★✩✳✞✁✞✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟❁✁☎✝✠✖☎✟☛✎✙✘ ➒

fresp(x)
➒✧✤✧✳☎✌✏✝✩✣✥✳✲✡✱★✠✎✙✘✍★✩✖☎✘✍✎✙✟✂✳➁✝❃✡☞✤✧✝❃★ ✔✮✟✮✳→✌✏✝✶✤✼✳✙✔✢✣✠✁✗★✩✄✍✎✌✏✳✴✡☞✄ ✁✗✎✙✘✚✌✏✝✪✝✠✟✮✟✮✳

P (e(x))
➒✏✳✞✁✗✌✏✝

e(x) = fref (x) − fresp(x).
✤ Ù✏❐ ✩✚✢ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁� ✑ �✧✌✥✱ �☞★✝✖✟✞✧✌✧✫ ✤✄✂✡✫ ✖✟�✧✌✧✫ ✢☎Û
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f(x) =
1

1 +
∑100

i=0 Pi(e(x))
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V (x) Wji

11

11

11

θ10
θ11

θ20 θ21

θN0 θm1

p1

p2

pN

σ(·)

σ(·)

σ(·)

σ(·)

σ(·)

σ(·) y1

y2

ym

☛✌☞✎✍✑✏✓✒✎✔✕✒ ✖ ✗✎✘✑✙✛✚✑✜✢✙✤✣✦✥ ✧★✚ ✥ ✩ ✪ ✩★✫ ✣✕✩

✦➜✄ ✬✞✖☎✟☛✎✕✢☎❐ Û✹✖❡❄❁✝❃✌✏✝✪Ð✂✝✠✖☎✟☛✎✙✘✚✦➑✹✺Ð✱Ð✄✂ ★✣★✌✡✯✺✩✛✜✟✷✕☎✡✯✁✩✪✣✰ ✟☛✡ ✫✆☎❃✎✩★✌✄❁✁✩✪✝☎❃✎✩✛✟✞✾✕☎✄✿✫✠✂ ❐
�✂✣✴✎✥✟✮✝❃✌✏✝✶✦➑✹✺Ð✱Ð●✤✧✳☎✌✏✝✶✡☞✝✠✟❁✖✗✡✮✎✞✌☎✎✜✤✗✎✙✟☛✎✴✎✙✤☎✟✮✳❃➔✏✄ ✣✴✎✙✟✸✖☎✣❊✣✴✎✙✤✗✎✥✁✗➌✙✳✥✘ ✄ ✁☎✝❃✎✙✟

z(x) : Xn → Y m
➒✝✒✳✴✣✥✳✏✌✏✝✠✘ ✳✥✣✴✎✽✔✮✝✠✣✴❒✽✔✮✄✍★✩✳✥✤✗✎✙✟☛✎✿✝❃✡✕✔☛✎✜✟✮✝❃✌✏✝✒✯✶✌☎✎✞✌✏✳✜✤✼✳✞✟

yj(x) =

N∑

i=1

(wjiσi (pi + θi0) + θj1) + εj(x); j = 1, 2, . . . ,m.
✤✜✢☎❐ Û ✭

✳✞✁✗✌✏✝
wji ∈ R

✡✮➌✙✳✜✳✲✡✸✤✧✝❃✡☞✳✲✡❁✌☎✎✥★✠✎✙✣✴✎✞✌☎✎✜✌✏✝✶✡✮✎✙➣✍✌☎✎☎➒
θi0, θj1 ∈ R

✡✮➌✙✳✜✳✲✡✸✆✙✎✙✘ ✳✞✟✮✝❃✡✢✌✏✳✲✡✸✘ ✄ ✣✥✄✍✎✙✟✮✝❃✡✠➒
pi ∈ R

✡✮➌✙✳✎✞✡❡✝✠✁✲✔✮✟☛✎✞✌☎✎✞✡✫✌✏✳✲✡✫✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✫✌☎✎✪✤☎✟✮✄ ✣✥✝✠✄ ✟☛✎✪★✠✎✙✣✴✎✞✌☎✎☎❐
σ(.) : R → R

✯✱✎✒✃ ✖☎✁✗➋✠➌✙✳✿✌✏✝➘✎✽✔✮✄ ✆✽✎✞➋✠➌✙✳✗➒
N
✯✱✳✶✁ ✚☎✣✥✝✠✟✮✳✌✏✳✲✡✸✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✢✝

εj(x)
✯✒✳✥✝✠✟✮✟✮✳✴✌✏✝✪✎✙✤☎✟✮✳ ➔✏✄ ✣✴✎✞➋✠➌✽✳✗❐

✑✫✣⑧✬✞✝✠✟☛✎✙✘ ➒➑✣✥✝❃✡☞✣✥✳➏➓✲✖✗✎✙✁✗✌✏✳➏✳✲✡✶✣✥✝✠✘ ✭☎✳✞✟✮✝❃✡✶✆✙✎✙✘ ✳✞✟✮✝❃✡✶✌✏✳✲✡✿✤✧✝❃✡☞✳✲✡✿✡✮➌✙✳➏✎✙✘✍★✠✎✙✁✗➋✠✎✞✌✏✳✲✡✠➒➑✎❂✃ ✖☎✁✗➋✠➌✙✳➏✁✗➌✙✳✘ ✄ ✁☎✝❃✎✙✟➁✁☎➌✙✳❥✯➏✎✙✤☎✟✮✳❃➔✏✄✍✣✴✎✞✌✏✎❽✝✩➔☎✎✽✔☛✎✙✣✥✝✠✁✲✔✮✝❂✤✧✝✠✘✍✎❻✟✮✝❃✌✏✝✞➒✸✟✮✝❃✡✕✔☛✎✙✁✗✌✏✳❻✖☎✣❴✝✠✟✮✟✮✳❥✌✏✝➏✎✙✤☎✟✮✳❃➔✏✄ ✣✴✎✞➋✠➌✙✳
ε(x) ∈ Rm

➒
■✱✎✙✄ ✄✷✄ ✁ ✤✕Û✝�✁�✱✣ ✭ ➒✏✹✚✝✝✁❁✄✍✡❁✝✩✔✱✎✙✘ ❐ ✤✕Û✝�✁�✁� ✭ ❐

Ï✱✡✮✡☞✖☎✣✥✄ ✁✗✌✏✳➁➓✲✖☎✝✒✝❃✡✮✡☞✝✒✝✠✟✮✟✮✳✜✤✧✳✲✡✮✡☞✖☎✄➧✖☎✣ ✘ ✄ ✣✥✄ ✔☛✎✙✁✲✔✮✝✶✡☞✖☎✤✧✝✠✟✮✄ ✳✞✟
‖ε(x)‖ ≤ εM ∀x ∈ Xn.

✤✜✢☎❐ Ù✹✭
✝✶➓✲✖☎✝✶✳✲✡❁✤✧✝❃✡☞✳✲✡✠➒☎✤✗✎✙✟☛✎✥✎✴✎✙✤☎✟✮✳ ➔✏✄ ✣✴✎✞➋✠➌✽✳✗➒✏✝✩➔✏✄✍✡✕✔✮✝✠✣ ✤✗✎✙✟☛✎✜✖☎✣❍✌☎✎✞✌✏✳✴✆✙✎✙✘ ✳✞✟❁✌✏✝

εM

➒☎✳➁✣✥✳✏✌✏✝✠✘ ✳➁✌☎✎✥✟✮✝❃✌✏✝✪✁☎✝✠✖☎✟☛✎✙✘✤✧✳✏✌✏✝✶✡☞✝✠✟✸✝❃✡✮★✩✟✮✄ ✔✮✳✗➒✏✁✗✎✿✃ ✳✞✟✮✣✴✎✜✣✴✎✽✔✮✟✮✄✍★✩✄✍✎✙✘ ➒☎★✩✳✞✣✥✳
y = WT σ(p) + ε(x),

✤✜✢☎❐ ✢ ✭
★✩✳✞✣

W ∈ RN+1×m
➒
σ(p) ∈ RN+1 ➒ y(x) ∈ Rm

✝
ε(x) ∈ Rm

❐✫Ï✱✡✸✝✠✁✲✔✮✟☛✎✞✌☎✎✞✡
p ∈ RN

✌✏✳✲✡✸✁☎✝✠✖☎✟✢✜✞✁☎✄ ✳✲✡✢✡✮➌✙✳✌✏✝✫✶✗✁☎✄✍✌☎✎✞✡❁✎✽✔✮✟☛✎ ✆✙✯❃✡✸✌✏✝✒✖☎✣ ✤☎✟✮✯✩Ñ ✤☎✟✮✳☎★ ✝❃✡✮✡✮✎✙✣✥✝✠✁✞✔✮✳
V (x)

✌✏✳✥✆✞✝✩✔✮✳✞✟❁✌✏✝✪✝✠✁✞✔✮✟☛✎✞✌☎✎✥✌☎✎✜✟✮✝❃✌✏✝
x ∈ Rn

➒✗✹✚✝✝✁❁✄✍✡✸✝✩✔✂✎✙✘ ❐
✤✕Û✝�✁�✲✤✹✭ ❐



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁�✙✑ �✧✌✥✱ ✞✂✮✕✌✥☛ ✁✄✂ ✌✥✮ ✱☎★✜✠☞✮☎✁✣☛☎✂✣★ ☛✝✆❅✵✞✭✜✰ ✡ ✟✞✆✠✟✘✭ ☎ ✼ ✟✡✟ ✝ ☎ ✢✱✣
Ï✱✡✮✡☞✄ ✣➇➒☎✖☎✣✴✎✜✝❃✡✕✔✮✄ ✣✴✎✽✔✮✄ ✆✙✎

ŷ(x)
✌✏✝

y(x)
✤✧✳✏✌✏✝✪✡☞✝✠✟❁✝❃✡✮★✩✟✮✄ ✔☛✎✥★✩✳✞✣✥✳

ŷ = ŴT σ(p) onde p = V (x) ∀x ∈ Xn,
✤✜✢☎❐ ✣ ✭

✳✞✁✗✌✏✝
Ŵ
✡✮➌✙✳❁✝❃✡✕✔✮✄ ✣✴✎✽✔✮✄ ✆✙✎✞✡✚✌✏✳✲✡➧✆✽✎✙✘ ✳✞✟✮✝❃✡➧★✩✳✞✁✗✡☞✄✍✌✏✝✠✟☛✎✞✌☎✎✞✡✼✄✍✌✏✝❃✎✙✄✍✡➧✤✗✎✙✟☛✎✸✳✲✡➧✤✼✝❃✡☞✳✲✡

W
➒✽✎✆✄ ✖✗✡✕✔☛✎✞✌✏✳✲✡✚✎✽✔✮✟☛✎ ✆✙✯❃✡✚✌✏✝✓✎✙✘ ✬✞✖☎✣✎✙✘ ✬✞✳✞✟✮✄ ✔✮✣✥✳✿✌✏✝✂✔✮✟✮✝✠✄ ✁✗✎✙✣✥✝✠✁✲✔✮✳✿✝✫✶✧★✩✄ ✝✠✁✲✔✮✝✞➒✏➓✲✖☎✝✒✡☞✝✂✃➡✎✙❰➘✁☎✝❃★ ✝❃✡✮✡✮❒✙✟✮✄ ✳✿✌✏✝✠✆✷✄✍✌✏✳✜➍✿✤✧✳✲✡✮✡☞✄ ✻☎✄ ✘ ✄✍✌☎✎✞✌✏✝➘✌✏✝✒✎✙✤☎✟✮✳❃➔✏✄ ✣✴✎✞➋✠➌✙✳✶✌✏✝✃ ✖☎✁✗➋✫✴✷✝❃✡✸✁✗➌✙✳✙Ñ ✘ ✄ ✁☎✝❃✎✙✟✮✝❃✡✠❐

✑✫✣✿✻✧✳✞✟☛✎✪✝✩➔✏✄✍✡✕✔☛✎✙✣ ✆✽❒✙✟✮✄✍✎✞✡❡✳✞✖✏✔✮✟☛✎✞✡✓✎✙✟☛➓✲✖☎✄ ✔✮✝✩✔✮✖☎✟☛✎✞✡✫✌✏✝➘❄✂Ð✱Ï✁� ✡✠➒✏Ð✱✎✙✟✮✝✠✁✗✌✏✟☛✎✒✝✱➱❡✎✙✟☞✔✮✭✗✎✞✡✮✎✙✟☛✎✽✔✮✭✠✆ ✤✕Û✝�✁�✞Ú ✭ ➒✹✚✝✝✁❁✄✍✡✥✝✩✔→✎✙✘ ❐ ✤✕Û✝�✁�✲✤✹✭ ➒ ✱✢✟✮✳☞✁❁✁✚➒✢❄❁✖✗★☛✭✞✔✮✄✱✝❂✦☎✝✠✁☎✬✓✤✕Û✝�✁�✑✢ ✭ ➒✢Ð✱✎✙✟✮✝✠✁✗✌✏✟☛✎ ✤✕Û✝�✁�✶✩ ✭ ➒❁✛✓✳✞✣✥✣✶✖☎✟✮✄✂✝❂✹✚✝✝✁❁✄✍✡ ✤✕Û✝�✁�✶✩ ✭ ➒
✆ ✁✸✎✙✁✚➒✧✹✚✝✝✁❁✄✍✡✂✝✿✰➘✎ ✁✂✡☞✳✞✁ ✤✕Û✝�✁�✑✪ ✭ ➒ ✱✢✳✞✬✲✌☎✎✙✁☎✳ ✆→✝✿Ø✸✄ ✣✥✳✙✃ ✝✠✝✠✆ ✤✕Û✝�✁�✁� ✭ ➒✼✛✓✝✠✟☛➓✲✖☎✝✠✄ ✟☛✎☎➒✗✱✸✎✞✌☎✎✙✁❂✝✿❀❮✎✞✌✏✟✮✄✍✌ ✤ Ù✙Ú✞Ú✞Ú ✭ ➒Ø✸✭✗✎✙✤✗✎❂✝✩✔✴✎✙✘ ❐ ✤ Ù✙Ú✞Ú✞Ú ✭ ➒❡✎❮✟✮✝❃✌✏✝➊✦➑✹✺Ð✱Ð❊✎✙✤☎✟✮✝❃✡☞✝✠✁✲✔☛✎✞✌☎✎❮✎✞★✩✄ ✣✴✎❂✯➊✖✷✔☛✄ ✘ ✄ ❰❃✎✞✌☎✎❮✁☎✳➏✟✮✝❃✡✕✔☛✎✙✁✞✔✮✝➊✌✏✝❃✡✕✔✮✝➊✝✠✡✕✔☛✖☎✌✏✳✗➒✫✤✧✳✞✟✟✮✝✠✤☎✟✮✝❃✡☞✝✠✁✞✔☛✎✙✟✓✎✒✟✮✝❃✌✏✝✂✖✏✔✮✄ ✘ ✄ ❰❃✎✞✌☎✎✪✁☎✳✿✌✏✝❃✡☞✝✠✁✲✆✞✳✞✘ ✆✷✄ ✣✥✝✠✁✲✔✮✳✶✌✏✳✿★✩✳✞✁✲✔✮✟✮✳✞✘✍✎✞✌✏✳✞✟❡✤✏✟✮✳✞✤✼✳✲✡✕✔✮✳✒✤✼✳✞✟ ✆✒✄ ✣♦✝✩✔✸✎✙✘ ❐✗✤ Ù✙Ú✞Ú✞Ú ✭➑➓✲✖☎✝✯✒✳✥✃➐✳☎★✩✳✴✌✏✝❃✡✕✔☛✎✥✌✏✄✍✡✮✡☞✝✠✟☞✔☛✎✞➋✠➌✙✳✗❐

� ✥✁� ✂ ✌ ✩☎✄ ✞ ✌✝☞ ☛✖✱✆✄✝✆ ☛✦✩✆✌ ☛✡✳☛✄✎☛✦✱✴✯ ✭☞✄✞✝ ✂ ✯✟✞✡✠ ✫✔✌✝☞✷✯✍✝ ✄ ✝✮✳✆☛✍✝☞☛ ✭✰✯ ☛✴✭☞✌✎✄ ✱✆☛✦✱✆✄✞✝
✯✍✌✏✎✒✑✒✓✕✔ ✎✖✑✒✗ ✘✠✟✙✌✏✗✛✚✜✎✖✑✒✓✏✢✣✌✤✌✦✥✙✘✣✗ ✧✣✢✣✔✛✥★✑✒✎★✩✪✧✣✩✫✎★✧✬✎★✩✭✚✜✗ ✎★✘✮✥✯✢✣✌✦✥✰✑✒✓✲✱✫✚✜✩✫✗✍➋✠➌✙✎✳✌✦✥✵✴✫✓✕✌✴❒✵✴✫✗✛✚✕✥✰✑✣✥☎✩✫✓✩Ñ

✔✛✥✞➋✠➌✙✎☎✓✕✘✶✴✫✩✫✓✏✎✶✱✷✴✫✎★✩☛➓✶✢✣✓✲✱✟✥✵✴✫✢✮✥✙✘★✴✫✓✲✱✟✘✮✥★✱ ✄✸✢✣✘★✴✭✥★✱✟✓✦✎✰✌✏✎✵✹✺✗ ✌✏✓✕✘✶✴✫✎✖✑✣✥☎✓✲✱✻✴✫✩✫✢✒✴✫✢✣✩✭✥☎❐✥➱✼✓✕✔✛✥➊✃✽✎★✩✫✌✁✢✣✔✛✥✞➋✠➌✙✎✰✑✒✓ ✰✱✁✚✭
✽ ✄✆✁☎✡ ✽ ✎✩➒✮✥★✱✾✓❃➓✶✢✮✥✞➋✫✴✒✓✲✱✾✑✒✎✦✌✏✎✿✹✺✗ ✌✏✓✕✘✶✴✫✎✦✧✬✎✒✑✒✓✕✌❀✱❁✓✕✩❂✎★❃✒✴✫✗✛✑✣✥★✱❂✑✒✓✟✢✣✌❄✌✏✎✣✑✒✎✦✱❁✗✛✱✻✴✫✓✕✌✴❒✵✴✫✗✛✚✜✎✏✓✟✗ ✘✮✑✒✓✕✧✬✓✕✘✮✑✒✓✕✘✶✴✫✓✁✑✒✎
✱❁✗✛✱✻✴✫✓✕✌✦✥✏✑✒✓✟✚✜✎✒✎★✩✭✑✒✓✕✘✮✥★✑✣✥✙✱✠❐

✯ ✰✱✁ ✽ ✄✆✁☎✡ ✽ ✎❅✁☎✡✯✕✦✑✒✓✟✢✣✌❀✱❁✗✛✱✻✴✫✓✕✌✦✥❅✌✏✓✲✚ ✟✙✘✣✗✛✚✜✎❅✧❆✎✒✑✒✓✟✱❁✓✕✩❇✑✒✓✫✶✮✘✣✗✛✑✒✎✯✚✜✎★✌✏✎✗✖
L = T − U

✤✜✢☎❐ ✤✹✭
✎★✘✮✑✒✓

T
✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘★✴✭✥✯✥✯✓✕✘✣✓✕✩✫❈★✗✛✥✦✚✜✗ ✘✣❉✜✴✫✗✛✚✕✥✯✓

U
✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘✶✴✭✥✦✥✯✓✕✘✣✓✕✩✫❈★✗✛✥✦✧✬✎✙✴✫✓✕✘✮✚✜✗✛✥✙✔✼✑✺✎☎✱❁✗✛✱✻✴✫✓✕✌✦✥☎❐➘Ï❊✱❊✓❃➓✶✢✮✥✞➋✫✴✒✓✲✱

✑✒✓❃✰✱✁ ✽ ✄✆✁☎✡ ✽ ✎❋✱✮➌✙✎❅✓✩➔✒✧✣✩✫✓✲✱✫✱✫✥★✱●✧✬✎★✩✷✖
d

dt

∂L

∂q̇i

− ∂L

∂qi

= ξi

✤✜✢☎❐ ✮ ✭
✎★✘✮✑✒✓

qi

✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘✶✴✭✥✳✥✯✹✙✥✙✩✫✗✍❒✿✹✙✓✕✔✼✑✒✓✏✚✜✎✺✎★✩✭✑✒✓✕✘✮✥★✑✣✥✦✓
ξi

✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘✶✴✭✥✳✥✴✃✽✎★✩☛➋✕✥✳✥★✱✫✱❁✎✣✚✜✗✛✥✙✑✣✥✯✥✳✓✲✱✫✱✫✥✳✚✜✎✺✎★✩✭✑✒✓✕✘✮✥★✑✣✥☎➒
❍ ✗ ✌✏✎★✘ ✤✕Û✝�✶✩✷Û ✭ ❐

■❊✓✲✱✫✱❁✓✡✌✏✎✣✑✒✎❏✎❑✌✏✎✣✑✒✓✕✔ ✎❑✑✒✗ ✘✠✟✙✌✏✗✛✚✜✎▲✑✒✓▼✢✣✌◆✌✦✥✙✘✣✗ ✧✣✢✣✔✛✥★✑✒✎★✩✰✩✫✎★❃✬❖✙✴✫✗✛✚✜✎❑✱❁✓✕✩✫✗✛✥✙✔✪✚✜✎★✌
n
❈★✩✭✥✙✢✮✱☎✑✒✓

✔ ✗ ❃✬✓✕✩✭✑✣✥★✑✒✓✞➒✺✧✬✎✣✑✒✓✪✱❁✓✕✩●✓✩➔✒✧✣✩✫✓✲✱✫✱❁✎❋✘✮✥✶✃✽✎★✩✫✌✦✥❅✑✒✓✦✰✱✁ ✽ ✄✆✁☎✡ ✽ ✎✁✚✜✎★✌✏✎✗➒✺P◗✓✝✁❂✗✛✱●✓✜✴❇✥✙✔ ❐ ✤✕Û✝�✁�✁� ✭ ➒ ❍ ✚✜✗✛✥✿✹✺✗✛✚✕✚✜✎❋✓ ❍ ✗✛✚✜✗ ✔ ✗✛✥✙✘✣✎
✤✕Û✝�✁�✑✮ ✭ ✖

M(q)q̈ + Vm(q, q̇)q̇ + Fv q̇ + fc(q̇) + g(q) + τd(t) = τ(t)
✤✜✢☎❐ ✩ ✭

✱❁✓✕✘✮✑✒✎
q(t) ∈ Rn

✚✜✎★✩✫✩✫✓✲✱❁✧✬✎★✘✮✑✒✓✕✘★✴✫✓→➍★✱✁✹✙✥✙✩✫✗✍❒✲✹★✓✕✗✛✱✟❈★✓✕✘✣✓✕✩✭✥✙✔ ✗ ❰✲✥★✑✣✥✙✱✁✑✣✥ ✄✸✢✣✘★✴✭✥☎➒
M(q) ∈ Rn×n

➍❘✌✦✥✵✴✫✩✫✗ ❰✳✑✒✓
✗ ✘✣❉✕✩✭✚✜✗✛✥☎➒

Vm(q, q̇) ∈ Rn×n
➍✦✌✦✥✵✴✭✩✫✗ ❰❋✑✣✥★✱✂✃✽✎★✩☛➋✕✥★✱❊✑✒✓✡❙ ✕☎✄✒✟✷✕✩✪ ✟✬✑✽Ò✵✚✜✓✕✘✶✴✫✩✮➣ ✧✬✓✜✴✭✥☎➒

g(q) ∈ Rn
➍★✱✂✃✽✎★✩✭✚✕✥★✱❇❈★✩✭✥✲✹✺✗ ✴✭✥✽Ñ

✚✜✗ ✎★✘✮✥✙✗✛✱✠➒
Fv ∈ Rn×n ✌✦✥✵✴✫✩✫✗✍❰❅✑✒✗✛✥✙❈★✎★✘✮✥✙✔❚✚✜✎★✩✫✩✫✓✲✱❁✧✬✎★✘✮✑✺✓✕✘✶✴✫✓❋✥✙✎✶✱✷✚✜✎✺✓✫✶✬✚✜✗ ✓✕✘✶✴✫✓✲✱✷✑✒✓✏✥✵✴✫✩✫✗ ✴✫✎✯✹✺✗✛✱✫✚✜✎✶✱❁✎✗➒ fc(q̇) ∈ Rn

✥✙✎✶✱✟✚✜✎✺✓✫✶✬✚✜✗ ✓✕✘✶✴✫✓✲✱✁✑✒✓✯✥✵✴✫✩✫✗ ✴✫✎✖✱❁✓✲✚✜✎✗➒❯✓
τd(t) ∈ Rn

✚✜✎★✩✫✩✫✓✲✱❁✧✬✎★✘✮✑✒✓✕✘✶✴✫✓✴➍★✱✪✧❆✓✜✩❁✴✭✢✒✩✫❃✮✥✞➋✫✴✒✓✲✱✷✓✩➔✺✴✫✓✕✩✫✘✮✥★✱✠❐✥✯✍✴✫✎★✩☛➓✶✢✣✓
✥✙✧✣✔ ✗✛✚✕✥★✑✒✎✥➍★✱ ✄✸✢✣✘✶✴✭✥★✱❂❉

τ(t) ∈ Rn
➒✮❱✣✢✚➒ ✘✷✎★✘☎❰✲✥✙✔ ✓✠❰✷✓✁P◗✓✕✓ ✤✕Û✝�✑✪✶✩ ✭ ➒✣P◗✓✝✁❂✗✛✱✾✓✜✴❊✥✙✔ ❐ ✤✕Û✝�✁�✁� ✭ ❐

■✷✥★✑✣✥❅✢✣✌✦✥❅✴✫✩✭✥✆✄✸✓✜✴✫❖★✩✫✗✛✥❅✑✒✓✲✱❁✓ ✄✻✥★✑✣✥
qd(t) ∈ Rn

➒✣✎✏✓✕✩✫✩✫✎✏✑✒✓✟✧✬✎✶✱❁✗✍➋✠➌✙✎❅❉✁✑✒✓✫✶✮✘✣✗✛✑✒✎✦✚✜✎★✌✏✎
e(t) = qd(t) − q(t)

✤✜✢☎❐ ✪ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁�✙✑ �✧✌✥✱ ✞✂✮✕✌✥☛ ✁✄✂ ✌✥✮ ✱☎★✜✠☞✮☎✁✣☛☎✂✣★ ☛✝✆❅✵✞✭✜✰ ✡ ✟✞✆✠✟✘✭ ☎ ✼ ✟✡✟ ✝ ☎ ✢✲✤
✓✟✥✏✌✏✓✕✑✒✗✛✑✣✥✦✑✒✓✁✑✒✓✲✱❁✓✕✌✏✧✬✓✕✘✁�✣✎✏✗ ✘✮✱✻✴✭✥✙✘✶✴ ✟✙✘✣✓✕✎✦✑✒✎✦✱❁✗✛✱✻✴✫✓✕✌✦✥❅❉✁✑✺✓✫✶✮✘✣✗✛✑✣✥✏✧✬✎★✩

r(t) = ė(t) + Λe(t),
✤✜✢☎❐ � ✭

✎★✘✮✑✒✓
Λ
❉✁✑✒✓✫✶✮✘✣✗✛✑✣✥✏✚✜✎★✌✏✎✦✥❅✌✦✥✵✴✫✩✫✗ ❰✟✑✒✓✟❈✶✥✙✘✁�✣✎✏✚✜✩✮➣ ✴✫✗✛✚✜✎✗❐
✯✝✌✏✎✣✑✒✓✕✔ ✎✏✑✒✗ ✘✠✟✙✌✏✗✛✚✜✎✯✑✒✎✏✩✫✎★❃ ✜✗➒✄✂✓➓✧❐ ✢☎❐ ✩✷➒✒✧✬✎✒✑✒✓✟✓✕✘★✴☛➌✙✎✦✱❁✓✕✩❂✩✫✓✕✓✲✱✫✚✜✩✫✗ ✴✫✎✏✚✜✎★✌✏✎

M(q)ṙ(t) = −Vm(q, q̇)r(t) − τ(t) + h(x)
✤✜✢☎❐ Û❃Ú ✭

✎★✘✮✑✒✓✟✥★✱✢✃✽✢✣✘✗➋✫✴✺✓✲✱❂✘☎➌✙✎✙Ñ ✔ ✗✛✘✒✓✲✥✙✩✫✓✲✱✾✑✒✎✏✌✏✎✒✑✒✓✕✔ ✎✦✱✮➌✙✎✦✥✙❈★✩✫✢✣✧✮✥★✑✣✥✙✱●✓✕✌
h(x) = M(q)(q̈d + Λė) + Vm(q, q̇)(q̇d + Λe) + g(q) + Fv q̇ + fc(q̇) + τd(t)

✤✜✢☎❐ Û✞Û ✭
✓

x = [eT , ėT , qT
d , q̇T

d , q̈T
d ]T ,

✤✜✢☎❐ Û Ù✹✭
❐❇■❊✓✲✱✫✱❁✓❋✌✏✎✒✑✒✎✗➒✮✴✫✓✕✌✏✎✶✱❇✓✕✌

h(x)
✢✣✌✦✥✥✃✽✢✣✘✗➋✠➌✙✎→➓✶✢✣✓❅✚✜✥✙✧✒✴✫✢✣✩✭✥✏✴✫✎✒✑✣✥✯✥✯✑✒✗ ✘✠✟✙✌✏✗✛✚✕✥✦✘✗➌✙✎✯✔ ✗ ✘✣✓✲✥✙✩✷✑✒✎✯✌✏✎✒✑✒✓✕✔ ✎✳✑✒✎

✌✦✥✙✘✣✗ ✧✣✢✣✔✛✥★✑✒✎★✩✾✩✫✎★❃✬❖✙✴✫✗✛✚✜✎✗❐
■❊✓✫✶✮✘✣✓✩Ñ✸✱❁✓✟✥✏✔ ✓✕✗◗✑✒✓✁✚✜✎★✘✶✴✫✩✫✎★✔ ✓✪✚✜✎★✌✏✎

τ(t) = h(x) − u(t),
✤✜✢☎❐ Û✰✢ ✭

✚✜✎★✌
u(x) ∈ Rn

✱❁✓✕✘✮✑✒✎✁✢✣✌✦✥✟✓✜✘✶✴✫✩✭✥★✑✣✥✟✑✒✓✷✚✜✎★✘★✴✫✩✫✎★✔ ✓❇✥✙✢✏➔✒✗ ✔ ✗✛✥✙✩ ✥✁✱❁✓✕✩ ✑✒✓✫✶✮✘✣✗✛✑✣✥✟✧❆✎✶✱✻✴✫✓✕✩✫✗ ✎★✩✫✌✏✓✕✘★✴✫✓✞❐➑Ø❯✓✕✌✏✎✶✱ ✓✕✘✶✴☛➌✙✎
✎✦✱❁✗✛✱✻✴✫✓✕✌✦✥❅✓✕✌❄✌✦✥✙✔ �✮✥✿✃✽✓✲✚☎�✮✥★✑✣✥✏✑✣✥★✑✒✎✏✧❆✓✕✔✛✥❅✓❃➓✶✢✮✥✞➋✠➌✙✎

M(q)ṙ(t) = −Vm(q, q̇)r(t) + u(t)
✤✜✢☎❐ Û ✣ ✭

Ï▲✑✒✗ ✘✠✟✙✌✏✗✛✚✕✥✷✑✒✎✪✱❁✗✛✱✻✴✫✓✕✌✦✥❊✩✫✎★❃❆❖✙✴✫✗✛✚✜✎❊✥✙✗✛✘✣✑✣✥✷✑✒✓✕✹★✓●✧❆✎✶✱✫✱❁✢✣✗ ✩✼✥★✱✼✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✲✱❚✧✣✩✫✎★✧✣✩✫✗ ✓✲✑✣✥★✑✒✓✲✱✠➒✵P◗✓☛✁❂✗ ✱❚✓✜✴ ✥✙✔ ❐
✤✕Û✝�✁�✲✤✹✭ ✖

✏ ➨✒➥✽➤ ✟➜➥✽➠➡➻✷➢➜↕☎➢➜➻ ✌ ➦
M(q) = M(q)

T ❉✟✢✣✌✦✥❅✌✦✥✵✴✫✩✫✗✍❰✪✑✒✓✫✶✮✘✣✗✛✑✣✥✏✧✬✎✶✱❁✗ ✴✫✗ ✹✙✥❅✔ ✗ ✌✏✗ ✴✭✥★✑✣✥❅✧✬✎★✩
m1I ≤ M(q) ≤ m2I m1,m2 > 0; I ∈ R

n×n.
✤✜✢☎❐ Û✯✤✹✭

✏ ➨✒➥✽➤ ✟➜➥✽➠➡➻✷➢➜↕☎➢➜➻ ✥ ➦➏Ï❄✌✦✥✵✴✫✩✫✗ ❰
N(q, q̇) = M(q̇) − 2Vm(q, q̇)

❉☎✴✭✥✙✔❁➓✶✢✣✓✞➒
xT N(q, q̇)x = 0

➒ ✧✮✥✙✩✭✥➓✶✢✮✥✙✔✍➓✶✢✣✓✕✩❂✹✙✓✜✴✫✎★✩
x
❐

✏ ➨✒➥✽➤ ✟➜➥✽➠➡➻✷➢➜↕☎➢➜➻ ✴ ➦✪Ï❊✱✷✧✬✓✕✩❁✴✫✢✣✩✫❃✮✥✞➋✫✴✺✓✲✱❇✓✩➔✺✴✫✓✕✩✫✘✮✥★✱❊✱✫✥✵✴✫✗✛✱✕✃ ✥✙❰✕✓✕✌ ‖τd‖ < bd

➒ ✎★✘✮✑✒✓
bd

❉❅✢✣✌✦✥✳✚✜✎★✘✮✱✻✴✭✥✙✘✶✴✫✓
✚✜✎★✘✁�✣✓✲✚✜✗✛✑✣✥❅✓

bd > 0
❐

� ✥✁� ✂ ✯✦✩✬✫✮✭✰✯ ✄✎☛✦✱✴✯ ✭✝✆ ✫✔✌ ✞ ✯ ✱✆✄ ✠✻✯ ✭✟✞✲✳✆✄ ✂ ☛ ✄✝☞✷✳✍✄✎☛✦✱✴✯✡✠ ✂ ✝ ✠ ✂☞☛

�✆☎✌✣ ☎✞✝ ✂ ☞✑✏✓✌✠✏✍✌ ✡✟✖✘✗✙✏✏✎✕✡ ✌✠✏✓✞ ☞✎✏✌✡✒✑✔✓ ✡ ✒✘✏✖✕ ✏✗✑✙✘ ✆✟✞ ✞ ✌✎✡✟✡✛✚✜✎✢✑✔✓✖✑✙✘✤✣

■❊✓✫✶✮✘✣✗ ✘✮✑✒✎✯✥❅✓❃➓✶✢✮✥✞➋✠➌✙✎✏✑✒✗ ✘✠✟✙✌✏✗✛✚✕✥✏✑✒✎✏✓✕✩✫✩✫✎✏✚✜✎★✌✏✎
ė(t) = −Λe(t) + r(t)

✤✜✢☎❐ Û✰✮ ✭



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁�✙✑ �✧✌✥✱ ✞✂✮✕✌✥☛ ✁✄✂ ✌✥✮ ✱☎★✜✠☞✮☎✁✣☛☎✂✣★ ☛✝✆❅✵✞✭✜✰ ✡ ✟✞✆✠✟✘✭ ☎ ✼ ✟✡✟ ✝ ☎ ✢✑✮
✎✦✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✟✱❁✗✛✱✻✴✫✓✕✌✦✥✏✑✒✓✟✓❃➓✶✢✮✥✞➋✫✴✺✓✲✱✾✑✒✓✟✓✲✱✻✴✭✥★✑✒✎❅✧❆✎✒✑✒✓✟✱❁✓✕✩❂✓✲✱✫✚✜✩✫✗ ✴✫✎

˙̃z =

[
ė

ṙ

]
=

[
−Λ I

0 −M−1Vm

] [
e

r

]
+

[
0

M−1

]
u(t)

✤✜✢☎❐ Û✚✩ ✭
✎★✢☎✓✕✌❄✘✣✎✙✴✭✥✞➋✠➌✙✎✏✥✙❃✣✩✫✓✕✹✺✗✛✥★✑✣✥

˙̃z = A(q, q̇)z̃ + B(q)u(t)
✤✜✢☎❐ Û✰✪ ✭

✚✜✎★✌
A(q, q̇) ∈ R2n×2n

➒
B(q) ∈ R2n×n

✓
z̃(t) ∈ R2n×1 ❐✡✆✪✗ ✌ ✓✜✴✪✥✙✔ ❐ ✤ Ù✙Ú✞Ú✞Ú ✭❂✑✒✓✫✶✮✘✣✓✕✌ ✚✜✎★✌✏✎✴✃✽✢✣✘✗➋✠➌✙✎☎✑✒✓

✚✜✢✮✱✻✴✫✎✦✥✏✱❁✓✕❈★✢✣✗ ✘✶✴✫✓➘✃✽✢✣✘✗➋✠➌✙✎✴➓✶✢✮✥★✑✒✩☛❒✵✴✫✗✛✚✕✥
J(u) =

∫
∞

to

L(z̃, u)dt
✤✜✢☎❐ Û✝� ✭

✚✜✎★✌❄P❯✥✙❈★✩✭✥✙✘✣❈✙✓✲✥✙✘✣✎

L(z̃, u) =
1

2
z̃T Qz̃ +

1

2
uT Ru

=
1

2
[ eT rT ]

[
Q11 Q12

QT
12 Q22

] [
e

r

]
+

1

2
uT Ru

✤✜✢☎❐ Ù✙Ú ✭

■✷✥★✑✣✥❇✥✸✃✽✢✣✘✗➋✠➌✙✎❊✚ ✢✮✱✻✴✫✎
J(u)

➒✚✢☎❐ Û✝�✒➒✿✎❇✎★❃ ✄✸✓✜✴✫✗ ✹★✎❇❉ ✓✕✘✮✚✜✎★✘✶✴✫✩✭✥✙✩❯✥✾✔ ✓✕✗✺✑✒✓ ✚✜✎★✘✶✴✫✩✫✎★✔ ✓
u(t)

➒✽➓✶✢✣✓ ✌✏✗ ✘✣✗ ✌✏✗ ❰✲✥
J(u)

✱❁✢✝✄✸✓✕✗ ✴✭✥→➍★✱❇✩✫✓✲✱✻✴✫✩✫✗✍➋✫✴✺✓✲✱❂✗ ✌✏✧❆✎✶✱✻✴✭✥★✱❇✧✬✓✕✔✛✥✯✓❃➓✶✢✮✥✞➋✠➌✙✎✯✑✒✗ ✃✽✓✕✩✫✓✕✘✮✚✜✗✛✥✙✔ ✂✓➓✧❐ ✢☎❐ Û✚✩✷❐✱Ï ✔ ✓✕✗✼✑✒✓❅✚✜✎★✘✶✴✫✩✫✎★✔ ✓✿➓✶✢✣✓❅✥✵✴✫✗ ✘✣❈★✓
✓✲✱✻✴✫✓❊✎★❃ ✄✸✓✜✴✫✗ ✹★✎❅✱❁✓✕✩☛❒✁✑✒✓✕✘✣✎✙✴✭✥★✑✣✥✁✧✬✎★✩

u∗(t)
❐✫Ð❇✎✙✴✫✓➘➓✶✢✣✓✪✥✙✧✬✓✕✘✮✥★✱●✥✁✧✬✎★✩☛➋✠➌✙✎

u(t)
✑✒✓ ✂✓➓✧❐ ✢☎❐ Û✰✢✟❉✷✎✙✴✫✗ ✌✏✗ ❰✲✥★✑✣✥☎➒✶✧✬✎★✗✛✱

✎✶✱❂✴✫✓✕✩✫✌✏✎✶✱❊✥★✱✫✱❁✎✣✚✜✗✛✥★✑✒✎★✱✂➍✯❈★✩✭✥✲✹✒✗✛✑✣✥★✑✺✓✞➒ ❙ ✕☎✄✒✟✷✕✩✪ ✟☛✑✏✓❅✥✵✴✫✩✫✗ ✴✫✎✯✘✗➌✙✎✯✧❆✎✒✑✒✓✕✌ ✱❁✓✕✩❊✎✙✴✫✗ ✌✏✗ ❰✲✥★✑✒✎✶✱✠➒✬✧✬✎★✩✷✱❁✓✕✩✫✓✕✌ ✑✒✗ ✴✭✥★✑✒✎✶✱
✧✬✓✕✔✛✥★✱❂✚✕✥✙✩✭✥★✚ ✴✫✓✕✩✮➣✛✱✻✴✫✗✛✚✕✥✙✱✓✃ ➣✛✱❁✗✛✚✕✥★✱❂✑✒✎✦✱❁✗✛✱✻✴✫✓✕✌✦✥☎❐

Ï❏✚✜✎★✘✮✑✒✗✍➋✠➌✙✎❂✘✣✓✲✚✜✓✲✱✫✱✮❒✙✩✫✗✛✥●✓ ✱❁✢✛✶✬✚✜✗ ✓✕✘✶✴✫✓ ✧✮✥✙✩✭✥✂➓✶✢✣✓
u∗(t)

✌✏✗ ✘✣✗ ✌✏✗ ❰✕✓
J(u)

✱❁✢✆✄✸✓✕✗ ✴✫✎➘➍ ✂✓➓✧❐ ✢☎❐ Û✚✩✷➒✿✱❁✓✕❈★✢✣✘✮✑✒✎
P◗✓✝✁❂✗✛✱✾✓ ❍ ✆✺✩✫✌✏✎✶✱✲✤✕Û✝�✁�✲✤✹✭ ➒✺❉✶➓✶✢✣✓✪✓✩➔✒✗✛✱✻✴✭✥❅✢✣✌✦✥✜✃✽✢✣✘✗➋✠➌✙✎

V (z̃, t)
➓✶✢✣✓✟✱✫✥✵✴✫✗✛✱✕✃ ✥✞➋✕✥✏✥❅✓❃➓✶✢✮✥✞➋✠➌✙✎✕■❁Ñ Ô✙Ñ ✱

∂V (z̃, t)

∂t
+ minu

[
H

(
z̃, u,

∂V (z̃, t)

∂z̃
, t

)]
= 0

✤✜✢☎❐ Ù✏Û ✭
✚✜✎★✌ ■❊✥✙✌✏✗ ✔ ✴✫✎★✘✣✗✛✥✙✘✣✎✦✑✒✓✫✶✮✘✣✗✛✑✒✎✏✧❆✎★✩

[
H

(
z̃, u,

∂V (z̃, t)

∂z̃
, t

)]
= L(z̃, u) +

∂V (z̃, t)

∂z̃
˙̃z.

✤✜✢☎❐ Ù✞Ù✹✭
Ï ✃✽✢✣✘✗➋✠➌✙✎

V (z̃, t)
➒✣✚✜✎★✌✏✧✬✎✶✱✻✴✭✥✟✧✬✎★✩

z̃
➒
M(q)

➒✺✓❊✧❆✎★✩❁✴●✢✣✌✦✥✁✌✦✥✵✴✫✩✫✗ ❰✷✱❁✗ ✌✏❉✜✴✫✩✫✗✛✚✕✥✁✓✷✑✒✓✫✶✮✘✣✗✛✑✣✥❋✧✬✎✶✱❁✗ ✴✫✗ ✹✙✥
K = KT ∈ Rn×n

➒✮✱✫✥✵✴✫✗✛✱✕✃ ✥✙❰✟✥❅✓❃➓✶✢✮✥✞➋✠➌✙✎✕■❁Ñ Ô✙Ñ ✱
V (z̃, t) =

1

2
z̃T P (q)z̃ =

1

2
z̃T

[
K 0

0 M(q)

]
z̃,

✤✜✢☎❐ Ù✱✢ ✭
✎★✘✮✑✒✓

Λ
✓

K
✘✣✥★✱✒✂✓➓✧❐ ✢☎❐ �❋✓ ✢☎❐ Ù✱✢❅✱✮➌✙✎❅✎★❃✒✴✫✗✛✑✒✎✶✱✾✥✵✴✫✩✭✥✿✹✙❉✲✱✾✑✣✥❅✱❁✎★✔ ✢✗➋✠➌✙✎✏✑✣✥❋✓❃➓✶✢✮✥✞➋✠➌✙✎✏✑✒✗ ✃✽✓✕✩✫✓✕✘✮✚ ✗ ✥✙✔ ✑✒✓✂✁ ✟✷✺❅✺❅✁☎✛✜✟✍➒✬❱✣✢

✓✜✴❊✥✙✔ ❐ ✤✕Û✝�✑✪✶✩ ✭
PA + AT PT − PBR−1BT P + Ṗ + Q = 0.

✤✜✢☎❐ Ù✚✣ ✭
Ï❊✱✫✱❁✗ ✌

H

(
z̃, u,

∂V (z̃, t)

∂z̃
, t

)
=

1

2
z̃T Qz̃ +

1

2
uT Ru + z̃T P (q) [A(q, q̇)z̃ + B(q)u(t)]

✤✜✢☎❐ Ù✑✤✹✭
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■❊✓✕✩✫✗ ✹✙✥✙✘✮✑✺✎✦✥✿✃✽✢✣✘✗➋✠➌✙✎

H
✓✕✌ ✩✫✓✕✔✛✥✞➋✠➌✙✎✏✥

u
✓✟✗ ❈★✢✮✥✙✔✛✥✙✘✮✑✒✎✏✥✜❰✕✓✕✩✫✎✏✎★❃✒✴✫❉✕✌✜Ñ✸✱❁✓

∂H

∂u
= Ru + P (q)B(q)T P (q)z̃ = 0.

✤✜✢☎❐ Ù✱✮ ✭
Ï❊✱✫✱❁✗ ✌

u∗(t) = −R−1BT (q)P (q)z̃.

= −R−1r(t).
✤✜✢☎❐ Ù✲✩ ✭

� ✎★✌✏✎
∂2H

∂u2
= R > 0

✤✜✢☎❐ Ù✱✪ ✭
✹✙✓✕✩✫✗ ✶✬✚✕✥✽Ñ✸✱❁✓✒➓✶✢✣✓

u∗(t)
❉✟✢✣✌❄✧✬✎★✘✶✴✫✎✦✑✒✓✟✌✥➣ ✘✣✗ ✌✏✎✯✑✒✓

H
❐

Ï ✚✜✎★✘✮✑✒✗✍➋✠➌✙✎✏✘✣✓✕✚✜✓✲✱✫✱✮❒✙✩✫✗✛✥❅✓✁✱❁✢✛✶✬✚✜✗ ✓✕✘★✴✫✓✁✧✮✥✙✩✭✥✏✥✏✎✙✴✫✗ ✌✦✥✙✔ ✗✛✑✣✥★✑✒✓✪❉✁✓✲✱✫✚✜✎★✔ �✣✓✜✩❂✢✣✌✦✥✥✃ ✢✣✘✗➋✠➌✙✎
V (z̃, t)

➓✶✢✣✓
✱✫✥✵✴✫✗✛✱✕✃ ✥✞➋✕✥❅✥ ✂✓➓✧❐ ✢☎❐ Ù✏Û✞❐ ❍ ✢✣❃✮✱✻✴✫✗ ✴✫✢✣✗ ✘✮✑✒✎✯✥ ✂✓➓✼❐ ✢☎❐ Ù✞Ù✁✘✮✥ ✂✓➓✧❐ ✢☎❐ Ù✏Û✷✴✫✓✕✌✏✎✶✱

∂V (z̃, t)

∂t
+

∂V (z̃, t)

∂z̃
˙̃z + L(z̃, u∗) = 0

✤✜✢☎❐ Ù � ✭
✚✜✎★✌✏✎

dV (z̃, t)

dt
=

∂V (z̃, t)

∂t
+

∂V (z̃, t)

∂z̃
˙̃z

✤✜✢☎❐ ✢✞Ú ✭
✓✕✘★✴☛➌✙✎

z̃T P (q) ˙̃z +
1

2
z̃T Ṗ (q)z̃ + L(z̃, u∗) = 0.

✤✜✢☎❐ ✢☎Û ✭
Ó✸✘✮✱❁✓✕✩✫✗ ✘✮✑✒✎ ✂✓➓✧❐ ✢☎❐✍Û✚✩✟✓ ✂✓➓✧❐ ✢☎❐ Ù✙Ú❋✘✮✥ ✂✓➓✧❐ ✢☎❐ ✢☎Û

z̃T P (q)A(q)z̃ +
1

2
z̃T

[
Ṗ (q) + Q − P (q)B(q)R−1B(q)P (q)

]
z̃ = 0

✤✜✢☎❐ ✢✲Ù✹✭
✓✟✱❁✓✕✘✮✑✒✎

z̃T P (q)A(q)z̃ =
1

2
z̃T

[
AT (q)P (q) + P (q)A(q)

]
z̃

✤✜✢☎❐ ✢✑✢ ✭
✧✬✎✒✑✒✓✩Ñ✸✱❁✓✪✓✲✱✫✚✜✩✫✓✕✹★✓✕✩

1

2
z̃T

[
Ṗ (q) + AT (q)P (q) + P (q)A(q) + Q − P (q)B(q)R−1B(q)P (q)

]
z̃ = 0

✤✜✢☎❐ ✢✱✣ ✭
✧✣✩✫✎✿✹✙✥✙✘✮✑✒✎✥➓✶✢✣✓✟✥ ✂✓➓✧❐ ✢☎❐ Ù✱✢✏✱✫✥✵✴✫✗✛✱✕✃ ✥✙❰✟✥❅✓❃➓✶✢✮✥✞➋✠➌✙✎✕■❁Ñ Ô✙Ñ ✱➘❐

❍ ✢✣❃✮✱✻✴✫✗ ✴✫✢✣✗ ✘✮✑✒✎✖✥★✱✷✌✦✥✵✴✫✩✫✗ ❰✕✓✲✱
A(q)

➒
B(q)

✓
P (q)

✑✣✥ ✂✓➓✧❐ ✢☎❐ ✢✱✣☎✧✬✎★✩✪✱❁✢✮✥★✱✷✩✫✓✲✱❁✧✬✓✲✚ ✴✫✗ ✹✙✥★✱❇✓✩➔✒✧✣✩✫✓✲✱✫✱✵✴✒✓✲✱
✌✦✥✵✴✫✓✕✌✴❒✵✴✫✗✛✚✕✥★✱●✎★❃✒✴✫❉✕✌✜Ñ✸✱❁✓

[
−KΛ 0

K −Vm

]
+

[
−ΛT K 0

K −Vm

]
−

[
0 0

0 R−1

]
+

[
0 0

0 Ṁ

]
= −

[
Q11 Q12

QT
12 Q22

] ✤✜✢☎❐ ✢✲✤✹✭
➱❚✓✕✔✛✥✦✥✥➨✒➥✽➤ ✟➜➥✽➠➡➻✷➢➜↕☎➢➜➻ ✥ ✑✒✎✶✱✾✌✦✥✙✘✒✗✛✧✒✢✣✔✛✥★✑✒✎★✩✫✓✲✱✾✩✫✎★❃✬❖✙✴✫✗✛✚✜✎✶✱

[
−KΛ 0

K 0

]
+

[
−ΛT K 0

K 0

]
−

[
0 0

0 R−1

]
= −

[
Q11 Q12

QT
12 Q22

] ✤✜✢☎❐ ✢✑✮ ✭
✑✒✓✪✎★✘✮✑✒✓✟✧✬✎✒✑✒✓✩Ñ✸✱❁✓✟✑✒✓✕✩✫✗ ✹✵✥✙✩❂✥★✱❂✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✲✱✾✩✫✓✕✔✛✥✞➋✫✴✺✓✲✱

Q =

[
Q11 Q12

QT
12 Q22

]
> 0, R−1 = Q22

✤✜✢☎❐ ✢✶✩ ✭
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✚✜✎★✌

Q12 + QT
12 < 0

❐
K = KT = −1

2

(
Q12 + QT

12

)
> 0,

✤✜✢☎❐ ✢✑✪ ✭
✓

ΛT K + KΛ = Q11
✤✜✢☎❐ ✢✁� ✭

� ✎★✌ ✥✳✔ ✓✕✗ ✑✒✓✦✚✜✎★✘✶✴✫✩✫✎★✔ ✓❋❖✙✴✫✗ ✌✏✎
u∗(t)

✎★❃✒✴✫✗✛✑✣✥☎✥★✚✜✗ ✌✦✥☎➒ ✎✶✱❊✴✫✎★✩☛➓✶✢✣✓✲✱
τ(t)

✥✙✧✣✔ ✗✛✚✕✥★✑✒✎✶✱➘➍★✱ ✄✸✢✣✘✶✴✭✥★✱✪✑✒✎
✱❁✗✛✱✻✴✫✓✕✌✦✥❅✩✫✎★❃✬❖✙✴✫✗✛✚✜✎✏✱✮➌✙✎✦✚✕✥✙✔✛✚✜✢✣✔✛✥★✑✒✎✶✱✾✑✒✓✟✥★✚✜✎★✩✭✑✒✎✏✚✜✎★✌❄✥✏✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✪✓❃➓✶✢✮✥✞➋✠➌✙✎

τ∗(t) = h(x) − u∗(t)
✤✜✢☎❐ ✣✲Ú ✭

�✆☎✌✣ ☎ ✄ ✂ ✡✝✍ ✞✓✏✆✄ ✆ ✒✝✆✁� ✄ ☞☞✡✟✕ ✏✓✞✓✏ ✒✗✡✟✒✝✆

Ï ✃✽✢✣✘✗➋✠➌✙✎
V (z̃, t)

❉❊✢✣✌✦✥✒✃✽✢✣✘✗➋✠➌✙✎✁✚✜✎★✘✶✴✮➣ ✘✺✢✮✥☎➒✶✧✬✎✶✱✫✱❁✢✣✗✣✢✣✌ ✚✣✘✣✗✛✚✜✎✁✧✬✎★✘✶✴✫✎❋✑✒✓❇✌✥➣ ✘✣✗ ✌✏✎✗➒✶✓❊❉❊✚✜✩✫✓✲✱✫✚✜✓✕✘✶✴✫✓➍ ✌✏✓✲✑✒✗✛✑✣✥➃➓✶✢✣✓ ‖z̃‖ ✚✜✩✫✓✲✱✫✚✜✓✞❐ ■❊✓✕✹✺✗✛✑✒✎❏✥ ✓✲✱✻✴✭✥★✱✳✚✕✥✙✩✭✥★✚ ✴✫✓✕✩✮➣✛✱✻✴✫✗✛✚✕✥✙✱✠➒
V (z̃, t)

✧✬✎✒✑✒✓ ✱❁✓✕✩✳✢✮✱✫✥★✑✣✥☞✚✜✎★✌✏✎❻✃✽✢✣✘✗➋✠➌✙✎
✚✕✥✙✘✮✑✒✗✛✑✣✥✵✴✭✥✏✑✺✓✠✰ ✞✥✁❅✓ ★✌✡✯✕✁�❃❐

✂ ✘✣✓✲✚✜✓✲✱✫✱✮❒✙✩✫✗ ✎✦✌✏✎✶✱✻✴✫✩✭✥✙✩✱➓✶✢✣✓
dV/dt < 0

✧✮✥✙✩✭✥❅✴✫✎✣✑✒✎ ‖z̃‖ 6= 0
❐❊■✷✥✯✱❁✎★✔ ✢✗➋✠➌✙✎✯✑✣✥✦✓❃➓✶✢✮✥✞➋✠➌✙✎✄■❁Ñ Ô✙Ñ ✱➘➒

✂✓➓✧❐ ✢☎❐ Ù �☎➒✶✴✫✓✕✌✏✎✶✱
dV (z̃, t)

dt
= −L(z̃, u∗),

✤✜✢☎❐ ✣✗Û ✭
✱❁✢✣❃✮✱✻✴✫✗ ✴✫✢✣✗ ✘✮✑✒✎✯✥ ✂✓➓✧❐ ✢☎❐ Ù✲✩✟✘✮✥ ✂✓➓✧❐ ✢☎❐ Ù✙Ú❋✎★❃✒✴✫❉✕✌✜Ñ✸✱❁✓

dV (z̃, t)

dt
= −1

2

[
z̃T Qz̃ + (BT (q)P (q)z̃)T R−1(BT (q)P (q)z̃)

]
< 0

∀t > 0, z̃ 6= 0
✤✜✢☎❐ ✣✷Ù✹✭
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V (z̃, t)
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Ï✐✃✽✢✣✘✗➋✠➌✙✎✏✘✗➌✙✎✏✔ ✗ ✘✣✓✲✥✙✩❇✑✣✥✏✑✒✗ ✘✠✟✙✌✏✗✛✚✕✥✏✑✒✎✏✌✦✥✙✘✣✗ ✧✣✢✣✔✛✥★✑✒✎★✩❂✩✫✎★❃✬❖✙✴✫✗✛✚✜✎✗➒ ✂✓➓✧❐ ✢☎❐ Û✞Û✞➒✒❉✪✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘✶✴✭✥★✑✣✥❋✧✬✎★✩
h(x) = W T σ(p) + ε(x), ‖ε(x)‖ ≤ εM

✤✜✢☎❐ ✣✲✢ ✭
✚✜✎★✌ ✹★✓✜✴✫✎★✩

x
✑✣✥★✑✒✎✏✧❆✓✕✔✛✥ ✂✓➓✧❐ ✢☎❐ Û Ù✏❐

✂❇✌✦✥✏✓✲✱✻✴✫✗ ✌✦✥✵✴✫✗ ✹✵✥
ŷ(x)

✑✒✓
y(x)

✧✬✎✣✑✒✓✟✱❁✓✕✩❂✓✲✱✫✚✜✩✫✗ ✴✭✥❅✚✜✎★✌✏✎

ŷ = ŴT σ(p),
✤✜✢☎❐ ✣✑✣ ✭
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J(u)

✑✒✄✓✍✕✔✎✖✘✗☎✖

✑✒✄✓✍✕✔✎✖✘✗☎✖
Q,R

P ✑☞✙✚✁✛✖✜✆✜✝✠✟✢✗✂✣
Riccati

✤ ✖✠✄☎✥✂✟☛✡✒✔✎✦ ✍✎✧ ★✞✟

r
qd

q̇d

Λe(t) ✩ r(t)

✪✫✣✎✔✎✬✭✟
✮✯✟✘✰☎✁☎✌ ✍✎✟

✱✳✲ ✴✛✵✠✶✭✲ ✷✞✸
q

q̇τ(t)

η(t)u∗(t)

ĥ(t)✡✹✟✠✄✚✍ ✔✎✟✘✺ ✖✘✗✂✟✠✔✳�✼✻✾✽✿✽ ❀✿✣✞✌ ★✞✟✘✄☎✥☎✣✞★❁✧ ✗☎✖
−−

+
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τ(t) = ŴT σ(p) − u∗(t) − η(t),
✤✜✢✿❂ ✣✶✤✹✭

✎★✘✮✑✒✓
η(t)

❉✟✢✣✌❄✹✙✓✜✴✫✎★✩❋❇✶✢✣✓✁✚✜✎★✘✯●✽✓✕✩✫✓✷✩✫✎★❃✣✢✮✱✻✴✫✓✾❍✟✥✙✎✦✱❁✗✛✱✻✴✫✓✕✌✦✥✿❂
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M(q)ṙ(t) = −Vm(q, q̇)r(t) + W̃T σ(p) + ε(x) + u∗(t) + η(t) + τd(t),
✤✜✢✿❂ ✣✲✮ ✭

✎★✘✮✑✒✓
W̃

❉✪✎✏✓✕✩✫✩✫✎✏✑✒✓✟✓✲✱✻✴✫✗ ✌✦✥✵✴✫✗ ✹✙✥❅✑✒✎✶✱✾✧❆✓✲✱❁✎✶✱✾✑✣✥✏✩✫✓✲✑✒✓✹❏
W̃ = W − Ŵ

❂

❖ ✓✫❇✶✢✮✥✹P✾■✙✎✏✑✒✓✟✓✲✱✻✴✭✥★✑✒✎✶✱✾❏✒✑✒✓✫✶✮✘✣✗✛✑✣✥✏✧✬✓✕✔✛✥ ✂❑❇▲❂ ✢✿❂ ▼✚✩◗❏✒✧✬✎✒✑✒✓✟✓✕✘★✴☎■✙✎✦✱❁✓✕✩❂✓✲✱✫✚✜✩✫✗ ✴✭✥✏✑✣✥✏✱❁✓✕❈★✢✣✗ ✘✶✴✫✓❘●✽✎★✩✫✌✦✥ ✖
˙̃z = Az̃ + B[W̃T σ(p) + ε(x) + u∗(t) + η(t) + τd(t)].

✤✜✢✿❂ ✣ ✩ ✭

❙✸✘✮✱❁✓✕✩✫✗ ✘✮✑✒✎✦✥❅✔ ✓✕✗❯✑✒✓✟✚✜✎★✘✶✴✫✩✫✎★✔ ✓✷❖✙✴✫✗ ✌✏✎✳❏✁✂❑❇▲❂ ✢✿❂ ❃✲✩◗❏✺✎★❃✒✴✫❉✕✌❯❚✸✱❁✓

˙̃z = (A − BR−1BT P )z̃ + B[W̃T σ(p) + ε(x) + η(t) + τd(t)]
✤✜✢✿❂ ✣✲✪ ✭

❍ ✓✕❈★✢✣✘✮✑✒✎ ✆✪✗ ✌❄✓✜✴❇✥✙✔✜❂ ✤✜❃☞◆✹◆✹◆ ✭✛❏✺✢✒✴✫✗ ✔ ✗ ❍✲✥✙✘✮✑✒✎☞❚✸✱❁✓✟✚✜✎★✌✏✎❋✴✫✓✕✩✫✌✏✎✏✩✫✎★❃✣✢✮✱✻✴✫✎

η(t) = −kz

r(t)

‖r(t)‖ ,
✤✜✢✿❂ ✣✂� ✭
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kz ≥ bd
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˙̂
W = Fσ(p)rT − κ‖z̃‖Ŵ ,

✤✜✢✿❂ ✤☞◆ ✭
✚✜✎★✌

F = FT > 0
✓

κ > 0
❏ ✶✬✚✕✥✟❈✶✥✙✩✭✥✙✘✶✴✫✗✛✑✒✎ ❇✶✢✣✓

e(t)
❏
r(t)

✓
W̃
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✥✙✌✏✎✶✱✻✴✫✩✭✥✙❈✙✓✕✌❄✢✒✴✫✗ ✔ ✗ ❍✲✥★✑✒✎✳❏✣✴✭✥✙✘✶✴✫✎✯✘✮✥✯✱❁✗ ✌✁✢✣✔✛✥✹P✾■✙✎✯✚✜✎★✌✏✎✯✘✮✥✦✗ ✌✏✧✣✔ ✓✕✌✏✓✕✘★✴✭✥✹P✾■✙✎✳❏✿●✽✎★✗✷✶✿❈✣✥★✑✒✎✯✓✕✌

5
✌✏✗ ✔ ✗✛✱❁✓✕❈★✢✣✘✮✑✒✎✶✱✾❂

✸✼✥✙✩✭✥✏✥❅✗ ✌✏✧✣✔ ✓✕✌✏✓✕✘✶✴✭✥✹P✾■✙✎✳❏✒✓✲✱✻✴✫✓✷✴✫✓✕✌✏✧❆✎❯●✽✎★✗◗✓✲✱✻✴✭✥✙❃✬✓✕✔ ✓✲✚✜✗✛✑✒✎✦✥✵✴✫✩✭✥✲✹★❉✲✱✾✑✒✓✟✢✣✌✦✥❅✗ ✘✶✴✫✓✕✩✫✩✫✢✣✧ P✾■✙✎✏✑✒✓✹✕✗✟✒✘✚✙ ✞✛✟✒✘✺✜❉❂

✬ ✱❁✗✛✱✻✴✫✓✕✌✦✥ ●✽✎★✗◗✗ ✌✏✧✣✔ ✓✕✌✏✓✕✘✶✴✭✥★✑✒✎✦✚✜✎★✌❄✥★✱❂✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✲✱❂✚✕✥✙✩✭✥★✚ ✴✫✓✕✩✂❊✛✱✻✴✫✗✛✚✕✥✙✱●✧✣✩✫✗ ✘✮✚✜✗ ✧✮✥✙✗✛✱✼✻

• ❖ ✱❂✌✦✥✵✴✫✩✫✗ ❍✕✓✲✱
Q
✓

R
❇✶✢✣✓✟✚✜✎★✌✏✧✏✭✺✓✕✌❄✥ ●✽✢✣✘✳P✾■✙✎✦✚✜✢✮✱✻✴✫✎❯●✽✎★✩✭✥✙✌❄✑✒✓✵✶✮✘✣✗✛✑✣✥★✱❂✚✜✎★✌❄✎✶✱✾✱❁✓✕❈★✢✣✗ ✘✶✴✫✓✲✱✾✹✙✥✙✔ ✎★✩✫✓✲✱✵✻

Q =

[
3 −1

−1 4

]
, R−1 = 4. ✽ ✢✿❂ ✤✯▼✿✾

• ✬ ✚✜✎★✘★✴✫✩✫✎★✔✛✥★✑✒✎★✩●❉✁✚✜✎★✌✏✧✬✎✶✱✻✴✫✎✏✧✬✎★✩❂✎★✗ ✴✫✎✏✘✣✓✕✢✣✩✚❀★✘✣✗ ✎✶✱●✘✮✥✏✚✕✥✙✌✦✥★✑✣✥❅✗ ✘★✴✫✓✕✩✫✘✮✥✿❏✣✚✜✎★✌❄✎★✗ ✴✫✎✏✓✕✘★✴✫✩✭✥★✑✣✥★✱✼✻

p =
[

1 qT q̇T eT ėT rT qT
d q̇T

d

]T ✽ ✢✿❂ ✤✹❃✠✾

• ❖ ●✽✢✣✘✳P✾■✙✎✦✑✒✓✁✥✵✴✫✗ ✹✙✥✹P✾■✙✎❋✢✒✴✫✗ ✔ ✗ ❍✲✥★✑✣✥❅✘✮✥✦✚✕✥✙✌✦✥★✑✣✥❋✗ ✘✶✴✫✓✕✩✫✌✏✓✲✑✒✗❁✝✙✩✫✗✛✥ ●✽✎★✗❯✥ ●✽✢✣✘✳P✾■✙✎✦✱❁✗ ❈★✌✏✎★✗✛✑✣✥✙✔✄✻

σ(x) =
1

1 + exp(−x)
✽ ✢✿❂ ✤✱✢❂✾

• ❖ ●✽✢✣✘✳P✾■✙✎✦✑✒✓✁✥✵✴✫✗ ✹✙✥✹P✾■✙✎❋✢✒✴✫✗ ✔ ✗ ❍✲✥★✑✣✥❅✘✮✥✦✚✕✥✙✌✦✥★✑✣✥❅✑✒✓✁✱✫✥☞❊✛✑✣✥ ●✽✎★✗❯✥ ●✽✢✣✘✳P✾■✙✎✏✔ ✗ ✘✣✓✲✥✙✩❃✻

σ(x) = x ✽ ✢✿❂ ✤✚✣✥✾

• ❄ ✓✕✌✏✧❆✎✦✑✒✓✟✓❉❈✒✓✲✚✜✢✳P✾■✙✎❅✻ 20s

• ✬ ✱❁✗ ✘✮✥✙✔◗✑✒✓✪✩✫✓❉●✽✓✕✩✚❆✕✘✮✚✜✗✛✥❅✢✮✱✫✥★✑✒✎ ●✽✎★✗
qd = πsen(2πft) ✽ ✢✿❂ ✤✑✤✠✾

✚✜✎★✌ ● ✩✫✓✫❇❂❇✗❆✕✘✮✚✜✗✛✥
f = 0.05Hz

❂

• � ✥★✱❁✎ ▼✠✻
F = aI

❏
a = 50

✓
κ = 0.001



�✂✁☎✄✝✆✟✞✡✠☞☛✍✌✁�✙✑ �✧✌✥✱ ✞✂✮✕✌✥☛ ✁✄✂ ✌✥✮ ✱☎★✜✠☞✮☎✁✣☛☎✂✣★ ☛✝✆✁�✞✭✄✂ ✡ ✟✞✆✠✟✘✭ ☎✆☎ ✟✡✟ ✝ ☎ ✣✳▼

• � ✥★✱❁✎ ❃✍✻
F = aI

❏
a = 10

✓
κ = 0.0001

❏✬✎★✘✮✑✒✓
I
✩✫✓✕✧✣✩✫✓✲✱❁✓✕✘✶✴✭✥✏✥✦✌✦✥✵✴✫✩✫✗ ❍✟✗✛✑✒✓✕✘✶✴✫✗✛✑✣✥★✑✒✓❋✚✜✎★✌❀✑✒✗ ✌✏✓✕✘✮✱✂■✙✎

m × m
❏✣✱❁✓✕✘✮✑✒✎

m
✎✏✘✁�✣✌✏✓✕✩✫✎✦✑✒✓✪✘✣✓✕✢✣✩✚❀★✘✣✗ ✎✶✱✾✑✣✥✦✚✕✥✙✌✦✥★✑✣✥❋✗ ✘✶✴✫✓✕✩✫✌✏✓✲✑✒✗❁✝✙✩✫✗✛✥❅✑✣✥❅✩✫✓✲✑✒✓✹❂

✸✼✎✒✑✒✓✕✌✏✎✶✱❚✎★❃✮✱❁✓✕✩✫✹✵✥✙✩✫❏✲✧✣✩✫✎★✘✶✴✭✥✙✌✏✓✕✘★✴✭✓☞❏☞❇✺✢✒✓✾✥★✱❚✩✫✓✲✱❁✧✬✎✶✱✻✴✭✥★✱❯✑✒✎✪✱❁✗✛✱✻✴✫✓✕✌✦✥✷✱❁✗ ✌✁✢✣✔✛✥★✑✒✎✷✧✬✎✶✱✫✱❁✢✣✓✕✌ ✓❉❈✣✚✜✓✕✔ ✓✕✘★✴✫✓
❇✶✢✮✥✙✔ ✗✛✑✣✥★✑✒✓✹❂ ❖ ✩✫✓✲✱❁✧✬✎✶✱✻✴✭✥✄✂✷✱❁✗ ✌✁✢✣✔✛✥✹P✾■✙✎❊✘✣✎✶✱✼✑✒✎★✗✛✱✼✚✕✥★✱❁✎✶✱❯✧✣✩✫✎★✧✬✎✶✱✻✴✫✎✶✱❯✧✬✎✶✱✫✱❁✢✣✗✺✩✫✓✲✱❁✢✣✔ ✴✭✥★✑✒✎✶✱❚✱❁✗ ✌✏✗ ✔✛✥✙✩✫✓✲✱✾❏✲✴✭✥✙✘✶✴✫✎ ❇✶✢✮✥✙✘✯❚
✴✫✗ ✴✭✥✵✴✫✗ ✹✵✥✙✌✏✓✕✘✶✴✫✓✹❏◗✎✶✱✪✱❁✗ ✘✮✥✙✗✛✱✟✑✒✓✏✓✕✩✫✩✫✎✳✧✬✎✶✱✫✱❁✢✣✓✕✌ ✹✵✥✙✔ ✎★✩✫✓✲✱❊✩✫✓✕✔✛✥✵✴✫✗ ✹✙✥✙✌✏✓✕✘★✴✫✓❅✧✣✩✫❖✼❈✒✗ ✌✏✎✶✱✾❏◗✚ ✎★✌✏✎ ❇✶✢✮✥✙✔ ✗ ✴✭✥✵✴✫✗ ✹✵✥✙✌✏✓✕✘✶✴✫✓✹❏
✥★✱❊✩✫✓✲✱❁✧❆✎✶✱✻✴✭✥★✱❇✧❆✎✶✱✫✱❁✢✣✓✜✌ ●✽✎★✩✫✌✦✥☎✑✒✓❅✎★✘✮✑✣✥✳✌❋✢✣✗ ✴✫✎✰✱❁✓✕✌✏✓✕✔ �✮✥✙✘✶✴✫✓✲✱✾❂ ✸✼✎✣✑✺✓✕✌✏✎✶✱✪✑✒✗ ❍✕✓✕✩✫❏◗✑✒✓✕✹✺✗✛✑✒✎☎✂ ❇✶✢✮✥✙✔ ✗✛✑✣✥★✑✒✓✏✑✣✥★✱
✩✫✓✲✱❁✧✬✎✶✱✻✴✭✥✳✥✵✴✫✗ ✘✣❈★✗✛✑✣✥★✱❊✹✺✗✛✥✳✱❁✗ ✌❋✢✣✔✛✥✹P✾■✙✎✳❏ ❇✶✢✣✓❋✎✰✚✜✎★✘✶✴✫✩✫✎★✔✛✥★✑✒✎★✩✷✑✒✓ ☛✝✆✟✞✧✭✄✂✷✜ ✞✠✆☛✡ ✭ ☎✹✟ ✞☞✡✼✎✒✌✰❉❅✢✣✌✤✚✜✎★✘✶✴✫✩✫✎★✔✛✥★✑✒✎✙✩❘❇✶✢✣✓
✥✙✔✛✚✕✥✙✘✳P✕✥❋❃✬✎★✘✮✱✾✩✫✓✲✱❁✢✣✔ ✴✭✥★✑✒✎✶✱●✘✣✎✯✚✜✎★✘★✴✫✩✫✎★✔ ✓✟✑✒✎✦✱❁✗✛✱✻✴✫✓✕✌✦✥✏✑✒✗ ✘✍✌✙✌✏✗✛✚✜✎✏✓✕✌❄✓✲✱✻✴✫✢✮✑✒✎✳❂

❖ ✱❁✗ ✌❋✢✣✔✛✥✹P✾■✙✎❅❉✪✧✮✥✙✩❁✴✫✓❘●✽✢✣✘✮✑✣✥✙✌✏✓✕✘✶✴✭✥✙✔◗✧✮✥✙✩✭✥❅✥✏✥✙✘❅✝✙✔ ✗✛✱❁✓✷✓✟✧✣✩✫✎✏✎✸✓✜✴✫✎✦✑✒✓✁✱❁✗✛✱✻✴✫✓✕✌✦✥★✱❂✑✺✓✁✚✜✎★✘✶✴✫✩✫✎★✔ ✓✹❂ ✬ ✱❁✗ ❚
✌✁✢✣✔✛✥★✑✒✎★✩ �✰✟✒✱✒✑ ✟✠✴●❉ ✢✣✌ ✑✒✎✶✱◗✌✦✥✙✗✛✱❚✚✜✎★✘✁�✣✓✲✚✜✗✛✑✒✎✶✱ ✓ ✓✕✌✏✧✣✩✫✓✕❈✶✥★✑✒✎✶✱ ✧✮✥✙✩✭✥❂✓✲✱✻✴✫✓ ✶✮✌ ❏✵✱❁✓✕✘✮✑✒✎❘❇✶✢✣✓ ✎❊✚✜✎★✘✁�✣✓✲✚✜✗ ✌✏✓✕✘✶✴✫✎❊✑✒✓
✱❁✓✕✢✮✱ ✧✮✥✙✩✓✌✙✌✏✓✜✴✫✩✫✎✶✱❯✴✫✎★✩✫✘✮✥✒❚✸✱❁✓✾✢✣✌✦✥✪✘✣✓✲✚✜✓✲✱✫✱❁✗✛✑✣✥★✑✒✓✹❂☛❄✷✥✟✱❁✗ ✌✁✢✣✔✛✥✹P✾■✙✎✟✑✒✓❊✱❁✗✛✱✻✴✫✓✕✌✦✥★✱ ✑✒✗ ✘✍✌✙✌✏✗✛✚✜✎✶✱✾❏✙✎✟✧✮✥✙✩✓✌✙✌✏✓✜✴✫✩✫✎✪✌✦✥✙✗✛✱
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F = aI a ⊂ [0, 50]

✱ ✫ ★✍✪✲✛
Momentum κ ⊂ [0, 1]
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P✥◗ ❘✜❙❯❚✟❱❳❲❯❨ ❩❭❬❫❪❵❴✜❛✜❜ ❙❞❝❢❡❣❛✣❤❯❱❳✐❦❥♠❧♦♥♣❛q❧sr✟❱❳❤t❛✣✉✈❥❢❙❯❚✇❛t①②❛✜③qr✇❚✇❛✜❜④❱✜❤t❛❣❚♠❬⑥⑤ − ⑦ 1a.
❘✜❥❢❚✟❱✜❝❢❡❣❛❯⑧⑨⑤ − ⑦ 5a.

❘✜❥❢❚✟❱✜❝❢❡❣❛❞⑧⑨⑤ − ⑦
20a.

❘✜❥❢❚✟❱✜❝❢❡❣❛⑩❥❶⑤ − ⑦ 50a.
❘✜❥❢❚✟❱✜❝❢❡❣❛❯❨
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qd =





0
✳✶✱

t < 5s

π/2
✳✶✱

t ≥ 5s
✱

t < 12.5s

π
✳✶✱

t ≥ 12.5s

• ★✢✬✢❇✎✡❁❦❏✷✤❇❢❦❏✷✤✲ ✩ ❇✢✱✴✯❏✮✟❋

qd = 0.5sen(2πt/20) + sen(6πt/20) + 1.5sen(10πt/20)
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q̃ = q − q̂, ˙̃q = q̇ − ˙̂q,
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x1 = q

✱
x2 = q̇
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ẋ1 = x2

ẋ2 = ho(x) + M−1(x1)τ(t)
● ✓ ❛ �✠■

✷✭❇❢✼✾✱
ho(x)
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ho(x) = −M−1(x1)[Vm(x1, x2) +

+ g(x1) + Fvx2 + fc(x2) + τd(t)].
● ✓ ❛ ✥ ■
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M(q)
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✯❏✷ ✯ ✺❄✮❄✩ ✺❄✷❢✐ ✔✹✬✢✱✤✵✸✷✹✳❄✳✶✬✢✱✒✁✓✏ ✷✭✮✴✁❝✯ ❉ ✯✭✳✻✺✰✯❏❇✹✺❄✱❝❅❆✷✠✁✤✵✢❀ ✩❈❅❁✯✭✼✢✯✢✐ ✳✶✱ ✭✻✯✂✁ ❅❆✷✭❇❢✳✶✩❈✼✾✱❁✮✰✯✭✼✾✷✹✳ ❅✙✷✠✁✤✷✿✼✾✱✴✳❄❅❆✷✭❇✢❂✢✱✴❅❆✩❈✼✾✷✹✳❁❛✡✩❊✱
✯✭❅❆✷✭✮✰✼✾✷ ❅❆✷✠✁ ✯ ✵✢✮❄✷✭✵✢✮❄✩ ✱✴✼✢✯✭✼✾✱ ✼✾✱ ✯❏✵✢✮❄✷❈✌✾✩ ✁❝✯✠✡❁❦ ✷ ✼✾✱✖✏ ✬✢❇✎✡✍❊❤✱✴✳P✼✾✯✭✳❜✮❄✱✴✼✾✱✴✳✪❇✢✱❁✬✢✮✰✯❏✩❈✳❁✐ ✱✴✳✻✺❄✱✴✳ ✺❄✱❁✮✴✁✤✷✹✳P✼✾✱❁✳❄❅❆✷✭❇✢❂✢✱✴❅❆✩❈✼✾✷✹✳
✵▼✷✾✼✾✱✒✁ ✳✶✱❁✮ ✯❏✵✢✮❄✷✟✌✾✩ ✁❝✯✭✼✾✷✹✳ ✵▼✷✭✮✲✬✜✁❝✯ ✮❄✱✴✼✾✱ ❇✢✱❁✬✢✮✰✯❏❀❨❛ ✲❃✱✴✳✻✺❄✱✛✳✶✱❁❇✹✺❄✩❈✼✾✷✽✵▼✷✢✼✾✱✍☞✧✳✶✱❊✱❁❇✹✺✰❦❏✷✽✱✟✔✹✬❢✯✭❅❆✩ ✷✭❇❢✯❏✮

ho(x)
❅❆✷✠✁✤✷

ho(x) = W T
o σo(x) + εo(x)

● ✓ ❛ ✓ ■
❅❆✷✠✁ ‖εo(x)‖ ≤ εo,M

✱
σo(x) ∈ RNo

❛

❅ ✁❝✯✤✱✴✳✻✺❄✩ ✁❝✯ ✺❄✩ ■ ✯✤✼✾✱✽● ✓ ❛ ✓ ■ ✱✒✁ ✺❄✱❁✮✴✁✤✷✹✳✲✼✾✱
x̂1

✱
x̂2

✵✸✷✾✼✾✱✛✳✶✱❁✮❃✼✢✯✭✼✢✯✽✵▼✷✭✮

ĥo(x̂) = ŴT
o σo(x̂),

● ✓ ❛ ❋✠■
❅❆✷✠✁ ✷✹✳✲✵▼✱✴✳✶✷✹✳ ✼✢✯✽✮❄✱✴✼✾✱❍❇✢✱❁✬✢✮✰✯❏❀❨✐

Ŵo

✐❢✯❚✭✧✬❢✳✻✺✰✯✭✼✾✷✹✳ ✵✸✷✭✮ ✯❏❀ ✫✭✬✜✁ ✯❏❀ ✫✭✷✭✮❄✩ ✺✴✁✤✷✤✼✾✱❍✺❄✮❄✱❁✩ ❇❢✯✂✁✤✱❁❇✭✺❄✷✤✱✍✶▼❅❆✩ ✱❁❇✹✺❄✱✭❛

✩❊✱✍✶❢❇✢✩ ❇❢✼✾✷❝✵❢✯❏✮✰✯ ✷✤✷ ❉ ✳✶✱❁✮❄■❏✯✭✼✾✷❏✮ ✯✤✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱❍✱✟✔✹✬❢✯✠✡❁❦❏✷✤✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯✜❋

˙̂z1 = x̂2 + kDx̃1

˙̂z2 = ŴT
o σo(x̂) + M−1(x1)τ(t) + Kx̃1

● ✓ ❛ ● ■



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋❚✥

❅❆✷✠✁
kD > 0

✱
K = KT > 0

✐▼✯✭✳ ✱✴✳✻✺❄✩ ✁❝✯ ✺❄✩ ■❏✯✭✳
x̂1

✱
x̂2

✵❢✯❏✮✰✯✤✷✹✳ ✱✴✳✻✺✰✯✭✼✾✷✹✳
x1

✱
x2

✼✢✯✤●★✔▼❛ ✓ ❛ �✤✳❄❦❏✷❝✷ ❉ ✺❄✩❈✼✢✯✭✳
❅❆✷✠✁✤✷❢✐✜✲❃✩❈❅❆✷✹✳✶✩❈✯ ✱✍✣ ✷✠✁✤✱❁✩ ● ✝❤❣❭❣✠✞ ■ ❋

x̂1 = ẑ1

x̂2 = ẑ2 + kP x̃1
● ✓ ❛ ❉✂■

❅❆✷✠✁
kP > 0

❛✆✩❊✱✴✳❄✳✶✱ ✁✤✷✾✼✾✷❢✐▼✯❝✱✟✔✹✬❢✯✠✡❁❦❏✷ ✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯ ✼❤✷ ✷ ❉ ✳✶✱❁✮❄■❏✯✭✼✾✷✭✮✲✵✸✷✾✼✾✱ ✳✶✱❁✮❃✮❄✱❁✱✴✳❄❅❆✮❄✩ ✺✰✯✤✱✒✁ ✺❄✱❁✮✴✁✤✷✹✳❊✼✾✱
x̂1✱

x̂2
✐

˙̂x1 = x̂2 − kDx̃1

˙̂x2 = ˙̂z2 + kD
˙̃x1 = ŴT

o σo(x̂) +

+M−1(x1)τ(t) + Kx̃1 + kP
˙̃x1

● ✓ ❛ ❊ ■

❅❆✷✠✁
x̃1 = x1 − x̂1

✱
x̃2 = x2 − x̂2

❛

✆ ✱✟✔✹✬❢✯✠✡❁❦❏✷ ✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯✽✼✾✷✽✱❁✮❄✮❄✷ ❥ ✷ ❉ ✺❄✩❈✼✢✯ ✵✸✱❆❀❱✯ ✳✶✬ ❉ ✺❄✮✰✯✠✡❁❦❏✷✽✼✢✯ ●★✔▼❛ ✓ ❛ ❊ ✵✸✱❁❀❈✯ ●★✔▼❛ ✓ ❛ �✾✐◆❝❍✩ ✁ ✱✽✲ ✱❍❢ ✩❈✳
● ✝❤❣❭❣❭❣ ■✙✐

˙̃x1 = x̃2 − kDx̃1

˙̃x2 = WT
o σo(x) − ŴT

o σo(x̂) +

−Kx̃1 − kP
˙̃x1 + εo(x)

● ✓ ❛ ❣ ■

✆ ✼✾✩❈❅❆✩ ✷✭❇❢✯❏❇❢✼✾✷✤✱✛✳✶✬ ❉ ✺❄✮✰✯❏✩ ❇❢✼✾✷
WT

o σo(x̂)
✷ ❉ ✺❄❥✒✁❃☞✧✳✶✱

˙̃x1 = x̃2 − kDx̃1

˙̃x2 = WT
o σo(x̂) − Kx̃1 − kP

˙̃x1 + εo(x̃)
● ✓ ❛ ✝✟✞ ■

❅❆✷✠✁
W̃ = W − Ŵ

❛

✄ ✷✭❇❢✳✶✩❈✼✾✱❁✮✰✯❏❇❢✼✾✷☛✔✹✬✢✱
wo(x̃)

wo(x̃) = W T
o [σo(x) − σo(x̂)].

● ✓ ❛ ✝✠✝❈■
❥❍❀ ✩ ✁✤✩ ✺✰✯✭✼✾✷❝✵▼✷✭✮

‖wo(x̃)‖ ≤ ςo,M ,
● ✓ ❛ ✝❈�✠■

❅❆✷✠✁
ςo,M > 0

✐✢✱❁❇✹✺✰❦❏✷❝✯✤✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯✤✼✾✷✤✱❁✮❄✮❄✷✤✼✾✷❝✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮ ✵▼✷✢✼❤✱ ✳✶✱❁✮ ✱✟✔✹✬❢✯✭❅❆✩ ✷✭❇❢✯✭✼✢✯ ✵✸✷✭✮✟❋

˙̃x1 = x̃2 − kDx̃1

˙̃x2 = −kpx̃2 − (K − kP kdI)x̃1 + W̃T
o σo(x̂) +

+εo(x) + wo(x̃)
● ✓ ❛ ✝❤✥ ■

✷✭❇❢✼✾✱
I ∈ Rn×n

❥ ✯❃✁❝✯ ✺❄✮❄✩ ✑❍✩❈✼✾✱❁❇✹✺❄✩❈✼✢✯✭✼✾✱✭❛

● ✳✻✺❄✱ ✱✟✔✹✬❢✯✭❅❆✩ ✷✭❇❢✯✂✁✤✱❁❇✹✺❄✷ ✼✢✯✛✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯ ✼✾✷✛✱❁✮❄✮❄✷❊❥❃✼✾✱✖✏ ✬✢❇❢✼✢✯✂✁✤✱❁❇✹✺✰✯❏❀✢✩ ✁✤✵▼✷✭✮✶✺✢✜❏❇❢❅❆✩❈✯❊✵❢✯❏✮✰✯ ✯ ✷ ❉ ✺❄✱❁❇✎✡❁❦❏✷
✼✾✱❍✬✜✁❝✯✤✮❄✱❁✫✭✮✰✯ ✵❢✯❏✮✰✯✤✯✤❅❆✷✭❇❢✼✾✬✎✡❁❦❏✷✤✼✾✷❝✯❏✵✢✮❄✱❁❇❢✼✾✩ ✑✴✯✭✼✾✷ ❉ ✯✭✳✶✱✴✯✭✼✢✯ ❇✢✷❝✱❁✮❄✮❄✷✤✼✾✱✛✱❁✳✻✺✰✩ ✁❝✯ ✺❄✩ ■ ✯✤✼✢✯✽✵▼✷✹✳✶✩✙✡❁❦❏✷❢❛



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋ ✓

❅ ✁ ✯❏❀ ✫✭✷✭✮❄✩ ✺✴✁✤✷ ✼✾✱❝✯✮✭✧✬❢✳✻✺❄✱❝✼✾✱✤✵▼✱✴✳✶✷✹✳ ✼✢✯ ✮❄✱✴✼✾✱✽❇✢✱❁✬✢✮✰✯❏❀P✼✾✷ ✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮ ✼✾✱❁■✭✱✤✳✶✱❁✮❍✵✢❀❈✯❏❇✢✱ ✭✻✯✭✼✾✷❢✐✗✱❝✯
✱✴✳✻✺✰✯ ❉ ✩ ❀ ✩❈✼✢✯✭✼✾✱ ✼✾✷ ✳✶✩❈✳✻✺❄✱✒✁❝✯ ✼✾✱❁■❏✱✽✳✶✱❁✮ ✫✹✯❏✮✰✯ ❇✹✺❄✩❈✼✢✯✢❛✞❏❤✬✢✵▼✷✭❇✢❂❢✯✵✔✹✬✢✱ ✷✹✳❃✫✹✯❏❇✢❂✢✷✹✳❊✼✾✷ ✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮❊✳❄❦❏✷❝✱✴✳❄❅❆✷✭❀ ❂✢✩❈✼✾✷✹✳
✼✾✱ ✁✤✷✢✼✾✷❝✯✤✳❄✯ ✺❄✩❈✳ ✏ ✯✂✑❁✱❁✮ ✯✭✳ ✳✶✱❁✫✭✬✢✩ ❇✭✺✰✱❁✳❃❅❆✷✭❇❢✼❤✩✭✡ ❊✾✱✴✳✒❋

kP > k2
D/2 − No/2

● ✓ ❛ ✝ ✓ ■

λmin(K) > (k2
P + Nok

2
D)/2kD

● ✓ ❛ ✝❱❋✠■
✷✭❇❢✼✾✱

No

❥✛✷✤❇❀✿✜✁✤✱❁✮❄✷❝✼✾✱❍❇✢✱❁✬✢✮✴✳✭❇✢✩ ✷✹✳ ✼✢✯✽✮❄✱✴✼✾✱❍❇✢✱❁✬✢✮✰✯❏❀✗✱✭✐✢✼✢✯✭✼✢✯✤✯✤✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱☎✏ ✬✢❇✎✡❁❦❏✷ ✼❤✱ ✯❚✭✧✬❢✳✻✺❄✱✛✼✾✱✛✵▼✱✴✳✶✷✹✳
˙̂

Wo = −kDFoσo(x̂)x̃T
1 − κoFo‖x̃1‖Ŵo − κoFoŴo

● ✓ ❛ ✝❤● ■
❅❆✷✠✁

Fo = FT
o > 0

✱
κo > 0

✐✢✱❁❇✹✺✰❦❏✷❝✷✹✳ ✱❁✮❄✮❄✷✹✳✲✼✾✱ ✱✴✳✻✺❄✩ ✁❝✯✠✡❁❦❏✷
x̃1
✐
x̃2
✐❢✱

W̃o

✳❄❦❏✷✤❀ ✩ ✁✤✩ ✺✰✯✭✼✾✷✹✳❁✐✢✱✛✷ ✳✶✩❈✳✻✺❄✱✒✁❝✯✤❥
✱✴✳✻✺✕✘✴■✭✱❁❀✗❇✢✷❝✳✶✱❁❇✹✺❄✩❈✼✾✷❝✼✾✱❃✾✁�✠❂✢P☛▲ ❅ ❄✄✂✴✐☛❝❍✩ ✁ ✱✍✲ ✱❍❢ ✩❈✳ ● ✝❤❣❭❣❭❣ ■✙❛

✱ ✴ ✳ ☎ ✿ ✵✸✷☎✼✂✿✱✰ ✫ ✹ ✿✽✼✮✭✯★✯✷❏✼✑✫✱✰

✄ ✷✠✁✤✷❊✷❃✷ ❉ ✳✶✱❁✮❄■❏✯✭✼✾✷❏✮ ✼✾✱✴✳✶✱❁❇❤■✭✷✭❀ ■❤✩❈✼✾✷❃✯✭❅❆✩ ✁❝✯❊✼✾✱❁■✭✱ ✱✴✳✻✺✰✯❏✮✪✯✭✳❄✳✶✷✾❅❆✩❈✯✭✼✾✷❃✯❃✬✜✁ ❅❆✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮❁✐✒✏ ✷✭✩❤✵✢✮❄✷✭✵▼✷✹✳ ☞
✺❄✷✛✷❍✬❢✳✶✷ ✼✾✷ ❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮❜❇✢✱❁✬✢✮✰✯❏❀✢✼✾✱❞❁ ❡✖✕ ✝ ✾❁❀✝✆P❡✘✗ ✝✌☞ ❂✄✆✂✗✒❄✹❅❢✐❤✼✾✱✴✳✶✱❁❇✹■✭✷✭❀ ■❤✩❈✼✾✷❍❇✢✷ ✡✌☞✎✍✑✏✓✒✕✔✗✖✙✘✤✥✢❛✂✩❊✱✴✳❄✳✶✱✢✁✤✷✾✼✾✷❢✐✭✷
✺❄✱✍✌❤✺❄✷✛✯❍✳✶✱❁✫✭✬✢✩ ✮P✼✾✱✴✳✶✱❁❇❤■❏✷✭❀❈■❏✱ ✯❊✺❄✱❁✷✭✮❄✩❈✯❊❇✢✱✴❅❆✱✴✳❄✳✴✘❏✮❄✩❈✯❃✵❢✯❏✮✰✯ ✯❍✯❏✵✢❀ ✩❈❅❁✯✠✡❁❦❏✷❍✼✾✷❍✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮❜✼✾✱✴✳❄❅❆✮❄✩ ✺❄✷❍✯✭❅❆✩ ✁❝✯✢✐✠✔✹✬❢✯❏❇❢✼✾✷
✯❏✵✢❀ ✩❈❅❁✯✭✼✾✷✤✯❏✷❝❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮✲❇✢✱❁✬✢✮✰✯❏❀ ✼❤✱❡❁ ❡✖✕ ✝ ✾❁❀✝✆P❡✘✗ ✝✌☞ ❂✄✆✂✗✒❄✹❅❢❛

✩ ✯✭✼✢✯✿✬✜✁❝✯ ✺❄✮✰✯❚✭✧✱❆✺✬✫✭✮❄✩❈✯✿✼✾✱✴✳✶✱ ✭✧✯✭✼✢✯
qd(t) ∈ Rn

✐P✷✹✳✛■✭✱❆✺❄✷✭✮❄✱✴✳ ✼✾✱ ✱❁✮❄✮❄✷❢✐
e(t)

✱
ė(t)

✳❄❦❏✷ ✼✾✱✍✶❢❇✢✩❈✼✾✷✹✳
❅❆✷✠✁✤✷

e(t) = qd(t) − q(t)

ė(t) = q̇d(t) − q̇(t)
● ✓ ❛ ✝✍❉✂■

✱✛✯☛✁✤✱❁✼✾✩❈✼✢✯❝✼✾✱ ✼✾✱✴✳✶✱✒✁✤✵▼✱❁❇✢❂✢✷✤✩ ❇❢✳✻✺✰✯❏❇✹✺✢✜❏❇✢✱❁✷❝✼✾✷❝✳✶✩❈✳✻✺❄✱✒✁❝✯✽❥✛✷ ❉ ✺✰✩❈✼✢✯✽✵▼✷✭✮

r̂(t) = ˙̂e(t) + Λe(t).
● ✓ ❛ ✝✆❊ ■

✔ ✁✤✷✢✼✾✱❁❀ ✷✤✼✾✩ ❇❇✜✂✁✤✩❈❅❆✷ ✼✾✷✤✮❄✷ ❉ ✳❢✐✾●★✔▼❛ ✥✢❛ ❉❤✐✾✵▼✷✾✼✾✱✛✱❁❇✭✺✰❦❏✷❝✳✶✱❁✮ ✮❄✱❁✱✴✳❄❅❆✮❄✩ ✺❄✷✤❅❆✷✠✁✤✷

M(q) ˙̂r(t) = −Vm(q, q̇)r̂(t) − τ(t) + h(x)
● ✓ ❛ ✝❤❣ ■

✳✶✱❁❇❢✼✾✷✷✔✹✬✢✱✛✯✭✳✖✏ ✬✢❇✎✡✍❊❤✱✴✳ ❇❢❦❏✷✂☞ ❀ ✩ ❇✢✱✴✯❏✮❄✱❁✳✲✼✾✱✴✳✻✺❄✱ ✁✤✷✾✼✾✱❁❀ ✷✤✱✴✳✻✺✰❦❏✷✤✯❏✫✭✮❄✬✢✵❢✯✭✼✢✯✭✳ ✱✒✁
h(x)

❋

h(x) = M(q)(q̈d + ¨̃q + Λė) +

+ Vm(q, q̇)(q̇d + ˙̃q + Λe) +

+ g(q) + Fv q̇ + fc(q̇) + τd(t).
● ✓ ❛ �✂✞ ■

✩❊✱✴✳❄✳✶✱✢✁✤✷✾✼✾✷❍✺❄✱✒✁✤✷✹✳P✱✒✁
h(x)

✬✜✁❝✯☎✏ ✬✢❇✎✡❁❦❏✷ ✔✹✬✢✱❃❅❁✯❏✵✾✺❄✬✢✮✰✯ ✺❄✷✾✼✢✯✛✯✛✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯❍❇❢❦❏✷❍❀ ✩ ❇✢✱✴✯❏✮ ✼✾✷ ✁✤✷✾✼✾✱❁❀ ✷ ✼✾✷✛✮❄✷ ❉ ✳
✱✒✁ ✔✹✬✢✱❁✳✻✺✙❦❏✷❢❛

✩❊✱✍✶❢❇✢✱✍☞✧✳✶✱✛✯✤❀ ✱❁✩ ✼✾✱ ❅❆✷✭❇✹✺❄✮❄✷✭❀ ✱❍❅❆✷✠✁✤✷

τ(t) = h(x) − u(t),
● ✓ ❛ � ✝❈■



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋❭❋

❅❆✷✠✁
u(x) ∈ Rn

✳✶✱❁❇❢✼✾✷❍✬✜✁❝✯ ✱❁❇✹✺❄✮✰✯✭✼✢✯ ✼✾✱ ❅❆✷✭❇✹✺❄✮❄✷✭❀ ✱✲✯❏✬ ✌✾✩ ❀ ✩❈✯❏✮P✯❍✳✶✱❁✮❋✼❤✱✍✶❢❇✢✩❈✼✢✯❍✵▼✷✹✳✻✺❄✱❁✮❄✩ ✷✭✮✴✁✤✱❁❇✹✺❄✱✭❛☎✣ ✱✒✁❃☞✧✳✶✱✲✱❁❇✹✺✰❦❏✷
✷❝✳✶✩❈✳✻✺❄✱✒✁❝✯✽✱✒✁ ✁❝✯❏❀ ❂❢✯ ✏ ✱✴❅❄❂❢✯✭✼✢✯✤✼✢✯✭✼✾✷✤✵✸✱❁❀❈✯✽✱✟✔✹✬❢✯✠✡❁❦❏✷

M(q) ˙̂r(t) = −Vm(q, q̇)r̂(t) + u(t)
● ✓ ❛ �✠�✠■

✩❊✱✍✶❢❇✢✩ ❇❢✼✾✷ ✯✽✱✟✔✹✬❢✯✠✡❁❦❏✷✤✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯✤✼✾✷✤✱❁✮❄✮❄✷✤❅❆✷✠✁✤✷

˙̂e(t) = −Λe(t) + r̂(t)
● ✓ ❛ �❚✥ ■

✷❝✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱✛✳✶✩❈✳✻✺❄✱✒✁❝✯✤✼✾✱✛✱✟✔✹✬❢✯✠✡✍❊❤✱✴✳✲✼✾✱✛✱✴✳✻✺✰✯✭✼✾✷✽✵✸✷✾✼✾✱✛✳✶✱❁✮ ✱✴✳❄❅❆✮❄✩ ✺❄✷✎❋

˙̃z =

[
˙̂e
˙̂r

]
=

[
−Λ I

0 −M−1Vm

] [
e

r̂

]
+

[
0

M−1

]
u(t)

● ✓ ❛ � ✓ ■

✷✭✬ ✱✒✁ ❇✢✷❏✺✰✯✠✡❁❦❏✷✤✯ ❉ ✮❄✱❁■❤✩❈✯✭✼✢✯
˙̃z = A(q, q̇)z̃ + B(q)u(t)

● ✓ ❛ �❭❋✠■
❅❆✷✠✁

A(q, q̇) ∈ R2n×2n
✐
B(q) ∈ R2n×n

✐
z̃(t) ∈ R2n×1 ❛✒✩❊✱✍✶❢❇✢✩ ❇❢✼✾✷✂☞✧✳✶✱ ❅❆✷✠✁✤✷ ✏ ✬✢❇✎✡❁❦❏✷✤✼✾✱❍❅❆✬❢✳✻✺❄✷✽✯✽✳✶✱❁✫✭✬✢✩ ❇✭✺❄✱

✏ ✬✢❇✎✡❁❦❏✷✷✔✹✬❢✯✭✼✾✮✕✘ ✺❄✩❈❅❁✯✜❋
J(u) =

∫
∞

to

L(z̃, u)dt
● ✓ ❛ �❚● ■

❅❆✷✠✁ ✲ ✯❏✫✭✮✰✯❏❇✢✫❏✱✴✯❏❇✢✷
L(z̃, u) =

1

2
z̃T Qz̃ +

1

2
uT Ru.

● ✓ ❛ �❆❉✂■

✔ ✷ ❉ ✭ ✱❆✺❄✩❈■❏✷ ❥❃✱❁❇❢❅❆✷✭❇✹✺❄✮✰✯❏✮ ✯✛❀ ✱❁✩▼✼✾✱❊❅❆✷✭❇✹✺❄✮❄✷✭❀ ✱
u(t)

✐❇✔✹✬✢✱ ✁✤✩ ❇✢✩ ✁✤✩ ✑✴✯ ✯❍●★✔✸❛ ✓ ❛ �❚●✛✳✶✬❚✭✧✱❁✩ ✺✰✯✍✰✭✳❋✮❄✱✴✳✻✺❄✮❄✩✙✡✍❊❤✱✴✳
✼✢✯ ✱✟✔✹✬❢✯✠✡❁❦❏✷ ✼✾✩ ✏ ✱❁✮❄✱❁❇❢❅❆✩❈✯❏❀✸✩ ✁✤✵▼✷✹✳✻✺✰✯ ✵▼✱❁❀❈✯ ●★✔▼❛ ✓ ❛ � ✓ ❛ ✆ ❀ ✱❁✩✗✼✾✱❍❅❆✷✭❇✭✺❄✮❄✷✭❀❈✱✗✔✹✬✢✱❍✯ ✺❄✩ ❇✢✫✭✱❊✱✴✳✻✺❄✱ ✷ ❉ ✭✧✱❆✺❄✩ ■✭✷ ❥❍✼✾✱❁❇✢✷❏✺✰✯✭✼✢✯
✵▼✷✭✮

u∗(t)
❛ ✆ ❅❆✷✭❇❢✼✾✩✙✡❁❦❏✷✽❇✢✱✴❅❆✱✴✳❄✳✴✘❏✮❄✩❈✯ ✱ ✳✶✬ ✶▼❅❆✩ ✱❁❇✭✺❄✱✛✵❢✯❏✮✰✯☛✔✹✬✢✱

u∗(t)
✁✤✩ ❇✢✩ ✁✤✩ ✑❁✱ ✯✽●★✔▼❛ ✓ ❛ �❚●✤✳✶✬❚✭✧✱❁✩ ✺✰✯✤✰✽●★✔▼❛ ✓ ❛ � ✓ ✐

✳✶✱❁✫✭✬✢❇❢✼✾✷ ✲ ✱❍❢ ✩❈✳❍✱❙❏✁�❤✮✴✁✤✷✹✳☛● ✝❤❣❭❣❜❋✠■✙✐✸❥✷✔✹✬✢✱✽✱✍✌✾✩❈✳✻✺✰✯ ✬✜✁❝✯✵✏ ✬✢❇✎✡❁❦❏✷
V (z̃, t)

✔✹✬✢✱✤✳❄✯ ✺❄✩❈✳ ✏ ✯✠✡❁✯ ✯ ✱✟✔✹✬❢✯✠✡❁❦❏✷✄✂✢☞✆☎✂☞ ❁ ✐
●★✔▼❛ ✥✢❛ � ✝

✆ ✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱ ✏ ✬✢❇✎✡❁❦❏✷
V (z̃, t)

❅❆✷✠✁✤✵▼✷✹✳✻✺✰✯ ✵▼✷✭✮
M(q)

✱ ✬✜✁❝✯ ✁❝✯ ✺❄✮❄✩ ✑ ✳✶✩ ✁✤❥❆✺❄✮❄✩❈❅❁✯ ✱ ✼✾✱✍✶❢❇✢✩❈✼✢✯ ✵▼✷✹✳✶✩ ✺❄✩ ■❏✯
K = KT ∈ Rn×n

✳❄✯ ✺❄✩❈✳ ✏ ✯✂✑❁✱❁❇❢✼✾✷✤✯✽✱✟✔✹✬❢✯✠✡❁❦❏✷✝✂✢☞✆☎✂☞ ❁ ✐✾❥✛✱✒✁✤✵✢✮❄✱❆✫✹✯✭✼✢✯✜❋

V =
1

2
z̃T P (q)z̃ =

1

2
z̃T

[
K 0

0 M(q)

]
z̃

● ✓ ❛ � ❊ ■

✷✭❇❢✼✾✱
Λ
✱

K
✱✒✁ ●★✔▼❛ ✓ ❛ �❚✥✛✱❊●★✔▼❛ ✓ ❛ � ❊ ✳❄❦❏✷ ✼✾✱❆✺❄✱❁✮✴✁✤✩ ❇❢✯✭✼✾✷✹✳❋✵✸✱❁❀❈✯ ✳✶✷✭❀ ✬✎✡❁❦❏✷ ✼✢✯ ✱✟✔✹✬❢✯✠✡❁❦❏✷ ✼✾✩ ✏ ✱❁✮❄✱❁❇❢❅❆✩❈✯❏❀✸✼✾✱❛■❊❡✌❬✬❬✕❂✮❴❨❡❱✐

●★✔▼❛ ✥✢❛ � ✓ ❛

❏❤✱❁✫✭✬✢✩ ❇❢✼✾✷ ✷ ✮✰✯✭❅❆✩ ✷✢❅❆❣ ❇✢✩ ✷ ✼✾✱✴✳✶✱❁❇❤■✭✷✭❀ ■❤✩❈✼✾✷ ❇✢✷✸✡✌☞ ✍ ✏✓✒ ✔✑✖✙✘ ✥✢✐✲✯ ❀ ✱❁✩❃✼✾✱ ❅❆✷✭❇✹✺❄✮❄✷✭❀ ✱ ✫❏✺❄✩ ✁✤✷
u∗(t)

✔✹✬✢✱
✁✤✩ ❇✢✩ ✁✤✩ ✑✴✯✤✯✤●★✔▼❛ ✓ ❛ �❚●✽✳✶✬❚✭✧✱❁✩ ✺✰✯✤✰✽●★✔▼❛ ✥✢❛ ✝✍❉ ❥✂❋

u∗(t) = −R−1BT P (q)z̃ = −R−1r̂
● ✓ ❛ �❚❣ ■

✆ ✏ ✬✢❇✎✡❁❦❏✷✤❇❢❦❏✷✤❀ ✩ ❇✢✱✴✯❏✮❃✼✢✯✤✼✾✩ ❇❇✜✂✁✤✩❈❅❁✯✤✼✾✷✤✮❄✷ ❉ ✳❢✐❤●★✔▼❛ ✓ ❛ �✂✞✢✐✾✵▼✷✾✼✾✱ ✳✶✱❁✮✲✮❄✱❁✵✢✮❄✱✴✳✶✱❁❇✹✺✰✯✭✼✢✯ ✵▼✷✭✮

hc(x) = W T
c σc(p) + εc(x), ‖εc(x)‖ ≤ εc,M

● ✓ ❛ ✥✠✞ ■



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋❚●

❏❤✱❁❇❢✼✾✷ ✔✹✬✢✱ ✷ ✱❁✮❄✮❄✷ ✼✾✱✤✯❏✵✢✮❄✷❈✌✾✩ ✁❝✯✠✡❁❦ ✷ ‖εc(x)‖ ✼✢✯ ✮❄✱✴✼✾✱ ❇✢✱❁✬✢✮✰✯❏❀✪✵▼✷✹✳❄✳✶✬✢✩✪✬✜✁ ❀ ✩ ✁✤✩ ✺✰✯❏❇✹✺❄✱✤✳✶✬✢✵▼✱❁✮❄✩ ✷✭✮ ❅❆✷✭❇✢❂✢✱✴❅❆✩❈✼✾✷
εc,M

❛

❅ ✁❝✯✤✱✴✳✻✺❄✩ ✁❝✯ ✺❄✩ ■ ✯
ĥc(x)

✼✾✱
hc(x)

✵✸✷✾✼✾✱✛✳✶✱❁✮❃❅❁✯❏❀❈❅❆✬✢❀❈✯✭✼✢✯ ✵✸✷✭✮

ŷc = ŴT
c σc(p).

● ✓ ❛ ✥✜✝❈■
✔ ✳ ✺❄✷✭✮✕✔✹✬✢✱✴✳ ✱✍✌❤✺❄✱❁✮❄❇✢✷✹✳

τ(t)
✐✢✯❏✵✢❀ ✩❱❅❆✯✭✼✾✷✹✳ ✳✶✷✤✳✶✩❱✳✻✺❄✱✒✁❝✯✢✐✾✵❢✯✭✳❄✳❄✯✂✁ ✯✤✳✶✱❁✮❃✼✢✯✭✼✾✷✹✳✲✵▼✱❁❀❈✯✽✱✟✔✹✬❢✯✠✡❁❦❏✷

τ(t) = ŴT
c σc(p) − u∗(t) − η(t),

● ✓ ❛ ✥ �✠■
✷✭❇❢✼✾✱

η(t)
❥✛✬✜✁ ■❏✱❆✺❄✷✭✮ ✔✹✬✢✱ ❅❆✷✭❇ ✏ ✱❁✮❄✱ ✮❄✷ ❉ ✬❢✳✻✺❄✱✒✑✛✯❏✷❝✳✶✩❈✳✻✺❄✱✒✁❝✯✢❛❜●❋❇✹✺✰❦❏✷❢✐✢✯✤●★✔▼❛ ✓ ❛ ✝❤❣ ✶▼❅❁✯

M(q) ˙̂r(t) = −Vm(q, q̇)r̂(t) + W̃T
c σc(p) +

+ εc(x) + u∗(t) + η(t) + τd(t),
● ✓ ❛ ✥❭✥ ■

❅❆✷✠✁
W̃c = Wc − Ŵc

❛

✆ ✼✾✱✴✳❄❅❆✮❄✩✙✡❁❦❏✷✽❇✢✷✤✱✴✳✶✵❢✯✠✡❆✷✤✼✾✱✛✱✴✳✻✺✰✯✭✼✾✷✹✳✲✼✢✯✤●★✔▼❛ ✓ ❛ �✠� ✵✸✷✾✼✾✱✛✳✶✱❁✮❃✼✢✯✭✼✢✯✽✵▼✷✭✮

˙̃z = Az̃ + B[W̃T
c σc(p) + εc(x) + u∗(t) + η(t) + τd(t)]

● ✓ ❛ ✥ ✓ ■
❅❆✷✠✁

z̃
✐
A

✱
B

✏ ✷✭✮❄❇✢✱✴❅❆✩❈✼✾✷✹✳❍✵▼✱❁❀❈✯ ●★✔▼❛ ✓ ❛ �❭❋✾❛✦★✧❇❢✳✶✱❁✮❄✩ ❇❢✼✾✷✿✯ ❀ ✱❁✩ ✼✾✱ ❅❆✷✭❇✭✺❄✮❄✷✭❀ ✱✦✫❏✺❄✩ ✁✤✷✿✼✢✯ ●★✔▼❛ ✓ ❛ �❚❣ ❇❢✯ ●★✔▼❛ ✓ ❛ ✥ ✓ ✐
✺❄✱✒✁✤✷✹✳

˙̃z = (A − BR−1BT P )z̃ +

+ B[W̃T
c σc(p) + εc(x) + η(t) + τd(t)].

● ✓ ❛ ✥❜❋✠■

❅ ✺❄✩ ❀ ✩ ✑✴✯❏❇❢✼✾✷✂☞✧✳✶✱❍✷✽✺❄✱❁✮✴✁✤✷✤✮❄✷ ❉ ✬❢✳✻✺❄✷

η(t) = kz

r̂(t)

‖r̂(t)‖ ,
● ✓ ❛ ✥❭● ■

❅❆✷✠✁
kz ≤ bd

✐✢✱✛✬✜✁❝✯ ✏ ✬✢❇✎✡❁❦❏✷❝✼✾✱ ✯✭✼✢✯❏✵✾✺✰✯✠✡❁❦❏✷✤✼✾✷✹✳✲✵▼✱✴✳✶✷✹✳ ✼✢✯✽✮❄✱✴✼✾✱

˙̂
Wc = Fcσc(p)(BT P (q)z̃)T − κc‖z̃‖Ŵc

● ✓ ❛ ✥❁❉✂■
❅❆✷✠✁

Fc = FT
c > 0

✱
κc > 0

✐ ✱❁❇✹✺✰❦❏✷ ✷✹✳ ✱❁✮❄✮❄✷✹✳
e(t)

✐
r̂(t)

✱✤✷✹✳ ✵▼✱✴✳✶✷✹✳
W̃c(t)

✳❄❦❏✷ ❀ ✩ ✁✤✩ ✺✰✯✭✼✾✷✹✳❁✐ ✱✤✵▼✷✭✮✶✺✙✯❏❇✭✺❄✷
✱✴✳✻✺✕✘✴■✭✱❁✩❈✳✲❇✢✷❝✳✶✱❁❇✹✺❄✩❈✼✾✷❝✼✾✱❃✾✁�✠❂✢P☛▲ ❅ ❄✄✂✴✐❇❝❍✩✙✁ ✱❆✺❊✯❏❀❨❛ ●✿�✂✞✠✞✠✞ ■✙❛

✔ ✼✾✩❈✯❏✫✭✮✰✯✂✁❝✯ ✼✾✱ ❉ ❀ ✷✾❅❆✷✹✳P✼✢✯✛★✪✩ ✫❢❛ ✓ ❛ ✝✖✁✤✷✹✳✻✺❄✮✰✯ ✷✹✳P✵✾✮❄✩❈❇✢❅❆✩ ✵❢✯❏✩❈✳❋❅❆✷✠✁✤✵▼✷✭❇✢✱❁❇✹✺❄✱✴✳P✼✾✷ ❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮❜❇✢✱❁✬✢✮✰✯❏❀

✱ ✴ ✱ � ★✆✦☎✷ ✰ ✷✗✫ ✹ ✿✱✦ ✹ ★ ✴ ✸✂✁✧✰ ★✆✸ ★ ✵ ✷✗✫ ✻✾✽✍✿

✔ ✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮✛❇✢✱❁✬✢✮✰✯❏❀❋✱ ✷ ❅❆✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮✛❇✢✱❁✬✢✮✰✯❏❀ ✼✾✩❈✳❄❅❆✬✾✺❄✩❈✼✾✷✹✳ ✯✭❅❆✩ ✁❝✯ ✏ ✷✭✮✰✯✂✁ ✩ ✁✤✵✢❀ ✱✒✁✤✱❁❇✹✺✰✯✭✼✾✷✹✳✛❇✢✷
✳✶✩❈✳✻✺❄✱✒✁❝✯❃✁✤✱✴❅❍✜❏❇✢✩❈❅❆✷✤✼✾✱✴✳❄❅❆✮❄✩ ✺❄✷✤❇✢✷☎✄ ✍✝✆✟✞✡✠✡☛✌☞✎✍✏✄ ✐✾✱✛✷✹✳✲✵✢✮❄✩ ❇❢❅❆✩ ✵❢✯❏✩❈✳✲✮❄✱✴✳✶✬✢❀ ✺✰✯✭✼✾✷✹✳✲✳❄❦❏✷✤✯❏✵✢✮❄✱✴✳✶✱❁❇✹✺✰✯✭✼✾✷✹✳✲✯✤✳✶✱❁✫✭✬✢✩ ✮✴❛

✔ ✳✶✩❈✳✻✺❄✱✒✁❝✯ ✏ ✷✭✩ ✩ ✁✤✵✢❀ ✱✒✁✤✱❁❇✹✺✰✯✭✼✾✷❝❅❆✷✠✁ ✯✭✳ ✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱✴✳ ❅❁✯❏✮✰✯✭❅✙✺❄✱❁✮❄❣❈✳✻✺❄✩❈❅❁✯❏✳ ✵✢✮❄✩ ❇❢❅❆✩ ✵❢✯❏✩❈✳✒❋



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋❆❉

�✂✁☎✄☎✆✞✝✠✟☛✡☞✁☎✌✎✍✏✟☎✑
J(u)

✒✔✓✖✕✘✗✏✙✛✚✂✙

✒✔✓✛✕✏✗✏✙✛✚✂✙

Q,R

P ✜✣✢ ✁✥✤✛✆✞✝✠✟✧✦✩★
Riccati

✪ ✤✠✄✂✫☎✟✬✡☞✭✏✮ ✍✘✯ ✰✱✟

r̂ qd

q̇d

Λe(t) ✲ r̂(t)

✳✵✴✞✗✘✶✧✷

✸✺✹ ✻✥✼✠✽✾✹ ✿✞❀
❁✺✴❃❂✘❄✱✷✖✓✂❅✂✴❃❄✱❆ ✚✂✙

q

˙̂q

τ(t)

−η(t)
−u∗(t)

ĥ(t)✡☞✟✛✄✖✍✘✭✘✟✛❇ ✤✛✦✂✟✛✭

❈✺❉ ✌❊★✞✭✘❋✠✤✛✦✩✟✛✭

●❍✟ ❉ ✁☎✌✎✍✏✟

★✪✩ ✫✭✬✢✮✰✯ ✓ ❛ ✝✠❋★✄ ✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮❉✲❃✱❁✬✢✮✰✯❏❀❏■❃✺❄✩ ✁✤✷☛✁❝✯❏✩❈✳ ✔❊❉ ✳✶✱❁✮❄■❏✯✭✼✾✷❏✮✲✼✾✱✛● ✳✻✺✰✯✭✼✾✷✹✳

• ✣✪✯❏❇✹✺❄✷✽✷✽✷ ❉ ✳✶✱❁✮❄■❏✯✭✼❤✷✭✮ ❅❆✷✠✁✤✷✽✷✤❅❆✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷❏✮★✏ ✷✭✮✰✯✂✁ ✼✾✩❈✳❄❅❆✮❄✱❆✺❄✩ ✑✴✯✭✼✾✷✹✳ ❅❆✷✠✁ ✬✜✁ ✵▼✱❁✮❄❣ ✷✢✼✾✷✽✼✾✱❍✯✂✁✤✷✹✳✻✺❄✮✰✯❏✫✭✱✒✁
✼✾✱

5ms
❛✚✲❃✷❍✵✢✮❄✷✾❅❆✱✴✳❄✳✶✷ ✼✾✱ ✼✾✩❈✳❄❅❆✮❄✱❆✺❄✩ ✑✴✯✠✡❁❦❏✷✢✐❏✯✭✳✪✱✟✔✹✬❢✯✠✡✍❊❤✱✴✳✪✼✾✩ ✏ ✱❁✮❄✱❁❇❢❅❆✩❈✯❏✩❈✳❁✏ ✷✭✮✰✯✂✁ ✳✶✷✭❀ ✬❢❅❆✩ ✷✭❇❢✯✭✼✢✯✭✳ ✬✾✺❄✩ ❀ ✩ ✑✴✯❏❇❢✼✾✷✂☞

✳✶✱✛✷☛✁✤❥❆✺❄✷✾✼✾✷❝✼✾✷✽✺❄✮✰✯❏✵✸❥✒✑❁✩ ✷❢❛

• ✆ ✳✢✁❝✯ ✺❄✮❄✩ ✑❁✱✴✳
Q
✱

R
✔✹✬✢✱✛❅❆✷✠✁✤✵ ❊❤✱✛✯ ✏ ✬✢❇✎✡❁❦❏✷❝❅❆✬❢✳✻✺❄✷✤✵▼✷✹✳❄✳✶✬✢✱✒✁ ✷✹✳ ✳✶✱❁✫✭✬✢✩ ❇✹✺❄✱✴✳✲■ ✯❏❀ ✷✭✮❄✱✴✳✒❋

Q =

[
3 −1

−1 4

]
, R−1 = 4.

● ✓ ❛ ✥✝❊ ■

• ✔ ❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮ ❥ ❅❆✷✠✁✤✵▼✷✹✳✻✺❄✷✤✵▼✷✭✮ ✷✭✩ ✺❄✷✤❇✢✱❁✬✢✮✴✳✭❇✢✩ ✷✹✳ ❇❢✯✤❅❁✯✂✁❝✯✭✼✢✯✽✩ ❇✭✺❄✱❁✮❄❇❢✯✢✐✢❅❆✷✠✁ ✷✭✩ ✺❄✷✤✱❁❇✭✺❄✮✰✯✭✼✢✯✭✳✒❋

xc = pc =
[

1 qT ˙̂qT eT ˙̂eT r̂T qT
d q̇T

d

] ● ✓ ❛ ✥❭❣ ■

• ✔ ✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮ ❥✛❅❆✷✠✁✤✵✸✷✹✳✻✺❄✷✤✼✾✱ ✳✶✱❆✺❄✱❍❇✢✱❁✬✢✮✴✳✭❇✢✩ ✷✹✳ ❇❢✯❝❅❁✯✂✁❝✯✭✼✢✯ ✩ ❇✹✺❄✱❁✮❄❇❢✯✢✐✢❅❆✷✠✁ ✳✶✱❆✺❄✱✛✱❆❇✹✺❄✮✰✯✭✼✢✯✭✳✒❋

xo = po =
[

1 q̃T q̂T ˙̂qT ‖q̃‖ ‖q̂‖ ‖ ˙̂q‖
] ● ✓ ❛ ✓ ✞ ■

• ✆ ✏ ✬✢❇✎✡❁❦❏✷❝✼✾✱ ✯ ✺❄✩ ■❏✯✠✡❁❦❏✷ ✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✢✯✽❇❢✯❝❅❁✯✂✁❝✯✭✼✢✯ ✩ ❇✹✺❄✱❁✮✴✁✤✱✴✼✾✩✙✘❏✮❄✩❈✯ ✏ ✷✭✩ ✯ ✏ ✬✢❇✎✡❁❦❏✷❝✳✶✩ ✫✠✁✤✷✭✩❈✼✢✯❏❀✿❋

σ(x) =
1

1 + exp(−x)

● ✓ ❛ ✓ ✝❈■



�✂✁✁�✄✂✆☎✞✝✠✟☛✡✁�✧☞✖✡✄✂✆☎ ✗ ✒✆✝ ✁✄✂✕✡✏✒ ✎✁✗✘✝✠✒✆✁✙✟☎✂✙✗ ✗✞☎✜☎❇✁✄✂✕✡✆☎ ❋ ❊

• ✆ ✏ ✬✢❇✎✡❁❦❏✷❝✼✾✱ ✯ ✺❄✩ ■❏✯✠✡❁❦❏✷ ✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✢✯✽❇❢✯❝❅❁✯✂✁❝✯✭✼✢✯✽✼✾✱ ✳❄✯❏❣❈✼✢✯ ✏ ✷✭✩ ✯ ✏ ✬✢❇✎✡❁❦❏✷✤❀ ✩ ❇✢✱✴✯❏✮✟❋

σ(x) = x
● ✓ ❛ ✓ �✠■

• ✣ ✱✒✁✤✵✸✷❝✼✾✱✛✱✍✌✾✱✴❅❆✬✎✡❁❦❏✷✎❋
20s

• ✔ ✷ ❉ ✳✶✱❁✮❄■ ✯✭✼✾✷✭✮ ✏ ✷✭✩❜✩ ✁✤✵✢❀ ✱✒✁✤✱❁❇✭✺✰✯✭✼✾✷ ❅❆✷✠✁
Fo = diag[2, · · · , 2]

✐
κo = 0.0001

✐
kD = 20

✐
kP = 200

✐
K = diag[400, · · · , 400]

• ✔ ❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮★✏ ✷✭✩ ✩ ✁✤✵✢❀ ✱✒✁✤✱❁❇✹✺✰✯✭✼✾✷❝❅❆✷✠✁
Fc = diag[2, · · · , 2]

✐
κc = 0.0001

❛

✄ ✷✠✁ ✯ ✩ ❇✭✺❄✱❁❇✎✡❁❦❏✷✿✼✾✱✽✺❄✱✴✳✻✺✰✯❏✮❍✷✿✼✾✱✴✳✶✱✒✁✤✵▼✱❁❇✢❂✢✷✿✼✾✷✿❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮✴✐❏✏ ✷✭✮✰✯✂✁ ✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✾✷✹✳❍❇✢✱✴✳✻✺❄✱✤✱✍✌✾✵▼✱❁✮❄✩ ☞
✁✤✱❁❇✭✺❄✷❍✼✾✷✭✩❈✳✪✳✶✩ ❇❢✯❏✩❈✳✪✼✾✩ ✏ ✱❁✮❄✱❁❇✭✺❄✱✴✳❜✼✾✱ ✮❄✱✍✏ ✱❁✮✴❆❁❇❢❅❆✩❈✯✢❛ ✄ ✯✭✼✢✯❃✳✶✩ ❇❢✯❏❀❤✼✾✱ ✮❄✱✍✏ ✱❁✮✴❆❁❇❢❅❆✩❈✯ ✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✾✷ ✏ ✷✭✩❤✫✭✱❁✮✰✯✭✼✾✷ ✵✸✱❁❀❈✯❊✳✶✱❁✫✭✬✢✩ ❇✭✺❄✱
✱✟✔✹✬❢✯✠✡❁❦❏✷✎❋

qd = π sin (2πft)
● ✓ ❛ ✓ ✥ ■

❅❆✷✠✁ ✏ ✮❄✱✟✔✁�✜❆❁❇❢❅❆✩❈✯✭✳
f = 0.05Hz

✵❢✯❏✮✰✯ ❉ ✯❏✩ ✌✢✯✽■❏✱❁❀ ✷✢❅❆✩❈✼✢✯✭✼✾✱✭✐❤✱
f = 0.25Hz

✵❢✯❏✮✰✯✽✯❏❀ ✺✰✯✽■✭✱❁❀ ✷✾❅❆✩❈✼✢✯✭✼✾✱✭❛

✆ ✳✲✱❁■❏✷✭❀ ✬✎✡✍❊✾✱✴✳ ✼❤✷❝✳✶✩❈✳✻✺❄✱✒✁❝✯ ❅❆✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷ ✱✴✳✻✺✰❦❏✷✽✯❏✵✢✮❄✱✴✳✶✱❁❇✹✺✰✯✭✼✢✯✭✳❋❇❢✯✭✳✲★✪✩ ✫❢❛ ✓ ❛ �✛✱✛★✪✩ ✫❢❛ ✓ ❛ ✥✢❛ ✔❊❉ ✳✶✱❁✮❄■❏✯✹☞ ✳✶✱
✔✹✬✢✱ ✷ ✯❏✵✢✮❄✱❁❇❢✼✾✩ ✑✴✯✭✼✾✷ ✱✴✳✻✺✕✘ ✯ ✺✰✩ ■❏✷ ✱✒✁ ✺❄✷✾✼✾✷ ✷ ✵✸✱❆✮❄❣❈✷✾✼✾✷ ✼✾✱✽✱✍✌✾✱✴❅❆✬✎✡❁❦❏✷✻●❱✺❄✮❄✱❁✩ ❇❢✯✂✁✤✱❁❇✹✺❄✷❍❄✹❅ ✝ ❖ ❡✭❅ ❀❈■✙❛ ✲❃✷❏✺✰✯✹☞✧✳✶✱ ✔✹✬✢✱
✯✺✁ ✬❢✼✢✯❏❇✎✡❁✯ ❇✢✷ ✳✶✩ ❇❢✯❏❀✲✼✾✱ ✮❄✱✍✏ ✱❁✮✴❆❁❇❢❅❆✩❈✯ ❅❁✯❏✬❢✳❄✯✿✬✜✁ ❅❆✮❄✱✴✳❄❅❆✩ ✁✤✱❁❇✭✺❄✷✻✁✤✷✠✁✤✱❁❇✭✺✢✜❏❇✢✱❁✷ ❇✢✷ ✳✶✩ ❇❢✯❏❀ ✼✾✱ ✱❁✮❄✮❄✷❢✐P✳✶✩ ✺❄✬❢✯✠✡❁❦❏✷
✔✹✬✢✱ ✏ ✷✭✮✕✡❁✯❝✷ ❅❆✷✭❇✭✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮ ✯ ✬✜✁❝✯ ✮❄✱✴✯✭✼✢✯❏✵✾✺✰✯✠✡❁❦❏✷ ✼❤✷✹✳ ✵▼✱✴✳✶✷✹✳ ✼✢✯ ✮❄✱✴✼✾✱✭✐✸❇✢✷ ✱❁❇✭✺✰✯❏❇✹✺❄✷❢✐ ✯❏✵☛✫✹✳ ✼✾✱✴❅❆✷✭✮❄✮❄✩❈✼✾✷ ✯❏❀ ✫✭✬✜✁
✺❄✱✒✁✤✵▼✷❢✐P✷ ❅❆✷✭❇✹✺❄✮❄✷✭❀❈✯✭✼✾✷✭✮ ✳✶✱ ✯✭✼✢✯❏✵✾✺✰✯ ✰✭✳ ❇✢✷ ■ ✯✭✳ ❅❆✷✭❇❢✼✾✩✙✡✍❊❤✱✴✳ ✱ ❀ ✱❁■ ✯✿✷ ✳✶✩ ❇❢✯❏❀ ✼✾✱ ✱❁✮❄✮❄✷ ✯ ■ ✯❏❀ ✷✭✮❄✱✴✳ ✁✤✱❁❇✢✷✭✮❄✱✴✳❁❛ ✆
★✪✩ ✫❢❛ ✓ ❛ ✓ ✯❏✵✢✮❄✱✴✳✶✱❁❇✹✺✰✯ ✬✜✁❝✯✛✩ ❀ ✬❢✳✻✺❄✮✰✯✠✡❁❦❏✷✛✼✾✷✛✱❁✮❄✮❄✷✛✼✾✱❃✱✴✳✻✺❄✩ ✁❝✯ ✺❄✩ ■ ✯✛✼✾✱❃■❏✱❁❀ ✷✢❅❆✩❈✼✢✯✭✼✾✱ ✼✾✷✛✷ ❉ ✳✶✱❁✮❄■❏✯✭✼✾✷❏✮✴✐✭✼✾✱✍✁✤✷✭❇❢✳✻✺❄✮✰✯❏❇❢✼✾✷
✯✽■ ✯❏❀ ✩❈✼✢✯✭✼✾✱✛✼✢✯✤✯❏✵✢❀ ✩❈❅❁✯✠✡❁❦❏✷✤✼✾✱✴✳✻✺❄✱✛✷ ❉ ✳✶✱❁✮❄■❏✯✭✼✾✷✭✮❁❛
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✮❄✩ ✁✤✱❁❇✾✺✰✯❏❀❨❛

✩✫✪✚✬✭✪✚✬ ✮★✯✱✰✳✲☎✰✵✴✥✶✭✷✹✸✚✺✻✰

✔ ✱❁❀ ✷ ✮❄✷ ❉ ✫❏✺❄✩❈❅❆✷❊✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✾✷❍❇✢✷✹✳✪✱✍✌✾✵✸✱❁✮❄✩ ✁✤✱❁❇✭✺❄✷✹✳❜❅❆✷✭❇❢✳✶✩❈✳✻✺❄✱ ✼✾✱✲✬✜✁ ✳✶✩❈✳✻✺❄✱✒✁❝✯☎✁✤✱✴❅❍✜❏❇✢✩❈❅❆✷ ✮❄✱❁❀❈✯ ✺❄✩ ■❏✯✂✁✤✱❆❇✹✺❄✱
✳✶✩ ✁✤✵✢❀ ✱✴✳❋❅❆✷✠✁✤✵✸✷✹✳✻✺❄✷✛✼✾✱❊✼✾✷✭✩❈✳P✱❁✩ ✌✾✷✹✳P✱❃✱❁❇✢✫✭✮❄✱❁❇❢✯❏✫✭✱❁❇❢✳❜✼✾✷✛✺❄✩ ✵▼✷ ✵▼✷✭❀ ✩❈✯✭✳P✱❊❅❆✷✭✮❄✮❄✱❁✩❈✯✭✳❜✳✶✩ ❇❢❅❆✮❄✷✭❇✢✩ ✑✴✯✭✼✢✯✭✳❁❛ ✔ ✁✤✷❏✺❄✷✭✮❋✱✴✳✻✺✕✘



✁✁�✁� ✎✄✂✆☎❍�✠✗ ✁✥☞⑥✂✙✗✞☎◗�✓✒✟☎ ✝✄✂✘✡ ✂✕✡ ☎ ☎ ☎✜☎✠✗✆☎ ✁ ✗✁✝✙�✄✗ ✒✟☎✞☎ ✗ ✎✑☎❇✁✞✟ ●❜❋

PC486
100MHz

Interface E/S

✟✡✠☞☛✍✌ ✎ ✏✞✑ ✒✔✓✍✕✔✖
✓✍✗✙✘✚✕✜✛ ✢ ✣✍✑✤✎ ✒

✥✚✦✤✧✍★✍✩✍✪ ✫

✬✭✕✜✣✔✛ ✒✜✓✍✕✔✖
up/down

★✪✩ ✫✭✬✢✮✰✯ ✆ ❛ ✝✠❋❉✩❊✩❈✯❏✫✭✮✰✯✂✁❝✯✽✼✾✷✩❏❤✩❈✳✻✺❄✱✒✁❝✯✤● ✌✾✵▼✱❁✮❄✩ ✁✤✱❁❇✹✺✰✯❏❀❨❛

✯✭❅❆✷✭✵✢❀❈✯✭✼✾✷ ✯ ✬✜✁ ✼✾✷✹✳✤✱❁✩ ✌✾✷✹✳❝✯ ✺❄✮✰✯ ■❏❥✴✳❝✼✾✱✿✬✜✁❝✯ ✱❆❇✢✫✭✮❄✱❁❇❢✯❏✫✭✱✒✁ ✔✹✬✢✱ ✮❄✱✴✼✾✬✜✑ ✯ ■✭✱❁❀ ✷✾❅❆✩❈✼✢✯✭✼✾✱ ✵✸✷✭✮❝✬✜✁ ✏ ✯ ✺❄✷✭✮ ✼✾✱
4 : 1

❛❜● ✳✻✺❄✱❍✵✾✮❄✩✙✁✤✱❆✩ ✮❄✷✽✱❁✩ ✌✾✷✽✱✴✳✻✺✕✘✽✯✭❅❆✷✭✵✢❀❈✯✭✼✾✷✽✯❏✷✽✳✶✱❁✫✭✬✢❇❢✼✾✷ ✺✰✯✂✁ ❉ ❥✒✁ ✯ ✺❄✮✰✯✴■✭❥✴✳ ✼✾✱ ✬✜✁❝✯✽✱❁❇✢✫✭✮❄✱❁❇❢✯❏✫✭✱✒✁ ❅❆✷✠✁ ✏ ✯ ✺❄✷✭✮
✼✾✱ ✮❄✱✴✼✾✬✎✡❁❦❏✷ ✼✾✱

4 : 1
❛✹✙❜✷✭✮✶✺✰✯❏❇✹✺❄✷❢✐✪❇✢✷ ✵✢✮❄✩ ✁✤✱❁✩ ✮❄✷ ✱❁✩ ✌✢✷ ✯ ■✭✱❁❀ ✷✢❅✙✩❱✼✾✯✭✼✾✱ ✼✾✷✺✁✤✷❏✺❄✷✭✮ ✶▼❅❁✯✿✮❄✱✴✼✾✬✜✑❁✩❈✼✢✯✿✼✾✱

4 : 1
✱

❇✢✷✿✳✶✱❁✫✭✬✢❇❢✼✾✷ ✼✾✱
16 : 1

❛ ✔ ❅❆✷✭✮❄✵▼✷ ✼✾✷ ✱❁❀ ✷ ✵▼✷✾✼✾✱❝✳✶✱❁✮ ❅❆✷✭❇✢✱❁❅✙✺✰✯✭✼✾✷✿✯ ✔✹✬❢✯❏❀✙✔✹✬✢✱❁✮❍✬✜✁ ✼✾✷✹✳ ✱❁✩ ✌✾✷✹✳❁✐ ✼✾✱❁✵▼✱❁❇❢✼✾✱❁❇❢✼✾✷
✼✢✯ ✮❄✱✴✼✾✬✎✡❁❦❏✷ ✼✾✱✴✳✶✱ ✭✻✯✭✼✢✯✢❛❃✲❃✷✹✳ ✱✍✌✾✵▼✱❁✮❄✩ ✁✤✱❁❇✹✺❄✷✹✳ ✮❄✱✴✯❏❀ ✩ ✑✴✯✭✼✾✷✹✳❁✐✸✱❁❀ ✱❃✏ ✷✭✩P✯✭❅❆✷✭✵✢❀❈✯✭✼✾✷ ✯❏✷ ✵✢✮❄✩ ✁✤✱❁✩ ✮❄✷ ✱❁✩ ✌✾✷ ✵❢✯❏✮✰✯ ✷ ❉ ✺❄✱❁✮✛☞
✳✶✱ ✱✍✏ ✱❁✩ ✺❄✷✹✳☛✁❝✯❏✩❈✳✤✩ ❇✭✺❄✱❁❇❢✳✶✷✹✳❝✼✢✯✭✳✽❇❢❦❏✷✂☞ ❀ ✩ ❇✢✱✴✯❏✮❄✩❈✼✢✯✭✼✾✱✴✳✽❅❁✯❏✬❢✳❄✯✭✼✢✯✭✳ ✵▼✱❁❀❈✯ ✯✠✡❁❦❏✷ ✼✾✷ ✺❄✷✭✮✕✔✹✬✢✱ ✫✭✮✰✯ ■❤✩ ✺✰✯✭❅❆✩ ✷❏❇❢✯❏❀❨❛ ✙P✯❏✮✰✯
❅❆✷✭❇❢✳✶✱❁✫✭✬✢✩ ✮✛☞✧✳✻✱ ✁✤✱✴✼✾✩❈✼✢✯✭✳✷✁❝✯❏✩❈✳✤✵✢✮❄✱✴❅❆✩❈✳❄✯✭✳❝✼✢✯ ✳✶✬❢✯ ✵▼✷✹✳✶✩✙✡❁❦❏✷❢✐ ✷✸❀✍❅❲❬✕❄❤❑✠❀❀▼✻✏ ✷✭✩❊❅❆✷✭❇✢✱✴❅✙✺✰✯✭✼✾✷ ✯❏✷❍✁✤✱✴✳✛✁✤✷ ✱❁✩ ✌✾✷ ✼✾✱
✁✤✷ ■❤✩✙✁✤✱❆❇✹✺❄✷❝✼✾✱✴✳✻✺❄✱❍✱❁❀ ✷❢❛ ✆ ✳✲✱❆✺✰✯❏✵❢✯✭✳✲✼✾✱❍✵✢✮❄✷❚✭✧✱❆✺❄✷❢✐✾✬❢✳✶✩ ❇❢✯❏✫✭✱✒✁ ✱✛❅❆✷✭❇❢✳✻✺❄✮❄✬✎✡❁❦❏✷✽✼✾✱✴✳✻✺❄✱✛✳✶✩❈✳✻✺❄✱✒✁❝✯ ✏ ✷✭✮✰✯✂✁ ✮❄✱✴✯❏❀ ✩ ✑✴✯✭✼✢✯✭✳
✵▼✱❁❀❈✯ ✵✢✮✬✫✭✵✢✮❄✩❈✯ ✱✟✔✹✬✢✩ ✵▼✱ ✼✾✷ ✲ ✯ ❉ ✷✭✮✰✯ ✺✬✫✭✮❄✩ ✷ ✼✾✱ ❏❤✩❈✳✻✺❄✱✒✁❝✯✭✳✹❈✿✷✾✼✾✬✢❀❈✯❏✮❄✱✴✳ ❄ ✷ ❉ ✫❏✺❄✩❈❅❆✷✹✳ ●

LSMR − FEEC
■✙❛ ✆

★✪✩ ✫❢❛ ✆ ❛ �☎✁✤✷✹✳✻✺❄✮✰✯ ✬✜✁ ■❤✩❈✳✻✺✰✯✛✼✢✯ ❉ ✯❏❇❢❅❁✯✭✼✢✯❍✼✾✱ ❀❈✯ ❉ ✷✭✮✰✯ ✺✬✫✭✮✶✩ ✷ ✔✹✬✢✱❉✏ ✷✭✩❢✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✢✯❍❇✢✷✹✳❜✺❄✱✴✳✻✺❄✱✴✳P✱✍✌✾✵▼✱❁✮❄✩ ✁✤✱❁❇✹✺✰✯❏✩❈✳P❅❆✬❚✭✧✷✹✳
✮❄✱✴✳✶✬✢❀ ✺✰✯✭✼✾✷✹✳✛✱✴✳✻✺✰❦❏✷ ✯❏✵✢✮❄✱✴✳✶✱❁❇✹✺✰✯✭✼✾✷✹✳❍❇✢✷ ❅✙✷✭✮❄✵✸✷ ✼✾✱✴✳✻✺❄✱❝✺❄✮✰✯ ❉ ✯❏❀ ❂✢✷❢✐✪✱ ✺✰✯✂✁ ❉ ❥✒✁ ✬✜✁ ❬❀▼✴❄✯✮❀▲✾❡✘✗ ✁✤✷✹✳✻✺❄✮✰✯❏❇❢✼✾✷ ✯❏❀ ✫✭✬✢❇❢✳
✼✾✱❆✺✰✯❏❀ ❂✢✱✴✳ ✼✢✯✤❅❆✷✭❇❢✳✻✺❄✮❄✬✎✡❁❦❏✷✤✼✾✷✤✱❁❀ ✷❝✯✭❅❆✩ ✷✭❇❢✯✭✼✾✷❢❛

✩✫✪✚✬✭✪✱✰ ✲ ✰✭✷ ✰✁✳

✔ ✁✤✷❏✺❄✷✭✮ ✬✾✺❄✩ ❀ ✩ ✑✴✯✭✼✾✷ ✵❢✯❏✮✰✯ ✯✭❅❆✩ ✷✭❇❢✯❏✮ ✷ ✱❁❀ ✷ ❥ ✬✜✁ ✳✶✱❁✮❄■✭✷✠✁✤✷❏✺❄✷✭✮ ✼✾✱ ❅❆✷✭✮❄✮❄✱❁❇✹✺❄✱ ❅❆✷✭❇✹✺❄❣ ❇✹✬❢✯ ✁✤✷✾✼✾✱❁❀ ✷
E − 530

✐✢✼✢✯❏✟✛❖ ❀✬❬❀❴ ▼✴❄ ✝ ✟✂▼✴❂✚✙✬❴❨❛ ✆ ✳ ✱✴✳✶✵▼✱✴❅❆✩ ✶▼❅❁✯✠✡✍❊❤✱✴✳ ✺❄❥✴❅❆❇✢✩❈❅❁✯✭✳ ✼✾✱✴✳✻✺❄✱ ✁✤✷❏✺❄✷✭✮ ✱✴✳✻✺✰❦❏✷✤✼✾✱✴✳❄❅❆✮❄✩ ✺✰✯✭✳ ❇❢✯✤✣✪✯ ❉ ✱❁❀❈✯ ✆ ❛ ✝✭❛
✴✶✵✸✷✸✹✚✺ ✵ ✻

− ✼✾✽✯✿
❀❁✵✾❂✞❃✚❄❆❅✚❇ ❈❉✴❋❊✭●✸❇ ❍❉❈ ■✾❏✶❑ ▲▼❈✭❂◆❂✞❖✍P
◗❘✵✾❙❯❚❲❱❆✹❳✴❋❊✭●✸❇ ❍❨✵

192.5 × 10−3
❑ ❩❳❬ ❭✔❍❋❬ P

❪✱❄❆❫❴❙✞❅✚❇ ❈❵✷❆❈❵❛✁❙✞❍❉❈✯✷✸❱✸❙❯❈
2.29 × 10−4

❑ ❩❳❬ ❭✔❍❋❬ ❭✔❖✍P
2

❜ ✵❲✹❴❝☞❅✚❇ ✹✚❄✡❂✞✹❳✷✸✹❞❛✆❍❨✵✾❙◆❂✞✹✚❅✚❇ ❍❨✹✚❄❲❂✞✵
6 × 10−4

❑ ❩❳❬ ❭✔❍❋❬ ❡✭❢❞❣❤❀✐✴❥P
❜ ✵✯❄❆❖✍❂❯❈✾❄❲❂✞✹❦✷✸✹❞◗❘✹✚❍❨❧♠✵❵✻♥✺ ❫❴❂◆❙✞❇ ❅♦❈

2.06 × 10−3
❑ ❖✍P

❜ ✵✯❄❆❖✍❂❯❈✾❄❲❂✞✹❦✷✸✹❞◗❘✹✚❍❨❧♠✵❨✴✶✹✚❅♦♣✾❄❆❇ ❅♦❈
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mlθ̈ + h(lθ̇) + mgsen(θ) = τ
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h(lθ̇) = klθ̇
★✫✚ ✲ ✣✵✘✜⑧

mlθ̈ + klθ̇ + mgsen(θ) = τ
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m = 0.210Kg

l = 0.285m

g = 9.820m/s2

k = 0.300Nms/rad.

✣ ✚ ✲ ✣✵✘❄✚✜✛✵★ ✶ ✣
0.059θ̈ + 0.086θ̇ + 2.06sen(θ) = τ,
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M(q) = 0.059, Vm(q, q̇) = 0

Fv = 0.085, fc(q̇) = 0

g(q) = 2.06 sin (q).
⑨●❱✟❇ ✓ ❶
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❳❛❷✣❤✖❴❁❛ ✚ ❜ ❬ ✚ ✐ ❫ ✪⑩❛ ★ ❜ ⑨✈❶✸✵✩✵✒❴✥❶ ❛ ✕ ✛ ❬❅❞✣❬✾♠✸❴❣q❲❤ r ♠✸❴ ✇❦❴ ❺ ❵★♠✸❴ ❤✖❞③❤❀❘●q✾❤✖❞✳♠✸❪✸❤✖✐ r ❵❘❪✦❵❘✇❦❬✾♠✸❬❅❪✦♥❧❤❀❘●❵❷❞✣❬ ❫ ❪✦❵❘✐◆❞✶❬✾♠ ✤❸❤✖❪ ✲✱✗ ❛
▼ ✭ ☞❅⑤◆⑦◆⑦✦❖❪⑤ ✟✁⑥★✿ ✛ ⑦✸⑤ ☞✠✟✱❖ ✲▼⑦✾❉✑❹❉⑦ ✔★✧ ✔✠✟✱❖ ✙ ✟✘✮❝⑦✾✭ ✟✘✔★✮❡⑤ ☞✠✟✘✔★✧ ✤ ❉ ☞★❋ ✛ ✮❁✭✫⑦ ✔★❚ ✙ ☞✠✟❇❂❙⑦✾✭✫⑦✆✟✱⑤◆⑦ ☞✠✟t❱❯✭✯✮❡⑤ ❺❭⑤✽⑤ ✔★✧ ✲▼⑦✾❈✶✭ ✔★✧
✲▼⑦✾✮❁❉ ☞★✭✸❊❇✿ ✔✠✟✱❖ ✢✚❻ ✫✡⑦✾✭✯✮ ✛ ❀❇✿✦✮❝⑦✾❚❧✿❭r✣r ❜ ❶ ❩ ✢❘❑❨❶ ❩✖❩ ❜

❼❭❤✖✇❦✇ ❫ ❪✸❴❁❛ ✘ ❜ ❬ ✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ⑨✈❶✸✵✩✵ ❩ ❶ ❛ ✕ ❼❭✇❽❵✖q✟❞✣❬ ❫ ❪✦❵❘✐✘❞✣❬✾♠ ✤❸❤✖❪ ✲⑦❾◗❤✖❪❸q✾❤✖❞✳♠✸❪✸❤✖✐✣❤❘❾✪❞✣❤✖❞✣✐ ❴ ❞✣❬❥❵❘❪❭❝ ☎❄❞✘❵❘✇❦❴❣q❅❵❘✐❨♥ ☎✶♥✈♠✸❬❅✇❽♥✜⑧✘✳♠✸❪ ❫ q✯♠ ❫ ❪✸❬✖❛✣♥✈♠✦❵❘❿✣❴ ✐ ❴ ♠ ☎P❵❘❞✘❝ r ❵✖♥✸♥❃❴ ➀❄❴ ♠ ☎✱✗ ❛ ❱❯❈✶✮ ☞★❚ ✔★✮❡⑤⑥⑤ ✔ ❏❨❏ ⑨ ✢✁❶ ❛ ✗✩✜✒❴❇❑ ✗✣✢✣❶ ❜
④✣❫ ❛ ★ ❜ ❛ ✛ ❤✖❞ ❺ ❵❘✐ ❬ ❺ ❛ ✦●❜ ❬ ✰ ❬❅❬✖❛✻❼ ❜ ⑨✈❶✸✵✄✂ ❩ ❶ ❛ ✩ ☞✖① ☞★✮❡⑤⑥⑤✯✿❅➁ ✙ ☞✠✟✘✮❁✭ ☞★✧ ✹P✛ ⑦ ✟✣✿❙⑤ ✟✩⑥ ✹➃➂ ⑤❣✿❙⑤ ☞✠✟ ✹ ✔✠✟✱❖ ✙ ✟✘✮❝⑦✾✧◗✧ ⑤ ⑥✵⑦✆✟✱⑤✫⑦ ❛

✛❢q ✛ ❪✦❵ ✤☛➄ ✭ ❴ ✐ ✐ ❜
✛ ❤✖❞ ❺ ❵❘✐ ❬ ❺ ❛ ✦●❜ ❬ ☞ ❤❄❤✣❝✣♥❅❛ ✦●❜ ⑨ ❸❀❹✥❹✥❹ ❶ ❛ ▼ ✭ ☞❥⑤◆⑦✯✿✦✿ ✔★❚✧⑦✆✟✘✮ ☞P❖✥⑦ ✙ ❚ ✔✜⑥✵⑦✆✟✣✿ ✬✟⑤ ⑥❀⑤✽✮ ✔❪⑤❣✿ ❛✘➅❭❝✶➆✳❵❘❪✦❝ ✚ ✐ � q✫❷✣❬❅❪ ✰ ♠✦❝✣❵ ❜
✭ ❵❘❴ ✲❄❴ ❞❡❛ ✘ ❜ ⑨✈❶✸✵✩✵✣✢✁❶ ❛ ✲▼⑦✾❈✶✭ ✔★✧ ✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿❅➈❡❱ ✙ ☞✦✫❨✭✗⑦✦✥✡⑦✆✟✣✿❙⑤✽✼❀⑦⑦➉ ☞★❈ ✟✱❖✄✔★✮❡⑤ ☞✠✟ ❛ ✛❢❵✖q✾✇❦❴ ✐ ✐❣❵❘❞ ❜ ❫ ❿✣✐ ❴ ❷✣❴ ❞✣➆P❼❭❤✖✇ r ❵❘❞✟☎ ❜
✭ ❬✥✤✟✐ ❬✾♠❃♠❃➄ ❜✚❵✖q ✲❘❵❘❪✦❝ ⑨✈❶✸✵✩✵✩✜✵❶ ❛ ✮✜✫❨✮ ☞✮⑦✾✧ ⑦✦⑤✾✮❁✭ ☞✠✟✢⑤⑥⑤✯✿ ✬❊⑦✯✿❙⑤ ⑥ ✟✏⑦✾✭✣❍ ✿ ✙ ✔★✮ ✔★✧ ☞✫⑥ ❛ ✭ ❬✥✤✟✐ ❬✾♠❃♠❃➄ ❜✚❵✖q ✲❘❵❘❪✦❝❲❼❭❤ ❜
✭ ❤✖✐ ✐❣❵❘❞✘❝✪❛ ✮✘❜ ⑨✈❶✸✵ ❩ ❴✥❶ ❛ ❱❯❖✄✔✦✫❨✮❡⑤ ☞✠✟✱⑤ ✟ ✲ ✔★✮❁❈✶✭ ✔★✧ ✔✠✟✱❖❦❱❯✭✯✮❡⑤ ❺❭⑤✽⑤ ✔★✧ ✛ ❀❇✿✯✮❝⑦✾❚✻✿ ❛ ✷ ❞✣❴ ➀❘❬❅❪✦♥❃❴ ♠ ☎P❤❘❾✙✛❲❴❣q✫❷✣❴ ➆✳❵❘❞ ❜❙❪✸❬❥♥✸♥❅❛❨➊◆❞

➊◆❪✸❿❨❤✖❪❥❛ ✛ ✂ ❜
✭◆❫ ❞✖♠❥❛ ★ ❜ ❛ ✘❄❿✘❵❘❪✸❿✘❵❘❪✸❤✘❛ ❵ ❜ ❛ ✝ ❿✣❴ ✲❘❤✬✤◆♥ ✲❄❴❁❛ ✦●❜ ❬ ✛ ❵ ✤☛♠✫❷✣❪✸❤ r ❛ ❜ ❜ ⑨✈❶✸✵✩✵ ❸ ❶ ❛ ✕ ❽ ❬ ❫ ❪✦❵❘✐✶❞✣❬✾♠ ✤❭❤✖❪ ✲✶♥✜❾◗❤✖❪❭q✾❤✖❞✳♠✸❪✸❤✖✐✣♥ ☎✶♥✈♠✸❬❅✇❽♥➄❭❵❦♥ ❫ ❪✸➀✖❬✆☎✱✗ ❛ ❱❯❈✶✮ ☞★❚ ✔★✮❡⑤⑥⑤ ✔⑦➋✘➌❾⑨ ✗✵❶ ❛ ❶ ❹ ✂✩✜★❑✘❶❘❶✖❶ ❸ ❜
✮ ❤✥❷✘❵❘❞✘♥✸♥❃❤✖❞❡❛ ✦●❜ ⑨✈❶✸✵✩✵ ❹ ❶ ❛ ✕ ✌ ❫ ❵✖❝✶❪✦❵★♠✸❴❣q⑧❤ r ♠✸❴ ✇❦❴ ❺ ❵★♠✦❴ ❤✖❞✉❤❘❾✚✇❦❤❘♠✸❴ ❤✖❞❢q✾❤❄❤✖❪✦❝✶❴ ❞✘❵★♠✸❴ ❤✖❞❲❵❘❞✣❝❲q✾❤✖❞✳♠✸❪✸❤✖✐❁✗ ❛✘✙ ✢❙✢❙✢✂✤ ✭ ✔✠✟✣✿✯❋✔✖⑤✾✮❡⑤ ☞✠✟✣✿ ☞✠✟❲❱❯❈✶✮ ☞★❚ ✔★✮❡⑤⑥⑤ ✙ ☞✠✟✘✮❁✭ ☞★✧ ❏✱➍ ⑨✈❶✖❶③❶ ❛ ❶✖❶✸✵ ❩ ❑❨❶ ❸❀❹ ✂ ❜
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✌ ✞✁�✟✞☎✌✄✂☎✄✔✆✆☎ �✞✝✠✟ ☎ ✟ ✕ ☎✝✎☛✡ ✌✌☞✍�✆☎✝✆ �✞✝ ❩ ✗
★ ❷✣❤ ❫ ✲✁❷✣❴❁❛❯➊ ❜ ⑨✈❶✸✵✩✵✩✵✵❶ ❛ ✕ ➊◆❞✑❤ r ♠✸❴ ✇❽❵❘✐ ❝✶❬❥♥❃❴ ➆✖❞ ❾◗❤✖❪P❪✸❤✖❿❨❤❘♠✉❝ ☎❄❞✘❵❘✇❦❴❣q q✾❤✖❞✖♠✸❪✸❤✖✐❁✗ ❛ ▼ ✭ ☞❥⑤◆⑦◆⑦✸❖❪⑤ ✟✁⑥★✿ ☞❃❂❢✮◗✥✡⑦ ✙ ✢❙✢❙✢✙ ✟✘✮❝⑦✾✭ ✟✘✔★✮❡⑤ ☞✠✟✘✔★✧ ✛ ❀★❚❯✫ ☞❇✿❙⑤✽❈✶❚ ☞✠✟ ✙ ✟✱❖★❈❄✿✯✮❁✭❙⑤ ✔★✧ ✢ ✧ ⑦✸⑤✾✮❁✭ ☞✠✟✢⑤⑥⑤✯✿❯➋ ❛ ✂ ✗✣❶✾❑ ✂ ✗ ✗ ❜★ ❴ ✇✉❛ ✳❧❜ ❬ ✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ⑨✈❶✸✵✩✵✩✵✵❶ ❛ ✕ ❽ ❬ ❫ ❪✦❵❘✐✣❞✣❬✾♠ ✤❸❤✖❪ ✲✻❤ ❫ ♠ r✣❫ ♠❙❾◗❬❅❬❥❝✶❿✘❵✖q ✲❦q✾❤✖❞✳♠✸❪✸❤✖✐✶❤❘❾✪❪✸❤✖❿❨❤❘♠❙✇❽❵❘❞✣❴ r✣❫ ✐❣❵★♠✸❤✖❪✦♥❅✗ ❛ ✙ ✢❙✢❙✢

✤ ✭ ✔✠✟✣✿ ✔✖⑤✾✮❡⑤ ☞✠✟✣✿✞☞✠✟✉✩ ☞✖① ☞★✮❡⑤⑥⑤✯✿ ✔✠✟✱❖❧❱❯❈✶✮ ☞★❚ ✔★✮❡⑤ ☞✠✟✏✎ ➍ ⑨ ❸ ❶ ❛ ✜ ❹ ❶✾❑✴✜ ❹ ✵ ❜★ ❴ ✇✉❛ ✳❧❜ ❛ ✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❬ ❵⑧❵ ✤◆♥❃❤✖❞❡❛✔❵ ❜ ⑨ ❸❀❹✥❹✥❹ ❶ ❛ ✕ ✂✬❞✳♠✸❬❅✐ ✐ ❴ ➆✖❬❅❞✖♠☛❤ r ♠✸❴ ✇❽❵❘✐✪q✾❤✖❞✖♠✸❪✸❤✖✐❨❤❘❾❡❪✸❤✖❿✱❤❘♠✸❴❣q✟✇❽❵❘❞✣❴ r✣❫ ✐❣❵★♠✸❤✖❪✦♥ ❫ ♥❃❴ ❞✣➆❞✣❬ ❫ ❪✦❵❘✐✪❞✣❬✾♠ ✤❭❤✖❪ ✲✶♥❅✗ ❛ ❱❯❈✶✮ ☞★❚ ✔★✮❡⑤⑥⑤ ✔ ❏✒✑ ⑨ ✵✵❶ ❛ ❶✸✜✒❴☎❴❇❑❨❶✥✜ ✗✬✢ ❜★ ✤☛❵❘❞❡❛✪❼ ❜ ❛ ✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❬ ❵⑧❵ ✤◆♥❃❤✖❞❡❛ ❵ ❜ ⑨✈❶✸✵✩✵✄✂✵❶ ❛ ✕ ✦ ❤✖❿ ❫ ♥✈♠⑧❞✣❬ ❫ ❪✦❵❘✐ ❞✣❬✾♠ ✤❸❤✖❪ ✲✉q✾❤✖❞✖♠✸❪✸❤✖✐ ❤❘❾✚❪✸❴ ➆✖❴❣❝✉✐ ❴ ❞✧✲✉❬❅✐ ❬✾♠✸❪✸❴❣q❅❵❘✐ ✐ ☎❝✶❪✸❴ ➀✖❬❅❞P❪✸❤✖❿❨❤❘♠✦♥❅✗ ❛ ✙ ✢❙✢❙✢✔✤ ✭ ✔✠✟✣✿❅⑤ ✔★✮❡⑤ ☞✠✟✣✿✞☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧✏✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿✄✓❾⑨ ✢✁❶ ❛ ❴ ✂✣❶✾❑✭❴ ✂✄✂ ❜
✰ ❬❅➀❄❴ ❞❡❛❨➊ ❜ ❬ ❽ ❵❘❪✸❬✾❞✘❝✶❪✦❵✣❛ ★ ❜ ⑨✈❶✸✵✩✵✩✜✵❶ ❛ ✕ ❼❭❤✖❞✳♠✸❪✸❤✖✐❡❤❘❾✚❞✣❤✖❞✣✐ ❴ ❞✣❬❥❵❘❪❯❝ ☎❄❞✘❵❘✇❦❴❣q❅❵❘✐ ♥ ☎✶♥✈♠✸❬❅✇❽♥ ❫ ♥❃❴ ❞✣➆ ❞✣❬ ❫ ❪✦❵❘✐ ❞✣❬✾♠ ✤❸❤✖❪ ✲✶♥✜⑧❼❭❤✖❞✳♠✸❪✸❤✖✐ ✐❣❵❘❿✣❴ ✐ ❴ ♠✡☎s❵❘❞✘❝P♥✈♠✦❵❘❿✣❴ ✐ ❴ ❺ ❵★♠✸❴ ❤✖❞❡✗ ❛ ✙ ✢❙✢❙✢ ✤ ✭ ✔✠✟✣✿ ✔✖⑤✾✮❡⑤ ☞✠✟✣✿✞☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧✏✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿☛❳ ⑨ ❸ ❶ ❛ ❶✸✵ ❸ ❑ ❸❪❹ ✗ ❜
✰ ❬❅➀❄❴ ❞❡❛✪➊ ❜ ❬ ❽ ❵❘❪✸❬❅❞✘❝✶❪✦❵✣❛ ★ ❜ ⑨✈❶✸✵✩✵ ✗✵❶ ❛ ✕ ❼❭❤✖❞✖♠✸❪✸❤✖✐✜❤❘❾❭❞✣❤✖❞✣✐ ❴ ❞✣❬❥❵❘❪⑧❝ ☎❄❞✘❵❘✇❦❴❣q❅❵❘✐⑩♥ ☎✶♥✈♠✸❬❅✇❽♥ ❫ ♥❃❴ ❞✣➆s❞✣❬ ❫ ❪✦❵❘✐✜❞✣❬✾♠ ✤❭❤✖❪ ✲✶♥➄ r ❵❘❪❃♠▼❸✩⑧ ▲ ❿✘♥❃❬❅❪✸➀❘❵❘❿✣❴ ✐ ❴ ♠ ☎✖❛✱❴❣❝✶❬❅❞✳♠✸❴ ✇❨q❅❵★♠✸❴ ❤✖❞❡❛ ❵❘❞✣❝ q✾❤✖❞✳♠✸❪✸❤✖✐❁✗ ❛ ✙ ✢❙✢❙✢ ✤ ✭ ✔✠✟✣✿ ✔✖⑤✾✮❡⑤ ☞✠✟✣✿✍☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧ ✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿

✔ ⑨✈❶③❶ ❛ ✜ ❹ ❑✶✢ ❸ ❜
✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❛❘➊◆❿✱❝✣❵❘✐ ✐❣❵❀❷❡❛✳❼ ❜ ❬ ❵⑧❵ ✤◆♥❃❤✖❞❡❛ ❵ ❜ ⑨❃❶✸✵✩✵✩✜✵❶ ❛ ✙ ☞✠✟✘✮❁✭ ☞★✧ ☞❃❂✚✩✄☞✖① ☞★✮❡④ ✔✠✟✢⑤ ✫❨❈✶✧ ✔★✮ ☞★✭✦✿ ❛ ✛❢❵✖q✾✇❦❴ ✐ ✐❣❵❘❞✱❜ ❫ ❿✣✐ ❴❣♥✗❷✣❴ ❞✣➆

❼❭❤✖✇ r ❵❘❞✟☎ ❜
✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❛ ✮ ❵❘➆✳❵❘❞✣❞✘❵★♠✫❷✘❵❘❞❡❛ ✘ ❜ ❬ ✳ ❬❥♥❃❴ ✐❣❝✶❴ ❪✸❬✥✲✱❛❄➊ ❜ ⑨✈❶✸✵✩✵✩✵✵❶ ❛ ✲▼⑦✾❈✶✭ ✔★✧ ✲▼⑦✾✮❁➇ ☞★✭✸❊ ✙ ☞✠✟✘✮❁✭ ☞★✧ ☞❃❂☛✩ ☞✖① ☞★✮❙④ ✔✠✟✢⑤ ✫❨❈✶✧ ✔★✮ ☞★✭✦✿

✔✠✟✱❖✱✲ ☞✠✟✘✧ ⑤ ✟✏⑦ ✔★✭ ✛ ❀❇✿✯✮❝⑦✾❚✻✿ ❛ ✚✜❵ ☎❄✐ ❤✖❪✟❵❘❞✘❝ ④ ❪✦❵❘❞✘q✾❴❣♥ ✂✬❞✘q ❜
✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❛ ✰ ❴ ❫ ❛ ★ ❜ ❬ ✳ ❬❥♥❃❴ ✐❣❝✶❴ ❪✸❬✥✲✱❛ ➊ ❜ ⑨✈❶✸✵✩✵✒❴✥❶ ❛ ✕ ❽ ❬ ❫ ❪✦❵❘✐⑩❞✣❬✾♠⑦❪✸❤✖❿❨❤❘♠●q✾❤✖❞✳♠✸❪✸❤✖✐ ✐ ❬❅❪ ✤✟❴ ♠✫❷❷➆ ❫ ❵❘❪✦❵❘❞✖♠✸❬❅❬❥❝❲♠✸❪✦❵✖q ✲❄❴ ❞✣➆

r ❬❅❪❃❾◗❤✖❪✸✇❽❵❘❞✘q✾❬✖✗ ❛ ✙ ✢❙✢❙✢✔✤ ✭ ✔✠✟✣✿ ✔✖⑤✾✮❡⑤ ☞✠✟✣✿ ☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧ ✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿ ✑ ⑨ ✜✵❶ ❛✱❩❪❹ ✜★❑ ❩ ❶ ❴ ❜
✰ ❬✥✤✟❴❣♥❅❛ ④ ❜ ❬✏✘✟☎❄❪✸✇❦❤✳♥❅❛ ☛✻❜ ⑨✈❶✸✵✩✵✒❴✥❶ ❛ ✮✜✫❨✮❡⑤✽❚ ✔★✧ ✙ ☞✠✟✘✮❁✭ ☞★✧ ❛✏❸★❞✘❝s❬❥❝✶❞❡❛ ✮ ❤✥❷✣❞ ☞ ❴ ✐ ❬✆☎P❵❘❞✘❝ ✘❄❤✖❞✘♥❅❛ ✂✬❞✘q ❜
✰ ❴ ❞❡❛ ④ ❜ ❬ ✚ ❪✦❵❘❞✘❝❄♠❥❛ ✦●❜ ⑨✈❶✸✵✩✵ ✗✵❶ ❛ ✕ ➊◆❞❧❤ r ♠✸❴ ✇❽❵❘✐✣q✾❤✖❞✳♠✸❪✸❤✖✐✶❵ r✣r ❪✸❤✳❵✖q✫❷⑦♠✸❤ ❪✸❤✖❿ ❫ ♥✈♠✚q✾❤✖❞✳♠✸❪✸❤✖✐❄❤❘❾❨❪✸❤✖❿❨❤❘♠⑩✇❽❵❘❞✣❴ r✣❫ ✐❣❵★♠✸❤✖❪✦♥❅✗ ❛

▼ ✭ ☞❅⑤◆⑦◆⑦✦❖❪⑤ ✟✁⑥★✿✞☞❃❂ ✮◗✥✡⑦ ✴❘✰✖✰✖✕ ✙ ✢❙✢❙✢ ✙ ✟✘✮❝⑦✾✭ ✟✘✔★✮❡⑤ ☞✠✟✘✔★✧ ✙ ☞✠✟❇❂❙⑦✾✭✫⑦✆✟✱⑤✫⑦ ☞✠✟ ✙ ☞✠✟✘✮❁✭ ☞★✧✱❱❸✫✖✫❨✧ ⑤⑥⑤ ✔★✮❡⑤ ☞✠✟✣✿✟r✣r ❜ ✜✣❶✾❑✴✜ ✗ ❜
✛❢q❇❼ ❫ ✐ ✐❣❵❘➆✥❷❡❛ ✮✘❜ ❛✣❼❛❷✣❤✖❴❁❛ ✚ ❜ ❬ ✚ ✐ ❫ ✪⑩❛ ★ ❜ ⑨✈❶✸✵✩✵✣✢✁❶ ❛ ✕ ✛ ❬❅❞✣❬✾♠✸❴❣q✟❤ r ♠✸❴ ✇❦❴ ❺ ❵★♠✦❴ ❤✖❞❦❤❘❾❡❵●❞✣❬ ❫ ❪✦❵❘✐✘❞✣❬✾♠ ✤❸❤✖❪ ✲✱✗ ❛ ▼ ✭ ☞❥⑤◆⑦✫⑦✦❖❪⑤ ✟✁⑥★✿☞❃❂ ✮◗✥✡⑦⑧➉❵⑤ ❂✸✮◗✥P❱❯❈❄✿✯✮❁✭ ✔★✧ ⑤ ✔✠✟ ✙ ☞✠✟❇❂❙⑦✾✭✗⑦✆✟✱⑤◆⑦ ☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧✏✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿❸r✣r ❜ ❶ ❹ ✵★❑❨❶✖❶ ❸ ❜
✛❲❴❣q✫❷✘❵❘✐ ❬✥✤✟❴❣q ❺ ❛ ✝✜❜ ⑨✈❶✸✵✩✵✩✵✵❶ ❛✘✗ ⑦✆✟✏⑦✾✮❡⑤⑥⑤s❱❯✧ ⑥ ☞★✭❙⑤✽✮◗✥❄❚✻✿✚✙ ✬ ✔★✮ ✔ ✛ ✮❁✭✯❈✶✮❁❈✶✭✫⑦✯✿✜✛ ✢ ✼✠☞★✧ ❈✶✮❡⑤ ☞✠✟ ▼ ✭ ☞✗⑥❘✭ ✔★❚✻✿ ❛ ✘ r ❪✸❴ ❞✣➆✖❬❅❪❃➄

☛ ❬❅❪✸✐❣❵❘➆ ❜
✛❲❴ ♠✦❵❘✐❁❛ ❵ ❜ ❬❽❼❛❷✣❴ ❞❡❛ ✰❙❜ ⑨✈❶✸✵✩✵✄✂✵❶ ❛ ✕ ➊ r✣r ✐ ❴❣q❅❵★♠✸❴ ❤✖❞❢❤❘❾❭❞✣❬ ❫ ❪✦❵❘✐✜❞✣❬✾♠ ✤❸❤✖❪ ✲✶♥◆❴ ❞❢❪✸❤✖❿✱❤❘♠✸❴❣q⑦q✾❤✖❞✳♠✸❪✸❤✖✐❁✗ ❛✥✙ ✢❙✢❙✢ ✩▲⑦❡⑥❀⑤ ☞✠✟ ✴✖✲✙ ✟✘✮❝⑦✾✭ ✟✘✔★✮❡⑤ ☞✠✟✘✔★✧ ✙ ☞✠✟❇❂❙⑦✾✭✗⑦✆✟✱⑤◆⑦✍☞✠✟ ✗ ✧ ☞✖① ✔★✧ ✙ ☞✠✟ ✟✏⑦✦⑤✾✮❡⑤✽✼✮⑤✽✮❁❀⑩⑤ ✟ ✢ ✟✏⑦✾✭❡⑥❘❀ ✹●✙ ☞★❚❯✫❨❈✶✮❝⑦✾✭ ✹●✙ ☞★❚❧❚❧❈ ✟✢⑤⑥⑤ ✔★✮❡⑤ ☞✠✟ ✔✠✟✱❖

✙ ☞✠✟✘✮❁✭ ☞★✧❡❋ ✤✱✢ ✲ ✙ ✮ ✲■❍ ✰✣✢ ➈✆✎ ❛ ❶ ✗ ❸ ❑❨❶ ✗☎❴ ❜
❽ ❵❘❪✸❬❅❞✘❝✶❪✦❵✣❛ ★ ❜ ⑨✈❶✸✵✩✵ ❩ ❶ ❛ ✕ ❽ ❬ ❫ ❪✦❵❘✐⑩❞✣❬✾♠ ✤❭❤✖❪ ✲✶♥❯❾◗❤✖❪ ❪✸❬❥❵❘✐ ➄❁♠✸❴ ✇❦❬❧q✾❤✖❞✳♠✸❪✸❤✖✐❁✗ ❛ ▼ ✭ ☞❥⑤◆⑦✫⑦✦❖❪⑤ ✟✩⑥★✿ ☞❃❂❧✮◗✥✡⑦ ✌ ✕ ✮◗✥ ✙ ☞✠✟❇❂❙⑦✾✭✫⑦✆✟✱⑤◆⑦☞✠✟ ✬❊⑦✦⑤✽⑤❣✿❙⑤ ☞✠✟ ✔✠✟✱❖ ✙ ☞✠✟✘✮❁✭ ☞★✧❄r✣r ❜ ❶ ❹✵❸ ✗★❑❨❶ ❹ ✜✶❶ ❜
❽ ❵❘❪✸❬❅❞✘❝✶❪✦❵✣❛ ★ ❜ ❬ ❜⑩❵❘❪❃♠✫❷✘❵✖♥✸❵❘❪✦❵★♠✫❷✟☎✖❛ ★ ❜ ⑨✈❶✸✵✩✵ ❹ ❶ ❛ ✕ ✂✈❝✶❬❅❞✳♠✸❴ ✇❨q❅❵★♠✸❴ ❤✖❞❷❵❘❞✘❝ q✾❤✖❞✖♠✸❪✸❤✖✐⑩❤❘❾☛❝ ☎❄❞✘❵❘✇❦❴❣q❅❵❘✐✚♥ ☎✶♥✈♠✸❬❅✇❽♥ ❫ ♥❃❴ ❞✣➆❞✣❬ ❫ ❪✦❵❘✐✪❞✣❬✾♠ ✤❭❤✖❪ ✲✶♥❅✗ ❛ ✙ ✢❙✢❙✢✔✤ ✭ ✔✠✟✣✿ ✔✖⑤✾✮❡⑤ ☞✠✟✣✿✞☞✠✟ ✲▼⑦✾❈✶✭ ✔★✧ ✲▼⑦✾✮❁➇ ☞★✭✸❊❇✿✞✎✏⑨✈❶③❶ ❛ ✢❘❑ ❸✳❩ ❜
❽ ❴❣q✾❤✳♥❃❴❣❵✣❛ ✘ ❜ ❬ ✚ ❤✖✇❦❬❅❴❁❛✔❜ ❜ ⑨❃❶✸✵✩✵ ❹ ❶ ❛ ✕ ✦ ❤✖❿✱❤❘♠☛q✾❤✖❞✳♠✸❪✸❤✖✐❨❿ ☎ ❫ ♥❃❴ ❞✣➆❧❤✖❞✶✐ ☎ r ❤✳♥❃❴ ♠✸❴ ❤✖❞s✇❦❬❅❵✖♥ ❫ ❪✸❬❅✇❦❬❅❞✳♠✦♥❅✗ ❛✕✙ ✢❙✢❙✢ ✤ ✭ ✔✠✟✣✿✯❋✔✖⑤✾✮❡⑤ ☞✠✟✣✿ ☞✠✟❲❱❯❈✶✮ ☞★❚ ✔★✮❡⑤⑥⑤ ✙ ☞✠✟✘✮❁✭ ☞★✧ ❏✱➍ ❛❨❩❪❹ ✜★❑ ❩ ❶ ❴ ❜
✦ ❫ ✇❦❬❅✐ ❷✘❵❘❪❃♠❥❛✒❵ ❜ ❛ ✭ ❴ ❞✖♠✸❤✖❞❡❛ ✛ ❜ ❬ ☞ ❴ ✐ ✐ ❴❣❵❘✇❽♥❅❛ ✦●❜ ⑨✈❶✸✵✄✂ ✗✵❶ ❛ ✝ ⑦ ✔★✭ ✟✢⑤ ✟✁⑥ ✙ ✟✘✮❝⑦✾✭ ✟✘✔★✧✳✩▲⑦✬✫❨✭✫⑦✯✿✜⑦✆✟✘✮ ✔★✮❡⑤ ☞✠✟❲①✾❀ ✢ ✭✯✭ ☞★✭ ▼ ✭ ☞✦✫❨❋✔✜⑥ ✔★✮❡⑤ ✟✁⑥❨⑤ ✟ ▼ ✔★✭ ✔★✧✽✧ ⑦✾✧❛✬✟⑤❣✿✯✮❁✭❙⑤⑥①✾❈✶✮❝⑦✦❖ ▼ ✭ ☞❥⑤◆⑦✯✿✦✿❙⑤ ✟✩⑥✳➁ ✢✚❻ ✫❨✧ ☞❪⑤✽✮ ✔★✮❡⑤ ☞✠✟ ⑤ ✟➃✮◗✥✡⑦ ④✝⑤⑥⑤✾✭ ☞❇✿✯✮❁✭✯❈✘⑤✾✮❁❈✶✭✗⑦ ☞❃❂ ✙ ☞✫⑥ ✟✢⑤✽✮❡⑤ ☞✠✟ ❛✛ ✂ ✚ ❜❙❪✸❬❥♥✸♥❅❛❨❼❸❵❘✇⑦❿✣❪✸❴❣❝✶➆✖❬✖❛ ✛❢➊ ❜
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